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2
Mpy= +(%2) = +(2 (30)2/12 = +150.0 kN-m

WL 2 _
Me,= -(?) =-2 (30)?/12 = -150.0 kN-m

2
M= +(WTL2L) = +(2 (20)2/12 = +67.0 kN-m

wL.?

Meg= (%) =-(2(20)2/12 = -67.0 kN-m

162 a0 s A siiase (5 AT (5 2 3 ol iSdin aglu o

M= +150.0+ = (0,) +2(0;)
M,=-150.0 + % (eA)+2—’f)’(eB)
Me+67+ o0 |
M=-67+ = (8)+7 (Oc)

S EUR L EPOR R O RCPg - PPWRRENS T A KV T
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M1= 0

M,+M;= 0

M4= 0

30

2EI

4EI
20

(0c)+

4EI

2EI B
S(05)+ T (6,4)=-150.0

10E1

S0 (Oa)+——(B)+= - (0)=83

2EI
20

o dda o)l sia 53 A B, C o

2EI -

(0g) =67

162 dsw Y Gy 45sis ) (O, B8, Oc) 31D s iy U S da (alae (s 3 b (o 4IS

_________________________________

' EI(64) =-1375.00

EI04) = +500.00

Bl (6)=+83.33

sl A Ay oy a 5 aslaa g it Bl 3 (2 4

Aisiiage sAl SR i S G 4 A (S hlacay gigiiese d 43585 )l wol ) (0a, OB, OC)) 2

G..n\q:u
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M,= +150.0 + E 0g)+ ﬂ (6,) = 150 +0.067 (500) -0.133(1375) =0

M,=-150.0+ 7 (05)+ == (0,) = -150.0+2/30 (500) +2/30 (-1375) = -242

M= +67 + @ (0c)+ ( 5) = 67 +2/20 (83.33) +4/20 (500) = 242

M,= -67 + 4—E’(e )+ 25 (0g)= -67 +4/20 (83) + 2/20 (500) =0

o die 5l (hlae o)) 50 (S5 h Gila a4y 8l sl ) gl 550 s o)l e

M]_: 0
M2+ M3 = 0
M4= 0

JUa a2 52 6.9

> e 3 dalat an 520 (o> syl s S dee 351 5 S0 g o) 9 s eilins o ABCD 4
s S ol ik 4 il

10m24k|N6m
T L e
P © Nsi L5B N A

ABCD sz 6.19 _sal
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.4 3 2 1
aw A .
4isi5i sigia ABCD an 6.20 il

Wy =2 kN/m

EETFRERETY R

ny=

W; = 0.9 kN/m

jﬂl

(Free body diagram) _sa) a1 s 0 2 an 3

(Free body diagram) al 512 sigi 2 a ABCD 2 6.21 Lsad

2)(6)(6/2) =36 kN-m

36 kN-m

(== =

Aigds Sighlad any 6,22 s

' Js9 sy Fixed End Moments ) 45 siia ga 3l 3uSd g0 pe o

24(6)(10) #

252) - (09)(16) /(12) = -76.0 kN-m

Mg, = -(

24(10)6%

M=+ +(0.9)(16)°/12 = +53.0 kN-m
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(2)24 %
12

M=

F3

) =-96 kN-m

(2) 24>

M= +(-———) =96.0kN-m

16 Js9 Y 4y diglia e 5 AT (548 3 Aedd Shlas (6-14, 6-15) 2 iS5 (Bl o

M, =- 76+ 2EC0 (0) + ZE(Z” (0,)=-76 + 0.25(El) 0,

M= +53 + ZE(Z’) (0)+ =22 (0,)=53+05E10,

M,= 96+ =2 (0, ) + 2202 (0,) =-96 +0.83E1 0,+0.42 E1 0,
M,=96.0+2Z00 (0 )+ 22 (0 ) =+96.0 +0.42 E10,+0.83 EI O

pAd e Gl Ghlae gl @lla 01550 (S Qe a4y 5l 4l (Olhe siginla g a4l o

M,+M,=0
M,-36=0
Sl 4 S oS au L rs s L (M, M, My, M) 458 50 J 5 a2

LS R B Hd
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M2 +M3= 0

53 +0.5El 0, -96 +0.83EI 0, +0.42E1 §_ =0

1.33E10,+0.42 E10_ =43 oo (a)

M,-36=0

+96.0 +0.42 E10 _+0.83 E1 0 .-36 =0

60+0.42ElI0,+0.83E10.=0

0.42E16,+0.83 E1 6 =-60 b

SR A5 o 5SS da s (0,60 ) ) 0N 2 asla Lis s34 (@, b) e o2 10
S oo Y

EIO. =+65kN-m’

B

EIO. =-105kN-m"’

C

5223 A 5 5S CBA 4 la (S shbeady G 5 (She 2450 (EIO, EIO ) 43sia )l 1
D55y 4 e g
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M,=-76 +0.25(65) =—60 kN-m

M.= 53+ 0.5 (65) =86 kN-m

2

M,=-96 +0.83(65)+0.42 (-105) = -86 kN-m

M,=+96.0 +0.42 (65)+0.83 (-105) = 36 kN-m

Juigm 01 9l Jaai 2 6.10

RPPRY PR EPORICA PN E SRR JECRT IR - NP PP JEQe

M,+M;z;= 0

M,-36= O
86-86 =0
M, =36
Jie m 6.11

SN 5 sl ssildng ¢ el Jas (S Hsad A 24y ABCD aneolul s 5
LaiaS i (S 5y Wl a8 didad o4l jla 4y G8S08 5 GBhed ¢ 5 S dae sl ) 94

w B e 5w
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A S e 4y (ulas

1.0 kN/m /% 20kN X{
V VVVYYVY VV VY Onl T ¥T-.

— B 1 A \ = Ay =
A eV gB By ¢ b
P 10m om 5m 10m

&
<

7K N

GBS Jes a9 a8l sS40 gl gedldng > ABCD an 6.23 sl

s aSsi )4 C 5l B cula Wl i g5 5l (Fixed ) s s Dyl A cils

S O (S

Judns b (S (node) 25 L crila o 4y (Jugli 5l &S ja (881 L (sasee) JaS 4lay o S8
Degree of ) 43 3l 2 il jon 3 g2 4alidy 48 S agldn (g9 Juifnai |
G20 (> e sl 6 (08,0 ¢) A4S lln (5 08 JuiSn A o9 an b 5.8 b (Freedom
03093 4 ) (53l ) 2 an

rlaa (1A 2

A a3 558 b e m dilaS 4y gl 3 001553 (05,0 0) 455 (558 33w 43 i sls 3
1SS Jasa S Y s al Syl

Mag g‘

W= 1.0 kN/m
YYYYY VY v

A

.

1
MBA

MBA

&
B |
: MBC
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Mcs
CA




Mcp

QT C BD
e @% Do

(Free body diagram of joints) alsla 3\ Jisigia 2 5} A ABCD an 6.24 Ui

4 G sisiese A o sd g 10 (S )R Gy ¢ paaslee b)) s se Al
“ @bﬁwh\6%‘oagsoj\jﬁédl.;@:h\g\d_})SUAJQQQLQP\J&JJ\LSJJ}%

BAS ool alls

B —us» Mga+Mpc =0

e (ST 3 (a2

ool sistiese sigiula Al a 5 S lay alal Al ol e 0 Al giese R i giila 0 Al J
4 g S Cirilan il digiila digiiase GoAl s S L SC B a4 dy Jwa

S0 AS iy S8 s g n (2

1.0 kN/m
FEM 2N EEMes FEMgp FEMpe
¥ vyVVYYV VY wr-l( c-_BC l -~ »—~ .-~~~ -~ N
AN - ___- A o N 7
FEMag ‘é’_’%*B | 5m ﬂ-c 10m <
B 10m  FEMg, |, 5m | "
Y < ’I‘ 7

sl e ABCD a» 6.25 s
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(Fixed End Moments)<ric ga 3l JuSad - g g3l 3

il N s s 5 s

A/\N: 1.0 kl\l/}A /ZOKN \A
!
QL ZIIREN Ei Deeue,  renl = rev,

" | |
FEM,g
T EE O
G /
FEMcp =0 FEMy =0
G Q5 3 P A g 4y
A giia sa 2 S 351 sigs 2 ABCD ay 6.26 Lsal
2 2 _PL _ 20(10) _
FEMpg =0 =U0UD — 833N —m  FEMgc= ==~ =25kN—m
? 1.0)(10)*
FEMg, = % = ¢ )1(2 )~ _833kN-m FEMgg = -% =— —20;10) =—-25kN—-m
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e (aisdiy (Sa o

sl 45 ) (FEM) Griese (555 J f e 5 S oaiinl glalae 6-15 51 6-14  dSddy 5 (Sl o
LS sl

4EI 2EI 6EI

M= M +22(0,)+ 22 (0,) - 27 A (6-14)
2E1 4EI 6E1

My= M, +22(0,)+ == (0,) - 27 A (6-15)

Mpug= 8.33+=(0)+ = (0) -2 (0) === (05)+8.33 = 0.2 (05) + 8.33

Mga= -8.33+ 27 (0) + Z% (0) - 25 (0)=+ == (05) = 0.40EI (0 5)-8.33

Mgc= 25+ (05) + 25 (0¢) - 25 (0) =25+ (05) + = (0.¢) =25 +0.40EI (0 ) +0.20E1 ()

Mg= -25+%(93)+ % 6¢) -%(o)z ~25+0.20 EI (6 5 )+ 0.40EI (6 )

4E1 2E] 6E]
Mep= 0+ (0¢)+ =2 (0) - %5 (0) = 0+0.40EI (6)

Moc= 0+ (0¢)+ == (0) - °5 (0)=0+0.20 BI (0 ¢ )

e 031850 a9

B —us Mgat+Mgc =0

Cobsy Mgg+Mcgp =0
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Mga + Mge = 0.40El (0 ) -8.33 + 25 +0.40EI (0 5 ) +0.20EI (0 () =0

Mcg + Map = -25 + 0.20 El (0, )+ 0.40EI ( ) + 0.40EI (0 . ) =0

0.20 EI (84 )+ 0.80EI (0 ) =25

Al e 2 5 S da (a2 ) Oc 3 0B 250 OS2 dnglaa Lo gy (Jdlaa (590 10
0d Gl

EI6, =-30.56 kN-m?

EIO, = 38.89 kN-m’

pa G e oAl o s S R4 KA (Sdilaady sigiese 3O 1 0p 2488

Mas | = |0.20EI6g +8.33 = | 2.218
Mga | = |0.40EI0g -8.33 = | -20.554
Mgc | = | 25+ 0.40El6z +0.20EI0,| = | 20.554
Mcg | = | -25 + 0.20EI0g +0.40E10,| = | -15.556
Mcp | = | 0.40EI0 = | 15.556
Mpc | = | 0.20EI6. = | 7.778
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Mag =2.22

Q.

(5 S o5 (Aalae )50 Al 4l sia e (5 88 oy

Aigiiaga s Al 51 3 an

Mcp =15.56

Mga+Mgc | =] O
Mcg tMcp | =] O
W= 1.0 KN/m . ZOiN
‘¢ YV iv vy QMBA:zo.m Cr
. T W
Mac

MB(%Q

Mcg =15.56 g
W

WEQ%Q

C
V,

cD
Mcp

ol Sy sigila e db) MuSd guan o) 5igdsi 3 ABCD am 6.27 Usddl

j Mpc =7.78

Voc

TS a3 s gf A a3

DSl gl ol o Gelal s o) ey alb Glla Jalxi s an a4 e
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W= 1.0 kN/m

AARL R LI L P I

: 7
VBA

Vv
Vg (10) +2.22 -20.54 + 1.0 (10)(10/2)=0 *©

Mag =2.22

Mg =0 +_§ g

' Vg =3.20 T !
T ' =F, =0
| Vga= 1.0 (10)-3.2 =6.8kN |
Mg =20.54 20N
M =0 Jij e ! Mcg =15.56
g B c“)
Ve (10) +20.54 -15.56 + 20 (5) =0
Viac Ves
Vs =10.50 kN |
F, =0
Ve =20 -10.5 = 9.5 kN 1
(oD
lc D I
VCD VDC
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M, =0+

“Vp (10) +23.34=0

Vep = 2.33kN T

Vpe = -2.33 kN l

TS g ) $ s LSS 3 A

B
MBAC u ) Mgc
S
B

y

B, =6.8+0.5=16.3kN !

ecle o
Te,

C, =2.33+10.5 = 12.83 kN T
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Mpc =2.22 kN-m 1.0 kN/m 20 kN

vYvYvy vy by ! Mo =7 78N
g A B AN D
1 10 m ;i% sSm . 5m ? 10m j

a T A, =2.33 kN
A, =3.2 kN B, =16.3 kN C,=12.83 kN !

pl Sl gldsy, oSl ABCD an 6.28 _sadl

140 sel Sk e e ) e a2

Mpc =2.22 kN-m 1.0 kKN/m 20 kN
C VYV Y Yy vy ! Msg =7.78 kKN-m
A A B WF\ C D j
* 10m Ji ~ 5m 5m i 10m |
) A, =2.33 kN
Ay =3.2 kN By =16.3 kN Cy =12.83 kN v
9.5.0 kN
3.2 kN
\ C 2.33 kN
B Lo
Ao 2.53m | ?
-10.5 kN :ebSQJ i add 3
-6.8 kKN
26.96 KN m
2.70kNm
/_\ 7.78kNm
A 3 C b
-2.22kN'm 1pl Sl Cuilaga a2
115.56 kN m
20.54 kN m

Adigal S Gulaga gl pdia ABCD and 6.29 LS
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Jhe asld 6.12

psS S 5 4 6 S s 2 sl S Cuia e ) pda ) lay 4853350 ) ABCD a0
RESPES RS B RER AL

W=2 kN/m
20 kNl i A Yy V ¢ vVVY VL JV JVA
D N _C Bo)
ST 4m-;9;¥, 15m -;;W 5m

38l S a0 ) ssdling ABCD an 6.30 Lsall

(Fixed End Moments) 4 site s a3l 1S 555 Gaila

i A5 A etk s A
/ T AﬁZKN/m\
eves | 1171 11

C

lZOkN 2 g
g D C" “ FEMgp B

2 FEMgc

2 2 2
FEMpc=- 22 = — 2% = _192kN —m  FEMcp=--; = —2(15)/12 = —37.5kN —m
wiL? 2(15)*

2 2 L . _
FEMcp =+ 242 = + 2204 = 1288 kN —m  FEMac =+ = +70% = +37.5kN —m
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FEMg, = -W(L)(L/2) = -2(5)(5/2) = -25 kN-m

FEMg, =- (2)(5)(5/2) = -25 kN-m

e GASIE 3 (dla 3

451350 (FEM) e e 33 38 35) 5 S oddiul sl las 6-15 5l 6-14 85 (e
sS sl asla

2 (00)=-19.2+%7 (0) + 2= (0)=-19.2+0.2 El 6

Mpc= MFDC+ (9 o) +
Mco= Mecp+ - (6¢) + @(e ) =28.8++7(0c)+ E (0) =28.8 +0.40E1 0

Meg= MFCB+4TEI 0¢) +T (04)=-37.5 +M 0,) +M (04) =-37.5 +0.8EI 0 .+ 0.4E1 0 4

Mec= Mege+ 220 (0.0) + 22 (05) =375+ 2'5(3’)( 0c)+ 4E(3’) (0 5) =37.5 +0.4E1 O .+0.80EI 0 5
taalea Jalad o Qe o
C s> Mcp +Mcg =0 ()
B cisss  Mge -25=0 (b)

28.8 +0.40E1 0 . -37.5 + 0.8EI 0 .+ 0.4E1 06, =0

-8.7+1.2E10 . +0.4E10, =0 (a)
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37.5 +0.4E1 0, +0.80E1 0 = 25

12.5 +0.4E1 6 +0.80EI 6 , =0 (b)

58Sy o diaiag shlas g3 syl B, 0c 4aselion b sla o

EIO, =-23.65 (c)

12.5 +0.4E1 6 +0.80 (-23.65) =0

E16 = 15.0 (d)

1S lap 4 giia e (5 AT (A n o8 2 an dadauly 4y bl d slC 2

rAdgilaga g AT 518 3 a0

Mpc= -19.2 +0.2 E1 0, =-19.2 +0.2(15) =-16 kN-m
Mcp= 28.8 +0.40E1 0 = 28.8 +0.4 (15 ) = 34.8 KN-m

Mcg= -37.5 + 0.8EI 0 .+ 0.4E1 0 5 = -37.5 +0.8(15)+0.4(-23.65) = -35 kN-m
Mgc= 37.5 +0.4E1 0 . +0.80El 05 = 37.5+0.41(15) +0.8 (-23.65) = 25 kN-m
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1a) S Glaga o) i a2

20 kN W=2 kN/m
VVVVY VY A
D /N _C B A A
6m | 4m ) 15 m " 5m
< > o >
15.7kN 10kN sal Sl g PR

Déw C\ B,\ A

21kNm 26 kN'm

ral S Culaga ans 2

16 KN m

-35kKN'm

al S Gulaga g} i ABCD ax 2 6.31 Lsadl
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I¥C 2E'9 0 gy gyt (e oD

sl
" = * 5 4 le . o ™t »
| b3z)rm= by ] -y on e ! ._!..
- le_’.IYf i\\.\%
+ 1 o 1 -
(13%e)iz1d= v
! _- 3 ._. a L ._-.l._t.._ - r_ a

¥ 5 .._ vk . L v
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=
n
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| € g (it ooy s T SKES) o RS Koo

¥ o(s(9 e (peoT iod)
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SOSSS) Ay gaik gigdi 53 (gl (i

(Stiffness Coefficients Derivation: Fixed-End Support )

-
b% ~ ~ e a
L N
|‘ i
M, + M, o o) M.+ M,
I L

A, =M,L/(2El)

| |

0p A, =M, L/(2EI)

p CuS gdls

JoS Iy Giaja bl duSd AB an 6.33 s

IM=0  -GE)(3) + (G5 )(5) =0

2EI
M,=2M, ............. (@)
— M, L ML, _
ZFy_O Gb _ (ZEI ) + (ZEI) =0  crerreeeeeees (b)
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1S Js9 Y Ciese 343515351 (D) ) (8) ol Al

Ma = (5 )04
Mp = ()05

Jha a3 6.14

Ayl 4y SIS 3 e dan b (2 gl o) S Al s agee o P03y s ABC 4
58S Julas

Rt
h
O

c /N B
L,/2 i

L

1

N & A
7K 7

A

Jha an 6.34 LA

S5 dass a e pESIE 5 (Ble 3 5 AdsTie ge 2l 2uSGh

qL/12
FL/8 qL2/12

2 q
E:) EHHLHilE’()

FL/8
)

<« T
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M= Meag + % (0,) + % (05) =—ql,?/12 +%0) + % (0g)
El 2EI El 2E

4E1 2EI

4E 2E(1
Mcp= Mecg +——(04) +— (85)= ':1|-1/8+7(g‘(0)"'J

. = (0,)

2EI 4E] 2E(1 4E(I
Myc= Megct 25 (0) + 220 (0,) =-F1L1/8+7”/('0)+ @D 0,

Ll
Megc Cﬁ? Mga Glls 358 0 Gl o
=

ZMs=0 Mgy +Mpc =0 .58l O dla o)l sal

Mgc= -F;L,/8 + —4i(1) (0s)
1

4EI
Mga= aL,?/12+-— (65)
2

S8 B 4 A S (MM M M) 4 ead)) 0

4E1 2EI
M= _qL22/12 + ﬁ/(:)) + T2 (05)

4EI 2E]
MBA= +C]|_22/12 + E (9 B ) +?2/;O)

4E(1)/ 2E(1
Mcg= F;L,/8 + ( (0) +_L() (0g)

Mye= = -F,L,/8 + 2/E[i”ﬂ(o) + 20 9

Ly
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S5

By L, A]A

q | y

A S N 5 S

y

Aigilage 38 g9 S aw 6.35 _sadl

Jha apd 6.15

Frames with no side-) ¢t Jassan LS )n S alin Hlaa b od o 4 )8
(sway

Ak 4y gl 62 Sy AAR i aS ald (bending) s dh 3 Gl pt s ) s (S g B4y
(o S A 45 )l S L (o 4l gay 58 2laaT g0 0 pu (5 S 623 S JA e adb 4l (S

S48l Lo P L) A s b S b dley 2 dsa A ) dsnas
A,y ol el 4 sisen d didad s i Jea 52 2. s (Symmetrical) 4halea (o (s e s
(Ssuiad s e

a4l yh 4y piSd8y 5 e 3 ilad a8 (g3 dn g )t 60 Jagl md o (S )RS Y oy
s5Se) 2al b Quiese OB Jaa A H I S L s md s S
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5m 5m 5m

10m
El
D
y BTN
Qe mp 6.36 Usadl
rAdgilaga s 9l J 5 g ¥ 2
PL 2010
FEMBA =5 = T3 = —25kN —m

FEMyg = 22 = +2209 — o5 kN —m

FEMBD =0 MBC = 50kN—m

FEMpg = 0

PR AT PIERAN E IR, TP RK!

4 A A 5is ) (FEM) Grie se 308G 5 S aaliinl  6-15 ) 6-14 5 2 bae (83808 5 Daa o

S sla
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Mpg= MFDB+%(6D) E (0g) = 0+£(0) E (0g)=0.2EI0g

Mao= Mgp + %~ (B) + @(e ) =0+ (05) + @ (0) =0.40E1 0,

4EI

MBA=MFBA+T(GB) EL (0 )= 25+”‘E(’) (0g)+22 (0)=-25+0.4E1 05

4FE1 4E(1 2E(1
Mag= Miag + 200 (0,) + 0 (0) =25+§(0)+§ (05) =25 +0.20E1 0,

Al Jalad o Qe o

B sy Mgp + Mga+ Mgc=0

0.40El 0 4-25 + 0.4E1 0 5 +50 =0

0.40El 0 5-25 + 0.4E1 0  +50
0.80 El 04 +25 =0

1l
o

_______________________

Mpg= 0.2 EI 0 5 = -6.25 kN-m
Mgp= 0.40E1 0 = -12.5 kN-m

Mga= -25 + 0.4El 05 =-37.5 kN-m

Mag= 25 +0.20El 05=-17.5 kN-m
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A giiaga g AT g2 8 3 s

20 kN

F=.....

Rg = Vga

Rag =-Va

Vea = Rg = 1/Lgp (20x10/2=Mga—Mpp ) = 1/10(100+37.5-21.25)=11.625 kNm

Vag = 20-11.625=8.375kNm

I:BD
VBD — MBD =-12.5

Vep = - Rg = 1/Lgp ( Mgp +Mpg) = 1/10(12.5+6.25) = 1.875 kN

VDB = RB = 1/LBD ('MDB 'MBD) =-1.875 kN —»

VDB
h
UFBD 1.875
MDB =-6.26
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MDB= 0.2 ElIO g = -6.25 MBA= -25 + 0.4€E| GB =-37.5

Mgp=0.40El 5 =-12.5 Mug= 25 +0.10El 65=21.25

B ciisa Mpgp + Mgy +Mgc=0

Mac=50 DMBA_
C -\IJ-M ¢

T

-125 -37.5+50=0

Mgc=50
Mg =21.25
/ {BA =375 /IAB
[ ~ yA—
C B

Mpg =6.25

Al Gulaga ay 6,37 LA

431
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Jhaayl 6.16

4 OISy 9 (She 2 il s B 04 58 658 Jas ABCD mif S s i sy
.(No Side-Sway) st Judsa a3 ) (S L &% md 5 ST oalad )k

20 KN/m
% |
B El C
10m
— El =
- é . D

— HAERE 5m £ s R

D 7

Jhamd 6.38 LAl

143 gile g Syl SuuSd

Fixed End Moment:

FEM 5g= FEM g,=0

FEM gc=-(5x20 x 52)/96 = - 26.04 kNm
FEM 5= (5 %20 x 52)/96 = 26.04 kNm

FEM cp= FEM pc =0
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g 3 e QSR 3 (e

M ag= (2EI/10) [0 +05-0] (64 =0)

_____________________________

_____________________________

M cg= 2E(I/5) [ 20 +0g -0] +26.04

TR PPS PRI

Joint B:
Mpgat Mge =0
0. 40EI0g + 0.8 EI0g +0.40EI0c - 26.04 = 0.
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Joint C:
Mcp+ Mg =0
0.40El0 + 0.8El0 +0.40El0g + 26.04 = 0

T e whber st a b Jobess s ) Ssnlbesd Judy ey
El 0 = 3255

El 6. =-32.55 S sl 4 ela o e 4y 308 5 Dle 2 4dgi ) )
M xg= 6.51 KNm

M ga= 13.02 kNm

M ge= - 13.02 kNm

M cg= 13.02 kNm

M cp= - 13.02 kNm
M pe= - 6.51 kNm

0S8 S C B b4 als daleeg)lsia
Joint B:

Mga+ Mgc =0

13.02-13.02=0

Joint C:
Mcp+ Mg =0

-13.02+13.02=0

434



Jhe 31 6.17

4 OISy 0 (S il b 2 24n )8 658 Jass ABCDE s 2 (S sl ¥ 4
o) (2 ol Sl Guiese s ) (side sway) Jus a5 8 GS L ok w85 S | al 4dy )k
REBS

200 KN o 200kN

SAJBA a2 dhamp 6.39 sl

PR E PR NTRC TR

_2EI B

M, = T(zaﬁl + 6p — 3yup) + FEM 5

2E]
Mg, = T(ZHH +60,—3 WAR} + FEMp,

cesS iy 510 asl)
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YaB = VYcp = Vi Or =0p=yac=0

2
FEMge = - 22202 _ _576 knm

(20)?
2
FEM g = -220@)U2) _ 504k Nm

(20)?

Mc =200 (5) = 1000 kNm

Mg = %QBA + ? O - L yps + FEMAB =(2/15)(05) - (6/15) (EDv

4E1 2 6EI 4 6
Maa= == 0g + 22 0n - oy +FERe=GH)EI0s — G2y

Mec= “0g + 2 Oc- *-Ghe + FEMAB =(-) (B)(41)0g + (220)(E)(4I)6c — 576
Mcg = 47’5’ 0c + % O~ L ypp + FEMAB =(-) (E)(41)6c + (2/20)(E)(41)65 + 384
6EI

4EI
Mcp = Tec' %\VCD + FEMAB =(ﬁ) (E)(I)ec 15 (U

2E1
Moc =~ 0c- - yip + FEMAB =(2) ®N6c- v
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100 kN 100 kN

50 kN B C l
E
< Rxg <_J Rxc
Mcp
RXB RXC
A D

Mpc

AB ?4—
Al o ) A B3 6,40 LAl
D e b AlS Al gl dgode gaas i (OIS B Gl

Joint B
M B = 0
Mga + Mpc =0

(4EV15)05 — (BEV15) y; +(16EN20) 05 +(8EV20) 0c -576 = 0
0.267E105 - 0.40 El v, +(0.8El) 65 +(0.40El) 6 -576 =0
1.06EI 05 +(0.40El) 0 - 0.40 El y; -576 =0 @)

D65 e Al sighe s dgiddc seaa o)) 8 C oGailad
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Joint C
M c= 0
MCB + MCD —1000 =0
1000

MCB
C
~Mcp

0.8EI0c + 0.40 Elfg + 384 +0.26E10. — 0.4Ehy; -1000= 0
0.40El 65 +1.067EI0c - 0.40Ehy,; =616 (b)

tlee Gl o pedia

o e a1 a4 Jalasd owlssd CD ) BA (i

(2EV/15) 0g - (6/15E) y,+ (4/15)(El) 05 —(6/15)(El) w1 +A/15)(El) Oc
— (6/15)(E) 1+ (2/15)(El ¢ )- (6/15 EI) y; = 750
0.40EI 05 +0.133EI ¢ - 1.6Ehy, =750 (¢)

:)}Sd;djdwdjdgﬁédmdjdgdﬁy Ja

1.06E1 0 +(0.40El) 0 - 0.40 El , = 576 (a)
0.40El 6, +1.067EI0, - 0.40Ely, =616 (b)
0.40EI 6, +0.133E1 6, - 1.6Ely, =750 (c)
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52 s 1Y 5y deala slla (C) 5 (D) (@) llae

E0, = 274.79
El6, = 334.76
Ely, = -372.22

(xS My Ai e e AT a8 5l 58 (L (S hlae g ST 5 (Dhae 3 i)

M,g = 185.53kNm Mga = 222.17kNm
Mg = -222.26kNm Mcg =761.72 kNm
Mcp = 238.16 kNm Mpc = 193.52 kNm

185.53

al Sl Chia e ay 8 2

e‘ﬂ\aq&yh\gg\gﬁuﬁ)ﬂé 6.41 s
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Jus ¢ 6.18

Ohe 2 g ed sl 9 IS s ol ssdllng m ) (sl dasd am (S A Y Gy

W =10 kN/m

35S daan ikl 4 A1

20 kN

EETTRTETEEETRE

C

oL

&

20m

=
Eoel

20m

Jua sladsd dan 6,42 s
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RPN NS PLRPL R R L EPR RN IR b R NS

4EI 2EI 6EI
M 5= MFAB+T(6A)+ - (GB)'FA (6—-14)
2EI 4EI 6EI
Mgp= MFBA+T(9A)+ 7 (95)'?A (6-15)
A_
L =y
2EI
M pp= T(ZGA + 0, -3y) +FEM,, (6—14a)
2EI

555 B pa (ol (ol (e gee 1

( M= 2ElL (26, +6; -3y)+ FEM,)  (6-16)

2 (node) 5 1sa Lo e s fol (node) ssiseminf g an S Sl 2y

S5 aSig gy 1Y 50 (S sioom 50 A6 6 Gl ol el (Dalee (e sae g2
(S sl ) (S 5 S sl s e 24kl saaa 4l 51 3 (S (fixed)

S b 4 Giiese b (hinge or pin) B (b i 4900 L) gd 051 5 g2 3 (o2 4K
s S B4 s 1o ol e 5l 5 sha b

e (Dl e see i) 3y G Ha AL a4l Qe ge ol 50 (1 (C) 5 (A) Culs (S an sy

Mg = 0= 2EI/L (20, +0g -3y) + FEMs
Mga= 2EI/L (0, + 205 -3y) + FEMg,
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ERTANER WO RGN Oa 2 salaa 5 la sl

0 3 L
0a= -2 + G)v —5 (FEMu)
3EI FEM,,
Mga = A (0 - )+ (FEMg, - >

Mag=0

oo Bl aa uly (Jalas agee Ia

2EI FEM,,
Ivlrh:T (er'\lf)"'(FEMrh' 2 )

Mhr: 0

25 b dis g 2 hsl s (rigid node) sl pawrh e ar SN Sadalw o
.2 (hinge or pin) & L == > (node)

L A8l ol (rotation) g A b mie b o

Gh: '% 3

L
+ G)v —o (FEMy)

A 0 he 4xa o) (S s s N Asene 60 (A Sre su s N G A
O, 08, Oc

Al 53 & le(Fixed End Moments) 4 siia ge 3l 3uSad an (g2 2
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W)~ 4(10 (20)/12 = +333.33 kN
AB_+ 12)_+( ( )/ =+ . -m

FEM,,= -(—2-) =-10 (20)°/12 = -333.33 kN-m

FEM, = (‘”fz ) + (%) = +(10 (20)°/12 +(20 (20)/8 = +383.33 kN-m

Z
FEMg= -(“2-) () =-(10 (20)°/12 -(20 (20)/8 = -383.33 kN-m
SRS il asee 53l
3E| FEM,,
M= (0, - y) + (FEMy, -~ 0)  (6-16)
|\/Ihr= 0
3El FEM
Mga= T (0g - 0) + (FEMga - 2 AS
3E| (333 33) _
Mga = == (85) + ((-333.33) - = 0.15EI 05 -500
Mgc = 2= ) +((383.33) - E520 = 0.30£105 +575
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S el dald Gl o

(=)™
Mga +Mpc =0
35S b (S Aibae (g 43585 ) )l Griesa o
0.15E1 0, -500 + 0.30E10, +575 =0

0.15E10, + 0.30EI0,+ 75 =0

0.45EI0, =- 166.67

EI0, =-166.67 kN-m"

69 S Ay oAl e pp e S el Alls 4y an
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20 kN
W =10 kN/m

TR ETETIER YRR
;7_ () B @ N
20 m e 20 m N

20 kN
126.27 136,25

W =10 kN/m Mga W = 10 kN/m

L) (1 B")MBCCHH TR

20 m 20m

Re
262.52

Jha an236.43 LA

ZM@BZO

RAY (20)+MBA —(10 x20 X20/2) =0
Ray = (2000-Mgp)/20 =2000-525.5
RAY =73.73 kN

ZFY=0

RBY =(10 XZO) -73.73
Rey = 126.27 kN
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EM@C:O

Reys (20)- Mgc -(10 x20 x20/2) -20 x 10=0
Rey, = ( 525+ 2000 + 200)/20
RBYZ = 136.25 kN

EFY:O

Rey =(10 X20 +20) -136.25
Rey = 83.75 kN

4 5e) Sl Qe e ) pdan o

136.25
73.73

' 83.75

525.5

Pl Gulaga gl pdian 6. 44 LA
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10 Jue 6.19

A OaSdE 3 e 2 4did e 8 523 4n )5 L5 9d J39 ABCDE af s (S Lol g (60
@Y Gila (€ s )l (side sway) Jad a8 5 S L (8 w9 S ) alad )b
SOl (5 G sa

g ahga(Pin) ¢ wlisa

10 m

A Gl s AmA 645 LA
fehlas e gee (SdE (Dl

2E7
M= T(ZHA + 6 — 3yup) + FEM

2EI
My, = 7(29# +6,-3 Wm) + FEMy,

555 B pa (ol ol (e gae 1

( Mnr= 2EI/L (200 +6f -3y) + FEMny)
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2 (node) 25 g3t Lo g fo(node)ssispinf e on KN Sl oy

AS 55 A Ay oy iy 50 S S R4 G e > 6 MGl o) Gl (alee (asee s
(S35 G Gl )50 (S BG4 dasli b a5 Al a5 g5 J g (fixed)

Sy Db b (S mha sh Giese 55 (hinge) i 4 Foxid Ll sd o g 2 3 (2 4K
ey S B4 b Al il

B (oo (ol casee bl 53 (25 e Al 4 Giiege 5l (50 (0 (C) Sl S b sy
e

Mg = 2EI/L (205 +0, -3y) + FEMg

Mcg = 0 = 2EI/L (65 + 26 -3y) + FEM,
A0 (6 sl i)l 02 dalas 5yl sa Al
= _% 3 L
O¢ > + (2)‘1/ 2E1 (FEMgc)

_2F]

FEM,,
Mgc = T (0g -y)+ (FEMgc -

)
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A sy (o (e pagee Gl gy (S e Al Al Qg 53 0 (B) s

0 3 L
Og = '70 + (E)W _4_EI(FEMBC)

(> Aolae 2V 1 ) o Hn (S Ailas cagee 4 Sl )l O 2

2EI
Mcs = a (Oc - y)+ (FEMcg -

FEMpg,

)

Do Sy alilae Iy Gl gy a5 a5 s smaigilla s gl g

2EI FEM,
IVlrh: T ( er - \V) + (FEMrh'

)

I\/Ihr: 0

1A sTie 90 (5 9 J i a8 D

Aod Gy dislraldd paamna b o ) Aisiiese sl JSB Al 090 a8
AN

449



A Qs we> @A 6.46 L)

3] (S D Ciiage S

FEM,, = Pa’b/L”
FEM,, = -Pab’/L”
FEM, = (20)(3°)(7)/10° = 12.60 kN.m

FEM,, = - (20)(3)7°/10° = -29.4 kN.m

rada) Al A g2 3 a0 Chla e i) Sl

450



10 m 10 m

RDXZ

6EIA FEMDCZ = %: 0.03EIA

Iz - 0.06EIA

AX2

FEMgs = FEM,g =

43siiasa ) S Slak gy b8 B, 47 Al

FEMg, = FEM,g = 2 =(BEIA)/10” = 0.0.06EIA

3EIA
FEMpc, = == 0.03EIA

16 Gole s e a0 b G384 5 Bl 2

2EI
My = T(M‘A + 65 — 3wap) + FEM

2ET
Mg, = 7(26}; + 6, — 3y,p) + FEM,

—

451



L il S alas e gec 4l

M= 200 (0, - )+ (FEM,, -
M, = 0

MBC:$ (65 - 0) + (FEMgc - FEQACB )
Mc=0

Mg = %+ 22 05 - L ypg + FEMag = (22) 05— () s + 12.6 = 0.20E105 ~(0.6E1) iy + 12.60 ..... (1)

"0 + 2 0p - e +FEMg = (0.4EI05- (06E) yy— 294 ........... @)

Mga=
BA I

4 (o2 e ga ) 2S¢ gl O 5S Caie e gl 60 Gaila (2 ediR o 2 DC 5 BC s g 2
' Jse 80

Mgc =3E(I/L)[(8g) -0] +0 = (3EI/505 = 0.60EI0g......  ...... (3)

Mpe =3E(I/h)[2(0) —y ] +0 = -(3E1/10) ¥ = -0.30EI ¥ ...... (4)

e ey S B Gla 4 o)l ) s
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MBA‘;’I.
Mga +Mgc =0 (5)
P S g (B 4 ) sl w8 d s o
YF, =0: 20-Ruyq - Rpxy =0 (6)

Agiaga sladgd By 6. 48 sl
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BA alls a o)lsf
2Mg =0:
Rax1 (10) - (Mag1 +Mgas) -20(3) =0
Rax1 = (Mag; *Mga,)/10 +60/10

sl la Jalad ) 03198 CD als 2
3 M.=0
- Rpx1 (10) +(Mpcy) = 0
Rpx1= (Mpc1)/10

ke e e a e G 5 Dl d

Mg = 0.20E105 —(0.6EI)y, + 12.60 ..... (1)

Mga= (0.4E10g— (0.6EI) w1 — 29.4 ............ @)
Mgc = (0.6E1 05 =0.60El Og ... ... (3)
Mpc = -0.30EI ¥...... (4)

Mgs *Mgc =0 (5)

(0.4E104- (0.6El) y, - 29.4 + 0.60El 05 =0
1.0 EI0, - (0.6El) y, =29.4 (5)

1pd IS G S84y () s e il a8 J i
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EFX =0: 20-R‘eu(1 _RD)U =0 (6)

(Mpgy +Mga; /10 +(3 x20)/10+ ( (Mpey)/10 ) =20
(0.20E10g —(0.6EN, + (0.4EI05— (0.6El) vy, - 0.30El y, =157 (6)

(S I A5 0l sl ) 5 )00 o) 558 da (6) S (5) e w50 1o

E10g =—75.42
El v, =-174.7

Gie go 2 43530 )l Y 1o 5l 958 glA 4 A (S slabaa (4) 5 (1) shbae 4455885 sl 0

oY 4

Mas | = |0.20EI6g -0.6El y,+12.60| = | 102.336

Mga | = |0.40El0g -0.6El v 4-29.4 = | 45.252

Mgc | = | 0.60EI6g = | -45.252

Mpc | = | - 0.30Ely, = | 5241

v =A/L
Check:
Mga +Mgc = 0
0.6005-1.5y, =216.8 = 216.798
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mAe e 1]l JBe 6.20

S Csl B cila g aissl S o g csd Jagh (S sadl ail¥ (s34 a8 e 050 5
o5 (2l U Galasa gl 5 S ap AS siia se (5 AT a8 G Al sk 4y GSIL 9 (Sl y ssd L
s SN A G S L ) A m il g

6m 1
|
I_I_
F
Y S
o E\;
AL 2w Sases 6. 49 i)
03 Jgo 1Y (5043 (6.14, 6.15) lae (agee GG 5 a2
2ET n
My = T(ZHA + 65 — 3yap) + FEM

2ET
My, = 7(293 + 6, — 3y,p) + FEM,

—

162 Jsd Y 4y Mobae 8808 5 Dhae 2 s )l 5 e 8 2
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Mg = 2E(I/6)[0 + 0g -3 (A,/6)] +0 = 1/3 Elfg -1/6 El A,
Mg, = 2E(I/6)[205 + 0 -3 (A,/6)] +0 = 2/3 Elg -1/6 El A,

Mge = 2E(I7)[2 Og + Og -3 (0/7)] +0 = 4/7EI0g +2/7EI 0z

Meg = 2E(I/7)[2 Og + Og -3 (0/7)] +0 = 2/7EI0g +4/7EI O

Mee = 2E(U6)[0. + O -3 (A,/6)] +0 = 2/6EI0 -6/36EI A,

Mer = 2E(I6)[2 O + 0 -3 (A,/6)] +0 = 4/6E10; -6/36El A,

Mgc = 2E(I/B)[2 05 + O -3 (A,/6)] +0 = 4/6EI0; + 2/6EI0. -6/36EIA,

Mcg = 2E(I/6)[2 Oc + O -3 (A,/6)] +0 = 2/6E10, + 4/6EI0. -6/36EIA,
Mcp = 2E(II7)[2 O + 0p -3 (0/7)] +0 = 4/TEl0 + 2/7EI0,

Mpe= 2E(II7)[2 0, + Oc -3 (0/7)] +0 = 2/7EI0 + 4/TEI0,

Mpe= 2E(I/6)[2 0, + O -3 (A,/6)] +0 = 4/6E10, + 2/6EI0; - 6/36EIA,

Mep= 2E(I/6)[2 ¢ + 0p -3 (A,/6)] +0 = 2/6EI0, + 4/6EI0; - 6/36EIA,
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GAJNRA A amBolimoes 6. 50 s
SIS sl alae dalad 5l ) 580 Ay (248 e 8 (aS )l S Clla 4 s

S Gila g4 Al g)lsis

S B ciaqg dlagilss

~Mg at Joint B =0

Mg +Mge +Mge =0
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(s oplaala Alilae 2V 1 ) S Sl 4 LA (S slalea 4y () 582 4580 ) )l 5l sTie s

2 1 2 1 1 4 2
= El0g - - EI A+ Eldg + 0 - - ElA+ ~ Elgg + El 0=0
240E10 + 42E10. + 36El 0g -21E1 A, -21EIA, =0 (1)

OJSE ulsa

>Mg at Joint E =0
Mgr+Mgg +Mgp =0

2 1 2 4 1 2 1
ZEl0g - El A+ ZEl0g + ZEl 0 + Z Elfp + = El0g - - EIA, =0

36E10, + 42E10, + 240El 0 -21EI A, - 21E1A, =0 (2)

0315 C i 2

>M¢ at Joint C =0
Mcg+Mcp =0

1 2 1 4 2
42E10, + 156E10. + 36EI0, -21EIA, =0 (3)
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>Mp at Joint D =0

MDC+MDE :O O,}‘JS D g!9'\'.‘.'3\3 Q

ZEl0c +> El0, + = o + - 0 - = EIA, =0
36EI0. + 156E10, + 42E10g - 21EIA, =0 (4)

JOJS s e sn

30 kKN
D
c
HX- CB MCB Hx_ DE M
i | DE
FY—CB Fy_ DE

osias 2 lla 315 30 ) e

YXFy =0
30 - Hy.cg - Hxpe =0

460



:BC A

*Mc =0
Hycg (6) + (Mgc +Mcg) =0

H __(Mgc +Mcg)
X-CB — 6

Mg =0 :ED
Hyep (6) + (Mgp +Mpg) =0

_ (Mep +Mpe)

|_|X-ED - 6

1955 A 4 e (S shlaa 4y Sl 3455005 )l siese

30 + (MBc:MCB)+ (Mep :MDE) -0

180 + MBC +MCB + MED +MDE =0

461



180 + 2 El0g + 2 EI0 - — ElA, +-Elog +=El0 _<ElA,
1 2 1 2 1 1
3 EIGD + 3 EIOE " ElAZ +§E|9D +§ EIGE _gElAZZO

180 + = El0g +3El0g + £ El0 +> El0¢ +=El0p+ > Elop+ = El0g +=El0g - = ElA, =0

180 + El9g + ElO. + El0, + ElOg -2/3EIA, =0

3EI0, + 3EI6. +3 El6p + 3 El0g -2EIA, = -540 ........ (5)
fe ol Jalad o) ol y e ) 2

30 kN

TOEKM
IE

HX—AB

Mga
Fy.
T o VEF

Fv.ga Mg

GAJUAA A af Sy 6.51 LAl
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SF, =0
30 +70 - HX—AB - HX—FE =0

FY -BA FY -FE
HX- BA HX- FE
B E

&
| Mee

| Mga
Hy.ap €= Hy.re |
| MAB P I:Y-EF
Mer

FY-AB
SMg =0 SMe =0
Hyag (6) + (Mag +Mga) =0 Hyre (6) + (Mgr +Mgg) =0
Myg +M _ _ (Mge +Mgg)
Hyrg = - ( AB6 BA) Hee = -

fsS Caga 8l Ay o Jalad ) () s an 8 i o

100 + (MAB6+MBA)+(MEF6+MFE) -0

1 1 2 1 2 1 1 1
600 + 3 EIOB " El A1+§E|OB —gEl A1+ 3 E|9E e El A1+§ EIGE _g El A1:O
600 + ElOg + E0. -2/3E1 A, =0

3E10g + 3EI0g -2 El Ay =-1800 ..eeovvveeeeeeeeenen, (6)
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qP -8 NERIRPEORL SACPORPRRT DL PYE O

240EI0g + 42EI0. + 36El 0g -21E1 A, -21EIA, =0 (1)

36EI0 + 42E10, + 240EI 0 -21El A, - 21EIA, =0 )
42E10; + 156E10, + 36E10, -21EIA, =0 3)

36E10 + 156E10, + 42E10g - 21EIA, =0 (4)

3EI0g + 3EI0; +3 El0, + 3 El0 -2EIA, = -540 ........ (5)
3E10 + 3EI0 -2 El Ay = -1800 .....evveeeeeeeennn, (6)

TetaB TeataCTetaD TetaE A, A,

240 42 0 36 | -21 21 E10g 0
36 0 42 240 | -21 -21 E10c 0
42 156 36 0 0 21 EI0p = 0
0 36 156 42 0 -21 E10g 0
3 3 3 3 0 -2 EIA; -540
3 0 0 3 -2 0 EIA, -1800

ElOg = 173.92
EIOc = 72.27
EIOp = 72.27
EIOg = 173.92
EIA; = 1,421.75
EIA, = 1008.55
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EIA; = 1421.75
_1421.75
1= EI
1008.55
Ap = El

DA sk i) (A) shua Ao

2430.3 = 1421.75 +1008.55 _ A, + A,

1 Y 4 Al ge AT SR 5 9 S A 4 gla (S glilae 4y giiese 34 gin ) 1y (el
(s Jas (S Jsan 3 4y ol Limibud Jalat 3 d g

= JuA A o ph g2

EI EI
Caio§o Gpf @99 O (KN.m) i)yl Confe

M,s = 2/6E10, -6/36 EI A, -179 Mag
Mga = 2/3 EIO; -1/6 EI A, -121 Mg
Mg = 4/7E10, +2/7E1 6, 149 Mge
Mgg = 2/7EI0, +4/7E1 6, 149 Meg
M = 2/6E10; -6/36E1 A, -179 Mee
Mg = 4/6E10; -6/36EI A, -121 Mee
Mg = 4/6E10, + 2/6EI0. -6/36EIA, -28 Mac
Mg = 2/6E10, + 4/6EI0 -6/36EIA, 62 Mcg
Mg = 4/7E10. + 2/7E10, 62 Mo
Mpc= 2/7EI0. + 4/7E10, 62 Mpc
Mpe= 4/6E10, + 2/6E10; - 6/36EIA, -62 Mo
Mgp= 2/6EI0p + 4/6EI10 - 6/36EIA, 28 Mep
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O u 'l om sigia )l ssd oo Guidla 8 3¢y )68 (S shlea 4y ()1 55 2 Cina gl a0
.d)ﬁdﬁﬂédjd;dﬁy RS A RTED)

Check:
Joint B 0 (-121-28+149)
Joint E 0 (-121+149-28)
Joint C 0 (-62+62)
Joint D 0 (62-62)

-179 179

ebﬂ.;\aq.\.uy ag}bjg,g;gaﬁﬁﬁ.52 BE-S]
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(Rotational Stiffness) (Al sidw SSsul 7.6

Gl 2 ) g) gl (Ssn U (UNit) Cuis o> Pl dra A g G jle g S0l
GBS o s (i el s (a0 4y ((Radian)s s

Mg =(4EI)/L Mga =(2EI)/L
N - E
1 —f B
Jo-1 _— <
" ,/

s Sisugs 7.4 sad)
(Stiffness Factor) Jgisd M gidw 7.7

}‘LS}“.—!j}zé‘)Sh\}ﬁj‘@:é;‘ éa,ﬁ&aﬁgd‘f;d&ﬁeﬁgﬁda@ym\J:g_il\
K ZAENL 452 i 550 5 3 (S om0 55 3 b oL 2 0033l

Gogidoxfali b ol o S Al iaysljanly o (SediX AP 6 0 (D G i drd (O
. k:(3E|)/L d e J}AS\AGJ\)SMJGSJB&A:J

Lij ¢ Ll Suiage e ij 2 iy | K =()/Lj @2 Cobe (Jsisn jj e 2 dse (asee 4
.2 (stiffness) Jsisw ijs g 2 Kijsl sy

(Carry Over Factor) usisdsl 9245 ;80 J: 7.8

1/2 4 s> @ ke s (moment of inertia) L i) chie ge Cul a0l (5 & 3 H S8
(8 e S sy diase i mia bip el a5 2 3 s A4S Gaiege (g b Gl
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AL 521 1/2 (S G sa sy (NoN-prismatic) s s Wia (1) Ld il Cuie sa an (5 g 48 )
oS Gl e e a4 Qlil

(1/2) (s 43 52 s dwse (Carry Over) H5Sd 515345 5 di o 53 5y 4S5 (e sae 4y
) os s Adle i g o) Cile e g sl g

(Distribution Factor) usis& (ugs 7.9

das Sessbculaa ae be ce de s Gsddossmsd s S il sa¥ sy
L;ag\x\g@gt;\aj\‘Lgajjl@ga@.;mya_L;JSdAcée«gMc;my@)@gﬁ_@
SO EA OGN e s HlA 55505l O

P be 88 g3 <65 (Kea, Keb, Kec, Ked) & Alla gy M sidn 5 & 8 3 s aS

S

Hla B

EER-
d

S Gl Ay Glaga g 7.5 LAl

DF.y = Keo/(ZK) = oold ea e 2 58 g
DF, = Keyp/(EK) == o)l @b e 5 5556 s

DFo. = keo/(ZK) == e ec e 2 588 Ui

DFoy = Kog/(ZK) == o)l ed e 2 s Jus

.2 (stiffness) Jsidw g & 2 k ab
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Mea = kea 0

Meb = kebe
Mec = kec 0
I\/Ied = ked 0
M; = Kj; (6)

4 Gla 13 (3 Gl s oadd Cila (o S aaa (S e il g M Gl Goe s 4S
Usiese A (S8 » 4 sl i ) SOaS Alln 8 Gl o sl

SGula (bl G 5l G G sE Jass (S T.6 D 4 2 4S8 (Mea,Meb, Mec, Med)
R BEE N ENTEIPY

7
°Y

Gliga 3 ) Claa g 7.6 L)

103 e siiege 3 4e sane 55 S Alla )55 Qs (o 4lS

D
S ¢—
Mec :r). Mea
(r_Med
G A Cisa A a8 0 Gla dAdgiiasa g 3 Al
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»M,=0
Mea +Meb +Mec +Med +M =0 (a)

a2 ) e ya (S A Gy ol o ey o 6 (S8) sd J P Ead p e cilad
o Qs ey s glan (6 4T

0,=0,=0.=0, =0

298 1w (7-14, 7-15) e 4 (3sdin Qi ddigiia e g8 3 o sd s ¥ S

Mes=Mpa+ - (0) + %’/@E)-%&v =220,
M= - (0e)
Me= 2 (0c)
Meg= *(0)

A 5 Sl Gyl (Be) @ute 2 5l 5 S B 4 A (S (@) 4 (b) alae o 5 Y S Ll
A gl ge s gpillng s g 3 SR B 58 b (S (D) sabae 4y 43w dra o8 lan byl sl d s
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-K
M= 7y (M)
Kea+keb+kec+ked

M, = Ky (M)
€ Kea+keb+kec+ked

-K
ec”
Kea+keb+kec+ked

(M)

Med= _ Ky (M )

Kea+keb+kec+ked

23 538 5153 3 4e sane TK) (stiffness) iaw 528 3 Kea,Kab,Kec,Ked S shibae s

PN N g PRSP

Me-58 (M) ()

Jb (Distribution Factor (DF)) us8 slisso b (3 sam iens K/ZK (S 4dbaad 0
e 55 A A8 e gas 4 9e 5l L5 S

O5S sl

(—)\—)

M;=- DFij (M) (e)

2555 F A @bl 4 (M) Griese il 3 ) 58 (adla (1) Gails (o 4S e g1 () 4dilas
& Mij S (if) s 2 (1) o388 4 e e s 52l
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Guiege s odiling (ST e 2 (1) b4 o) o FA 4l 5 (M) Caie e 2uiliil) 3 (€) Guils
o (2 4edle Guinge il (63 i ) (Al g 4y 50 sl Gaiege il 1y 550 )
S0y Gea allis

4 sl (i gy siaad Caia a3 7.10

JUa J )

Y GUE (o S Jiad Ol s ) Giie ge 2 48y jha 4 ABC 5 Jasis iV 1o

F, =20kN Q =5kN/m
! Piiidiveiiady
O am 2oyB 3l) ;gi—,gA
L L, =10m S L,=15m

pn A g Fe 7.8 s

(stiffness) M siduw 5 £
Kij =(ly)/L;

Kga =(31)/15 =0.20 Kgc =( 1)/10 =0.11

) s g L o) o] e oLl Cuiega (S Adabaa B )4y
(Distribution Factor (DF)) s (iasa e 2

(ZK) S B cils 43 (st 508 3 40 sana

503



TKe = Ky +K,, = (0.2 +0.1)I =0.3|

e Gole S8 lien SB Ghila

DFga = kga/(ZKk) = Distribution factor for BA
DFBA:TBI:O.67 )}&m}BAﬁfd

DFgc = — =0.33 O5S8 (g BC e 2

o oA Al o kil ca WGy s ee g2 4 60 (fixed) w8 Gils b C s
6 AU Y Gole i b ) Aa

K

KCB —__"CB —

Z KCB oo

DFcg =

Sa o Al ) b Osid e diasS A 2 S e Jl)ybpe e b A Guils

.82 (zero)
_— KAB —_— KAB _—
DFag = YK,, K,+0 ria gn 3 LSS
NS NEEEEY
Gl [
FEMg, =- "2 [« L > FEMyg =+

C Pl
5 Pa’b
pab? ; FEMgc =+~

FEMCB =- ? <« L

Y

A

I:'
A
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(oS S i) QLS ax e ) slsa )8 i gdie e 2l Sl )

2 2
FEMsc = 2 = EEHY) < 1288

2 2
FEMcs = 22 = (ZOIO)A) _ 195

2 2
FEMg, =- 2% = OU19° _ g3 75

12 12
2 2
FEMpg =+ % = '7(5)?25) = +93.75

sd Jasa (S s s a4 ades G g o Gaiage 2l Litilad o Jaladi o

Fy =20kN Q =5kN/m

[ | Yy vvvveediy

| L,=10m U L,=15m

an A dy Lo 7.8 LA
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C B A Py 2 92 3
CB BC BA AB S 39 d Gf Cuinygx D
0.1 0.21 0.2l (K) o 3 o
0.33 0.67 1 (DF) 1S3 in 9 5
119.2 28.8 293.75 93.75 | (FEM) Ckego il JuuSid
unballance(28.8-93.5=-64.95) -93.75
21.43 43.52 JSo Lo gl
10.72 46.88 21.75
Lo
15.47 31.41 21.75 Sl o293
7.74 15.7
-10.88
L @1y
3.59 7.29 -15.7 Sl
1.8 -7.85
L“, 3
2.6 5.26 3.64 Sl sl
13 3.64
1.82 2.63
Lo
0.6 1.22 -2.63 S oy
0.3
11.32 0.64
Lo s
0.43 0.88 -0.64 Sl p
0.22 0.11 20.32 0.44
L sl
0.21 -0.44 Sebe ps
0.05
2.93 73.03 -73.03 0 $gikege Sy AS garm

1/2 . .95 B il ) 9 S adlial (-93.75 x 1) syl ool A cails aidsile J (1)
A BA 2 3R i s9S J 5 e ge 522
4 (+64.95 X 0.67 ) 5 &* (-93.75+28.8=-64.95 ) ciiase suilil (S B ciids 4

55 5 el i a8 4ilal BC 58 43 +64.95 X 0.33 5 BA ¢
Sds e sl oS s s et 4y A5 el (5 8 3 S J s e e 622 1/2
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A )53 S s Qi) siege 3 S ISl a4 (o 5S4l o gl al s Gl Gl s
35S O (o

Jlia ad 52 7.11

2 Clie )l an J58 3 Bl LS dalad a8y sl 4y (G s jiend Gilase 3w s 9d Jas ¥

10 kN 20 kN 10 kN

pr Ay L 7.9 s

Kij =(|”)/L” (St|ffn eSS) 53‘335""" (ﬁql’é R

Kag = Kge = Kep = (1)/10 = 0.11
Distribution Factor (DF)) _si%d sliig s s e 2
(ZK) S a4 Jsithn 5 8 2 4e sena

ZKA = KAB + O = KAB =01|
$Kg = Kge +Kga = (0.1 40.1)1 =0.21

ZKC = KCB +KCD = (0.52 +0.5)| =1.02|

ZKD: Kpc + 0 = o0
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DFga = kga/(ZK) = Distribution factor for BA

_ 0.1l _ _ 01l _
DFga = 5. = 0.50 DFgc = > =05
0.11
DFcp = 05 =05
0.11
DFpg = o3 = 1.0
DFpc = == =0.0

REPYIPPPRRTT JANTAR:

Gl

PL '
FEMga=-3 1< L/2 »< L/2 > FEMpg=+ %
L
PL
FEMps = —- = % =125
PL
FEMBA = ? = - 125
PL
FEMBC = ? = 25
PL
FEMcs = =- 25
PL
FEMCD = ? = 125
PL
FEMcp = 5 - 12.5
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63 a5t (S Jsa oY (oL Ll Jilat o dglee (s e e g 2

10 kN 20 kN 10 kN
I B A
DO ZggC O Zgx® 0 g
10 m J, 10 m A 10 m N
D C B A PP i 9 D
s
DC cD CB BC BA pp | ST
S
0.11 0.11 0.11 0.11 011 | (K) G 32
05| 0.5 0.5 0.5 1 2983 gli 9 DF 1
125 -25 25 125 12.5 Sl Lasd FEM 2
6.25 -6.25 -6.25 -12.5 Ckagagldy 9.3
6.25 (DIST) 3
PUTERRTUR®
326 | 3125 | -6.25 |-3.125 .
3.125 JSo L g (CO) 988 4
156| 1.56 | 1.6 1.56- |  3.125 DIST 5
0.78 0.78 0.78 1.56 0.78 co 6
Lo N
039 039 | 117 | a1 | 078 | e DIST 7
0.4 019 | -039 |~ -0.78 Co 8
SSolw 3
0.092] 0195 0195 | 0.29 0.29 0.78 DIST 9
0.19 0.09 0.39 0.14 co 10
l-‘u &
009 009 | 024 | 024 | 01a | e DIST 11
20.045 2012 0045 | -0.07“ - -0.12 Py co 12
0.06| 0.06 0.06 0.06 0.12 e DIST 13
0.03 0.03 2017 | -0.09 co 14
L A
0.07| 0.07 0.07 0.07 0.09 Sl g DIST 15
S1y de
3.982 | 20155 | -20.155 | 23.11 | -23.11 0 B 4502 16
Sgikade
3.98 0 0 0 Cigr 4 degaxo
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s (S JBe oY sy sl 5l fesm s SATA Y ol (b ol gi6lSle a o o sas
(s s ) g e

JEa a8 7.12

4 Gala s (g > 48 e (support) W3 Sl b o eals A S (S sadl al sy
S5 a4 Mae Giege Ll opgsa (Sadesle b B g Sy dee e Qs

o

BONINN

I AL O 2 S 9 (D Chu 43 S 710 s

L
M= (22) 0+ (20) 6 + FEM,
o= ()0, + ()0,
0,=-(6,)/2

M= () oD + ()00 = () 0.

VPP NPV PERPRTRIL EPRR
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M,, = (3EI/L) 0, = (4E (3/4KReal)0, = 4EKR, .0,

D ) e dyaad IS8 ) A
KRea = ¥ Kea 0588 (s Sdon 3 (58 yaad (7.1)

A8 T sl iand gl ol 580 gLy g o (s )1 B Jle) b o S iy dza 4
i Jiedl s S ol

KR .
(558 ) =oem wop s oy

Jhe ausia 7,13

S dalad O sa iy Crile se 3 4Bk 4 an (55 Ja sl 1Y

F, =10kN Q =1kN/m
| Piiidierviady
O am oo (31 E
L L, =10m e L,=15m

G AL O 2 ) 8 (A Gl 4 Fr T LA
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(stiffness) s s & 4 2

K =(|ij)/|—ij

KRga =(3/4)(31)/15 =0.15I
Kgc =( 1)/10 =0.11

Distribution Factor (DF)) usisé sliuga s £ A 3

(ZK) S il 4 (N it 36 3 4 gara

YK g = Kge +Kgp = (0.15 +0.1)1 =0.25I
2K, =Kpg +0 = Kpg

DFga = kRga/(ZK) = Distribution factor for BA

0.151

DFgs = 5o = 0.60

DFgc = —= =0.40 :
0.251 “Gaia ga bl LwuSd

_ pa¥p _ (10)6)@) _
FEMg, = =5 =i = +14.4

2 4
FEMgg=- 27 =220 =06

FEM,, =- 2 = U9 _ 4875

12 12
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em U am fopB (31)

s Jags (S dsn Y s ol Lailal Jilat o aplee 8 sam yiand Galaga

C B A Py gz d Joint
CB BC BA AB S 39 4 Gpf Cuygxr D Member
0.1l 0.15I (B9 Jous) G3w 58 5 K
0.4 0.6 1 0558 sling > DF 1
-9.6 14.4 -18.75 18.75 Clinge iyl duSSd FEM 2
1.74 2.61 -18.75 JSole Jy! (DIST) cingaghin 9 3
EUTERS Nt
0.87 -9.38 , 4
JSole @292 (CO),y88
3.75 5.62 DIST 5
1.87 co 6
-6.86 | 19.89 -19.9 0 |pginge $y5Ts degond
-6.86 -0.01 0 | Caig> 4 de gaza 7

JUia adly 7.14

S Jiad 4y jla 4y (15 gl Ciiege 3 ABC aw s Jags ¥

F, =20kN
v Q; =2 KN/m Q, =5kN/m
TIVI Vv Wby by Yby vy g
. 2M (21 _;%B (5) ;%A D
o Li=15m L,=20m  5m

ax A 39l Ao 711 LA
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(stiffness) Jsidw s & A 2

K =(|ij)/|—ij
Kga =(3/4)(51)/20 =0.1875I
Kgec =(2 1)/15 =0.133lI

(ZK) S B <l 49 (Nt 5 £ 340 5024

¥ Kg = Koo +Kg, = (0.1875+0.133)1 =0.32]
Distribution Factor (DF)) usis® sliug 3 s & A 2
DFga = kRga/(ZK) = Distribution factor for BA

DFgs = == = 0586

_ 01331 _
DFgc = 5321 =0.416
roula ga il sl

]
Q{ uuuum]a

2
L > FEMpp=+%

_ qL?
FEMg, = - L
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Ge

>

FEMgc = + 222
FEMg = - 222 [$° N S R— L
w
'y RN
C B )
FEMg, = - %X |« L > FEMgg =+

12

FEM, = 5x5 x2.5=-62.5 kN-m

2 2
FEMys =2 = OUOF = 166,67 kvm
2 2
FEMgs =- 1 =- (5)1(20) = -166.67.0 kN-m
2 2
FEMgo = 222 = 2OO0) = 25 55 knem
2 2
FEMgc = % = (2).5125) = 37.5kN-m

FEMge = 22.22 +37.5 = 59.72 kN-m

2 2
FEMcs =- 72 = LLOONIOF — 44 44 10v-m
2 2
FEMcg = - =- (2)1(125) = - 37.5kN-m

FEMcg = - 44.44-37.5= - 81.94 KN-m
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F, =20kN

1 o, =2 knm Q, =5kN/m
VIV Vv b v bed v b vbd Lo ;
<5my (@) B (51) ACRR
c } )
_ L,=15m y L,=20 m Jo 5m
-81.94 59.82|-166.67 166.67-62.5 Cilapa Al dwSd
Q2 =5kN/m
13 J,qulllHH kv v
: LG Claiga Gy okl el g o
-106.85 104.17
| clasa Cny) ol gl B clisa
(81.94) (-166.67+54.82) (166.67-54.82)

G Jag (S Jsan Y Gy ol Lsilul didat s agdee B8 san sy Ciiege

Fl =20kN
v Q]_ =2 kN/m Q2 =5kN/m
VYVY VYV
C m @) G%/%;B (51) WA D
Ll =15m N L2 =20m B 5m J
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C B A PP Cug o Joint
CB BC BA AB AD | §o9 4 S Cuityex o Member
0.133 | 0.1875 0.25 0 [(ss Jusd) 3w sy K
0.414 0.586 1 0 0983 gliwg o DF 1
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22.10 -52.05 JSole @93 (CO) 5SS glyg 5 4yl o 4
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JUa a g 7,15
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43 3 (5l

F, =150kN Q =20kN/m
| PP ey Wity
(1 /1 (3N Ny
Cosm, 25m FHFD PR sl oRE AN G
L,=5m L,=10m G5t dosd 4ty Lt 583
(stiffness) (J s s & A 2
Kij =(hp/L;

KRga =(3/4)(31)/10 =0.2251  Kgc =(2 1)/5 =0.40I

Kan =(0)/5 =0 Ciiese o sine sy 4k 5 A iS5 > 5 o4
S Jha L il

Distribution Factor (DF)) usis® sliug 3 s & A 2

DFga = kRga/(ZK) = Distribution factor for BA
(ZK) S Qg a2 3 4e gana
YKg = Kgc +Kgp = (0.40+0.225)1 =0.625I

YKe = 0.401 + 0 = 00w lhsh i Qusig i d g
.69

SK, = 0.225] + 0 = 0.225
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0.2251
DFga = KRgal(Zk)= o> = 0.360

DFgc = kgc/(ZK)= 2% = 0.640

DFcg = keg/(ZK)= —22_ = 0.0

infinity

0.2251
DFag = kRag/(ZK)= 2222 = 1.0

0
DFan= Kaal(ZK)= =2 =0

AR ) Al gd

TGa ga i) Sl

A Ard Al gy ol 98 Mo g A 3 Chlege 2S5 9d 3 gl (s S el gl s el g a4y

s Sslas
q
G uuuum]a

2
FEMga =- 2 Tl L

\4

-

m

<
>
@

I

+

2 2
FEM,, =2 = (20)(10F _

= MR - 166.67 kN-m
12 12 ,

FEMgs =- 1 = -% = -166.67 kN-m

FEMge = 2= = U9O) = o575 knv-m

FEMcg = - = =~ (1570(5) = - 93.75 kN-m
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(166.67-93.75) 42 ¢S (s sbse (oS il (53 e s usiliill ) 55 (adA B Guifla
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LESTEPRTIEY

Hags sila 44 (elal 4 5538 L5 0 5 (S Adlial e ge (5 (il B il o ol (20
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AR i daddly
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Boulholy (A4UB Cila oa sl 4dlal A Cila 4 G e 166.67 KN-m (o2 48
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AR Al

lee (P s iy Giage 3 (S A g0l SO adlae el ) 2l o)) 8 s sl o

sS85 dss
F, =150kN @ =20kN/m
[ TR
21y _ (30 4
E_E.Em +| 25m -E g
’ L, =5m L:=10m
C B A P9 Cagx O Joint
CB BC BA AB AA' | §o9 4 G Cuyex D Member
0.4 0.225 (S Jauxd) G 5y 3 K
0 0.64 0.36 1 0 2958 gling > DF 1
-93.75 | 93.75 | -166.67 | 166.67 Cinge Lol duSid FEM 2
46.67 26.25 | -166.67 IS5 L Jg (DIST) Congaghin 9 5 3
23.33 -83.34 Sl @9 (COLgSE ghygodingd s | 4
53.33 30 DIST 5
26.67 co 6
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Qi) Calaga g AT 3

WL/4 =150 x 5/4 =187.5

Mg = 187.5 —(193.75+43.75)/2 = 68.75 kNM
Mg = (WL2/8) — (193.75 +0)/2 = 153.13 k NM
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pl Sl Claga o 3 713 Al

Jiaag) 7.16

5 el S Criage 5l ad 3 gl (5 ilad 4l yh 4 O s iasd G sa 3 ABC a5 12

SIS
F, =100kN F,=100kN Q =10kN/m
et 4 iy
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a4l Soe 714 s
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43 g gl

(stiffness) I sism s & 4 2

K, =(1)IL,

KRga =(3/4)(1)/15=0.05I Kgc =(1)/12=0.083lI

R ALL 5 e AeBSl 2 o
&2 i bad yil Chiese (o (e

Kax =(0)/L=0
(Distribution Factor (DF)) usikd sliaga s & & 3
DFga = kRga/(ZK) = Distribution factor for BA

(ZK) S Sl fidn o8 240 sane

YK = Kge +Kga = (0.083 +0.05)1 =0.133|

YKe =0.083] + 0 = 00 ¢ R sa it @usisest dps

3K ,n = 0.051 + 0 = 0.05I

0.05
DFga = kRga/(ZK)g= 0133l 0.376
0.0831
DFgc = kgc/(ZK)g= o133 - 0.6240
DFcg = Kep/(ZK)c=

00831 _
DF, g = KRyg/(ZK)a= =20 =10

infinity
0.051

0
DFaa= Kaa/(ZKp)= 0.05] 0
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AA Al ga JUa 2

TG ga ) Sl

FEMps =2 = 10020 = 187.5kNm
FEMBA_-Z—L; %_-wmmm
FEMgc = 22 %‘24)(8) = 266.67kN-m
FEMgg = - - = M - 266.67 kN-m

243 3 dag a
F, =100kN F,=100kN Q =10KN
C
() A
[( 4.0n 4.um},4.on§9€- 0 -
< Ly=12m —~ L, =15m N
53 et E
C B A PP Ciugar S Joint
CB BC BA AB AA' | § 39 4 G Cuygx o Member
0.83 0.05 P K
0 0.624 0.376 1 0 29558 gling o DF 1
-226.67 | 226.67 | -187.5 | 1875 Ciw o il duSind FEM 2
2444 | -1473 | -1875 5o L Jg (DIST) Ciwgaghio 9 5 3
-12.22 -93.75 Solw e293 (COgSdgheadipg b | 4
58,5 35.25 DIST 5
29.25 co 6
| 4 | 4
-209.64 | 260.73 | -260.73 0 0 |gginge gy dcgamo
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Gl Gulaga gl sl

0> n BC ano

F, =100kN F,=1Q0kN
Mcg =-209.64 l Mgc =260.73
C B
Cn K L D
4.0m 4.0m 40m
Rey L, =12m > Rgy
ZM@C =0

-Rgy (12) + 100 (8) + 100 (4) -209.64+260.73 = 0

ZFY=0

________________________
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OJs AB Aran
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DFce = keel(ZK)e= 1o = 0.333

DFag= DFgc=DFpc= kij/(Zki): 0.0671 -0
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SKg = Kga +Kgg + Kgc= (0.375+0.50 +0.333)| =1.208|
SKe = Keg #Kep K= (0.33 +0.33 +0.313)1 =0.973|
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1.208I =0273 | 2DFg=1.0
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0.331
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508 s 58 sl aisasl Ry s 3 ) a3 ) g giie se (5 AT D (s je et 52
o8 s S s A 0 (Gl ol QoA s A

Qbf be: 493.84 Q
° L@ M¢g = 770.15
Qbf = (be +be)/l_ = -82.73
Qg, = (Mg, +Myg)/L = 82.73
Q—Qgc
¢ Q= (Mg +My.)/L = -161.42
Mg, = 1166.86

Q}\__be

My, = 747.12

ald A (side sway)sus s 24isiese

3 Glaga JuSd glud gl aay Ba 7,27 Head)

:da.ﬁ&".v\__i.cajégﬁﬁﬂcﬂsﬁdﬁﬁdﬁém\%oﬁéé\

a |_| b c d e
vafz 82.73 U Qo= 161.42 Qu=244.15

a5 sladd e By 7.28 Al

Qp= Qg + Qug = 82.73 + 161.42 = 244.15

S Gl 4y 43 Jpan al i glie s 90 el 60 L6500 Q =25.18 2l da e 0
sdle )y 95 eb sl Ay a9 dara 4 ) Jiad 25,18/244.15=0.103
g ale bl 58
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o

_wgﬁxaﬂ‘_’hﬁw‘gé‘g\ﬂ‘g\ﬁﬁﬁyLgJS\ﬁJéA

B C D F G
Frame Status Mps \Y/ Mcp Mg Mcq Myec Mg, Mgc
Final Moment With sidesway -493.84 493.98 532.41 -770.15 | 237.85 0.00 -747.12 -1166.86
Sidesway Factor 0.103 0.103 0.103 0.103 0.103 0.103 0.103 0.103
Facor x Final M with sidesay -50.87 50.88 54.84 -79.33 24.50 0.00 -76.95 -120.19
No Sidesway (4l>,o 4Jgl) 106.29 | -168.79 348.70 | 117.34 | -466.05 | 122.50 53.27 57.22
Final Moment for the frame =sum| 55.42 -117.91 403.54 38.01 | -441.55 | 122.50 -23.68 -62.97
0.01 0.00 122.50 -23.68 -62.97

A giia ga 48] 4dy Hla (g2 4y an (A) Ul JaS 44l &) aa o (O, Oc,0p) UsRA sigdula d
GBS lan Jedlay

s S Aulaa o s nlii 4y ol (Jas 63) (sl 3 J ol g (o 43500 ) ) 42
l 53 @ jle ) (Lha) (e s

Mg = -(6EIA)/L?
For column BF :

(21.99/244.15)(-1000) = — (6EI)(Aca)/(152)

Ageial = 3378/El to the right

For column CG:

(21.99/244.15) (-1563) = — (BEI)(Aqera)(122)

Agerual = 3378/El to the right. Same as for column BF
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12 Jda7.22

Gl w58 g bl 4y Gl san S Cilae s 3 435350 g0 AT a5 90 Ja s 20
Lr‘:‘ L;JS S a4 J)j

200 kN 200 kN
10 m I l
100 kN
1 d A1 e b;ﬁ\ Ia
3l 3| -
15m
21
20m
f
| —
e

JUa a @ glad gl aaBa 7,29 Hsid

K; =(;)L;; = (stiffness) ) s s 2 o8 20282
(Distribution Factor (DF)) usisé sléuga s & 4 3

DF; = k,/(xk) = Distribution factor for ij

(BK) oS insn 4 ik 3 g 6 342 sane

554



PL _ (200)(20)

K = FM7=0-aB88r —5 — = -500 kN-m d e
K 4c= (31)/20= 0.15I
Ky = Ky +Kge = (0.0588+0.15)1=0.2088]

0.05881
DFdf = kdf/(Ek)d: 020881 =0.282

0.151
DFdC: k dC/(Zk)d: 0881 =0.718
K4 =( 31)/20 =0.15I .

KR, = (3/4)( 21)/25= 0.06l
KR, = (3/4)( 31)/30= 0.075I

YK, =Ky +K . +K, = (0.15+0.06+0.075)l = 0.285

0.157
0.2851

= 0.5261

DF_, = k./(Zk).=

DF_, = k_/(Zk) = = = 0.211

ce 0.2851

DF_, =k /(Zk)= > =0.263

0.2851

0.282
DF. = k. /(Zk)=— =

oo

DF,_=k_/(3k )= o> =1

ec' \“"e/™ 0235

FEM,, = 2= = GO0 = 4 500kN-m

8 8

M,, = 100x5 = —500 kN — M
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(i g d i (Aa pa g 2

b e c d f pod Caga 2 Joint
ba bc ec cb ce cd dc df fd S Ay s f Gy Member
0.10 | 0.08 | 0.08 0.06 0.15 0.15 0.06 oo (.9 Jaad) A s f 0 K
1 1.00 | 0.263 0.211 0.526 0.718 0.282 | 0.000 S8 sl g 3 DF
-1000 0 0 0 0 500 -500 0 0 Cilapa di) S FEM
1000 0 |-131.58 | -105.26 | -263.16-| 359.15 | 140.85 Je b gl (DIST) ciajgasliy 93
500.00 0.00 179.58" | -131.58 | 0.00 70.42 Sl p295 (CO)siSE 515 245 45
-178.84 | -143.07 | -357.67 .| 89.79 37.06 0.00 (DIST) ciaigasliy 93
0.00 0.00 44.89“ | 2178.84 0.00 18.53 (CO)sisd ol 9245 51
-11.81 | -9.45 -23.63 | 128.46 | 50.38 0.00 (DIST) ciapagldy g4
0.00 0.00 64.23 -11.81 0.00 25.19 (CO)Lsisd ol 9243 588 S
-16.90 | -13.52 -33.81 8.49 3.33 0.00 (DIST) ciapagldy g2
0.00 0.00 4.24 -16.90 0.00 1.66 (CO)Lsish 519345 558
-1.12 -0.89 -2.23 12.14 12.14 0 (DIST) ciapagliiy g3
0.00 0.00 6.07 -1.12 0.00 |6.0707 (CO)sisd ol 9245 51 S
-1.60 -1.28 -3.20 0.80 0.31 (DIST) ciapagldy g2
0.00 0.00 0.40 -1.60 0.00 |0.1573 (CO)Lsisd ol 9243 588 S
-0.11 -0.08 -0.21 1.15 0.45 (DIST) ciapagldy g2
29 85 3 40 ISl Al 9
0.57 0.225 L .
S9S gl ALl Ay yy o (g
-1000 | 1000 | 0.00 | 158.05 | -273.56 | 116.09 | -241.87 | 244.52 | 122.26 | ¢iguwie G>1d dsgeza
1000/ 1000 | 0.00 0.57 2.65 122.26 Clogr 4 4 game
b e c d f P Cugz o Joint
ba bc ec cb ce cd dc df fd S 09 4 G Cuinyer o Member
5 30 25 30 25 20 20 17 17 dldgel sy o L
0 3 2 3 2 3 3 1 1 TR |
0.100 | 0.080| 0.075 0.060 0.150 0.150 0.059 00 | (Sgd Jaual) GSew GyE o K
0.10| 0.08 0.29 0.21 0.00 Sum
0 1.000 | 1.000| 0.263 0.211 0.526 0.718 0.282 0 09583 gliing o DF
gléng 3 dsgaxe C R
0 1.000| 1.000 1.000 1.000 0 =9 ) ,,&s o Sum
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d
100 kN c b

— = a—f
- | _ IZE |
D Fg= 21.58 Fee=10.94 <€<— F,=11064
Mdf= 244,52 Mce:'273-56
YIS
Far | /7> Fee
17
25
Frq
L —
Mfd:122.26

Mec= 0 o <Y Fec

i 9 allS 4y Adgilage sladgd a by 7.30 i)

Fat =(Mg +Mg )/17 = 21.58

Fce :(Mce +Mec )/25 = '1094
S F=0

100 +21.58 -10.94 - F, =0

sy dad g0
oS Iy Q) lal (s L diug )y 5l (63 (ot A siiege (FEM ) 2 2808 1o

Joss (S Jsax a4 adee 0 5l S (o o sy Gaiage ol siie g il Sl (523 (g
Doso ) SS Adlee (adioyi o) 5K )9 el AT g se Sl LgE (g g
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YPWES 65% =-(3) ()@

M fixed end df — ~ (6E/17) (1'/17)(A) = —0.0207IEA

_

—_

M fixedend ce = ~ (6E/25) (2/25)(A) = —0.01921 EA

58 028 1000 (o242 4 (b S aaly a b du (o2 98 G Q) ETA S

M df= '207
M o= -19.2
< A A A
d C b __
A ¥ A —— 2\ (B
a
I 3l b 3l 5
I I
l ]
17m I n'
/ I 21
1
]
f 1
]
/T !
Y e
20m & 30m 15 m

A

Jha sladsa s mh s 7.31 sad
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Ol gt sy Culaga (oo ja (ool 93 0

e ¢ d f asi Cliga 3 Joint
ba bc ec cb ce cd dc df fd | Sasidg g ayn Member
0.10 0.08 0.08 0.06 0.15 0.15 0.06 oo | (698 ) A g 0 K
1 1.00 0.263 0.211 0.526 0.718 0.282 | 0.000 S gl 2 DF
0 -19.2 0 -19.2 0 0 -20.7 | -20.7 cilaga d) s FEM
0 19.2 5.05 4.04 10.11 14.87 5.83 0 | JSleds | (DIST) cuiasagldy 93
0.00 9.60 7.43 5.05 0.00 2.92 Solw @293 (COYLsiSE sy 343 580 &y
-4.48 -3.59 -8.97 -3.63 -1.42 0.00 (DIST) iiasagldy 93
0.00 0.00 -1.81 -4.48 0.00 -0.71 (CO)Lsisd g5 345 g
0.48 0.38 0.96 3.22| 1.26 0.00 (DIST) ciiasagly 93
0.00 0.00 1.61 0.48 0.00 0.63 (CO)Lsisd sl 5045 480 &
-0.42 -0.34 -0.85 -0.34 -0.13 0.00 (DIST) ciiasagly 93
0.00 0.00 -0.17 -0.42 0.00 -0.07 (COYusisd sly5 245 Jst O
0.05 0.04 0.09 0.30 0.12 0 (DIST) ciiasagly 93
0.00 0.00 0.15 0.05 0.00 |0.0597 (COYusisd sl g 245 L8t O
-0.04 -0.03 -0.08 -0.03 -0.01 (DIST) eiasasliy 53
0.00 0.00 -0.02 -0.04 0.00 | -0.006 (COYusisd sly5 248 48t O
0.00 0.00 0.01 0.03 0.01 (DIST) cuiaisagldy 92
29 A 3 A gl gy
0.01 0.0056 o .
3\35&.!53.\4.\!.1@3#‘9! LY
0.00 0.00 0.63 -9.09 8.47 15.05 -15.05 | -17.87 | $igirese §y1s dsgarme
0.00 0.00 0.01 0.00 | -17.87 | Cluga 4 dS gome
e c d f pY Cugx S Joint
ba bc ec cb ce cd dc df fd | §o9 4 &y Cuinyezr 3 Member
30 25 30 25 20 20 17 17 Jlaagsl spf L
3 2 3 2 3 3 1 1 [NTIEN |
dal) (S (5pE O
0.100 0.080 0.075 0.060 0.150 0.150 0.059 oo & )(s - < K
 guidd
0.10 0.08 0.29 0.21 0.00 Sum
1.000 1.000 0.263 | 0.211 0.526 0.718 0.282 0 29553 gling o DF
3 degasme Cuug> O
1.000 1.000 1.000 1.000 0 - Sum
29558 sliog
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c b

T i)

I =
G Fy= 1.936 6 F.e= 0.36 G) Fp,=2.30

Mg= 15.05 Mge=-9.09
d f)
e c
H Far K /= Fee
17
25
Fta
@)
Mfd: 17.87 u e_FeC
e
M= 0

i o) Al 4y ddgilage gladd a g 7.31 il

> F,=0

1.936 +0.36 -F, =0

Fagr =(Mys +Mg )/17 = 1.936

Fce :(Mce +Mec )/25 = 0.36
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SAS NS B AL Js e et o) gl

2.30(x) — 110.64 = 0

X = 110.64/2.30= 48.45
Qq nossway/ Qsidesway = 110.66 /2.284 = 48.10

wﬁ@&ﬁoﬂulanJAJ\MJ\u%MﬂhyL;)Sﬁﬁ)é.:

d c b f
Frame Status Mdf Mdc Mcd Mce Mcb Mbc Mfd
Final Moment With sidesway | 4igiiasa s e 4ad g -15.05 15.05 8.47 -9.09 0.63 0.00 -1.00
Sidesway Factor S5 A A 48.45 48.45 48.45 48.45 48.45 48.45 48.45
Final Moment With sidesway R
PV WX KPR Saans
= e -729.17 | 729.17 | 410.37 | -440.41 | 30.52 0.00 -48.45
factor M =B X Mypase 2 (B X M) 4istiaza
Final quent With No Aigilaga o e dly) 24452 | -241.87 | 116.09 | -273.56 | 158.05 | 1000.00 | 122.26
sidesway
Total Moment Cilalga 3 4S gada -484.65 487.30 526.46 | -713.97 | 188.57 | 1000.00 | 73.81
iy ga 4y 48 3a2a 2.65 1.06 1000.00| 73.81
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13 J8a7.23

4 5Tia e Gl 3 (o Al pl 4y (g ) Giiese 3 9k A5 ABCD a8 (S )5l i sy
3 ) ssh da pr abh 4y GISBn sl 0 JBe s (8 Jai A 5 ) (S L b s LS
G5 OWE sl aislsa sk gl e

100 kN

al
3
[N
a
3
Y _

2 kKN/m

LI e

R

15m

r
1 -

W

PpY—
20m ﬁ%

Y

Jia sladgd b s 7.32 sl

> 55 05> Aistiage 2l 2uSd (S s g g 80 g 5 S Jae il S 55 a8 sy
4l 5o & Hle
wi? _ 2(15) _ :

FEMpg = -5 = - =% = =375 kN.m

FEMga = "2 = 37.5kN.m

Pab® _ 100(5)(15)* _

2 = 157 = .281.25kN.m
L (20)

FEMgc = -

Pa’b_ (100)(5)*(15)

a (%) = 93.75 kN.m
L 20

FEMCB =
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i 9 allS 4 Aigilage gladsd aada 7.33 Al

a9 AllS Ay Adgilage Al 2 gladsh a B o 7.34 il
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K = (41)/15=0.267|
ZKA = KAB + O = (0.0267)|

0.2671
DFps = Kpgl(ZK)e= 3520 =1.0

F; = k;/(Zk) = Distribution factor for ij

KRy,= (3/4)(41)/15=0.20I

K o= (31)/20=0.15I

ZKB = KBA +KBC = (O.20+ 0.15)| =0.35I
0.201

DFBA = kBA/(Zk)Bz FSI = 0.57
0.151

KR.o= (3/4)(11)/15=0.05!

K ca= (31)/20=0.15
ZKC = KCB +KCD = (0.15+ 0.0S)I =0.20|

0.051
DFCD = KCD/(Zk)Cz m = 0.25

0.151

i D JSELTPEN

K pe= (1)/15=0.067

YKp = Kpe +0 = (0.067)l

0.0671
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Aa e Ayl - G g ey Gulaga

D C B A Py Cag Joint
DC CcD CB BC BA AB S 965 4 §pf Cadiygr S Member
0.067 | 0.050 0.150 0.150 0.200 | 0.267 | (o hokad) 3w Syt K 1
1.000 | 0.250 0.750 0.429 0.571 | 1.000 29583 gling > DF 2
0 0.000 93.75 | -281.25 | 375 | -37.5 Cakoge Ll duSid FEM 3
-23.44 | -7031 | 104.46 | 139.29 | 37.5 S L Js (DIST) Csgoglin 9 5 4
5223 “[ -35.16 18.75 Sl pgs (CO)5iS 5)9 5 5 y5) o 5
-13.06 | -39.17 7.03 9.38 DIST 6
3.52 -19.59 (CO)y9553 shys 5 45 y¢) o 7
-0.88 -2.64 8.39 11.19 (DIST) Cngoglin 9 5 8
4.20 -1.32 (COYL5SE shy9 5 4 g s 9
-1.05 -3.15 0.57 0.75 (DIST) Caisgoglin 9 5 10
0.28 -1.57 (CO),5553 9y 5 &5 5ol s
-0.07 -0.21 0.67 0.90 (DIST) Caisgoglin 9 5
0.34 -0.11
9 5 9 A6 > Al digyg 1
955 B3 il dugy
0.00 | -38.49 | 38.83 | -217.86 | 217.76 | 0.00 | gigxeie Sy>1d ds gosmo
0.00 | 0.34 | -0.11 [ 0,00 | s> aacgems
D c B A £y Cdug> > Joint
DC CcDh CB BC BA AB S8 4 §pf Cuinygz S Member
15 15 20 20 15 15 Jlsss) 6ye 3 L
1 1 3 3 4 4 [ [
0.067 | 0.050 0.150 0.150 0.200 | 0.267 | (S ) aews §y8 o K
0.067 0.200 0.350 0.267 dcgaze Sum
1.000 | 0.250 0.750 0.429 0.571 1 2558 gling > DF
1.000 1.000 1.000 1 | e if;;‘ She Sum
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100 kN

Boe 5m | 15m £ Fex
Fax I ~
Msc T I
Fay Mcs
Fey

Fey

Mco Fex

2.0 kN/m

w

RDX

/T Rpy

*Maa=0 IM4p=0
Fax (15) -2.0x (15x15/2) -217.76=0
FBX = 2952 FCX(15)) _MCD =0

Fox(15)-(38.49) =0
FCX :(39)/15 =257

FBX :%952 FCX =257

4_ L
26.95

i o) allS 4y ddgilage gladgd o 7.35 il
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SF =0
29.52-2.57 = 26.95 kN

Need 26.95 acting to left to prevent side sway

S A mAY A J Sodee ploma a2y »a26.95 kN 2yl aad o

Coilaa glaid o3 3 g8 3 Al pa dad g0

a8y s S dee BC 432 958 (B ) sigiiase s pal o s 0 (So)) (Sals e oy
(5 9L A0 glia 5o LSl Az ) (55l A e 351 )l ghe U (A) Wy Jaus s

S I Gl el (A s s b o5 )S 8 AR (o (5 S Ll e a sl Cag ) Lils o
D Gbe alal Al (A) U 2 Caie ge 1S

M _ 6EIA
fixedend ~ ~ _LZ_
6EIA _ GE(4DA _
M fixedend BA = FEMag = - 2 - g2 0.107ElIA
_ 6EIA 6E(DA
M fxedend cp = FEMne = 252 = — SE02 = 10, 0267EIA

528 24 1000 4l a ol 13 5l 5 pslae a3 ) (EIA) 2
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= FEM,, =-(1000 ) (0.107) = -107 kN-m

fixed end BA™

M =FEM_. =(1000) x0.0267 = -26.7 kN.m

fixed end CD

oSl Gy )l al g lndiug )y o (60 i Aisiiage (<107, -26.7) 21 2uSd b
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Ala e dad g2

D C B A Py Cdug o Joint
DC CcD CB BC BA AB S095 4 5y Cadiygz Member
0.067 | 0.050 0.150 0.150 0.200 | 0.267 | (o Joad) (3w Gy o K 1
0.067 | 0.250 0.750 0.429 0.571 | 1.000 29555 glig > DF 2
-26.7 | -26.700 0 0 -107 -107 Cnge Al duSid FEM 3
26.7 6.68 20.03 45.86 61.14 107 JSe e Jo! (DIST) iiagaskiy 5 4
1 13.35 22.93 10.01 53.50 ol @93 (CO)ssd sh 5243 54 5
-9.07 -27.21 | -27.22 | -36.29 DIST 6
-13.61 -13.60 (CO)s58 s) 5045 )0 7
3.40 10.21 5.83 7.77 (DIST) Cakodoghin 55 8
2.92 5.10 (CO)siSe 9p9 > 5 g s 9
-0.73 -2.19 -2.19 -2.92 (DIST) Ciwgeglin 9.3 10
-1.09 -1.09
0.27 0.82 0.47 0.62
0.23 0.41
006 | -0.10 | -018 | -0.23 G 23 A2 Sen |y
ssS aigailyang y
0.00 | -12.86 12.93 23.40 -23.40 | 0.00 | gigiuaie Gy dsgarme

0.00 0.08 0.00 [ 0,00 | coyradcsane

d c b a Py Cdgz o Joint

dc cd cb bc ba ab S0 4 Gy Cadnygxr D Member

15 15 20 20 15 15 dleagel gyt o L

1 1 3 3 4 4 | Gyes |
0.067 | 0.050 0.150 0.150 | 0.200 | 0.267 | (Ss Jound) gew 5pe > K
0.067 0.200 0.350 0.267 dcgaza Sum
0.067 | 0.250 0.750 0.429 0.571 1 05558 gling 5 DF

v as =
1.000 1.000 1.000 1 g2 33.&5 i Sum
)
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Mco

5m 15m
FB B M( g FCX
Rpx Mgc T E‘

Fay

* R Dy I:CY

i 9 allS Ay Adgilage gladgd a b 7.37 yead)

EMaa=0 Map=0
RBX (15) -23.35=0 ch(15)) _MCD =0
Rey = 1.56 Fey =(12.82)/15 =0.855

570



Fax =1.56 Fcx = 0.855
G

= -
241

SFy«=0
1.56 + 0.855=2.41
Need 2.41 acting to left to prevent side sway

4 a2 3 Qiiega I3y g e Hd a4 R=26.95 o Julgse (Sals el 4
o 2> B OSS

R=(B) P
R _26.95 _
B=5 =54 =11.18

st (S Caasd 8 58 5 o0 diaadoju 558 B sy 2l 45800 50 (A je (et 50
= 26.95

T I ol A giie g L Al 4y sl Ao

A5 Ll a9 gl Al e

Frame Status Mag Mga Mgc Mce | Mcp | Mpc
Final Moment With No N . 0.00 217.76 | -217.86 | 38.83 | -38.49 | 0.00
sidesway digilinge oo dlg
Final Moment With sidesway | digtwie (d>yo dangd 0.00 -23.40 23.40 12.93 -12.86 0.00
Sidesway Factor =B 11.18
. . D3 (Sgde Jokal
Facor x Final M with sidesay | <2 > “** & 000 | -261.67 | 261.67 | 14459 | -143.81 | 0.00

B x) digiiege (J>yo

Final Moment for the frame

) 0.00 -43.91 43.81 183.42 | -182.30 0.00
=sum Congo O de gaxo

LS.Af\fayyﬁayéﬂﬁdd&uﬁﬁﬂgﬁu)ludm‘yu}aéﬁi\.J
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A gl) g IS 0 7.24

S Sl 30 al SGla 0l o) Gaiase s S Jalali 48 )k 4y G s Giiese 3 ABC a0
(SIS Q> o pm (o S

W= 10 KN/m 50 kNl (1)
HH PRI

10 m ;ﬁ- J

Q =20kN/m P=10kN (2)

ST REEINY :
C @) Bagy (@) A
\ﬁ L, =5m ;% L,=10m,

r ) >

|

(3)

SIS 0 2 al UK a5l i ge s S Jilad 4By jla 4y (g ey Giiese 3 ABCD v

P:IOKN P=20kN P:ZOlkN
D
HA @) F25 B @) c @)
L 10m O 10m _ 10 m B
f f T '
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(4)

SIS 0 2 al UK Had gl Cilege og S ilad 4y a4y (g ey Qe 2 ABC e

P=100 kN
l =50kN/m

H#HHHH

|:| A ) _—;@; B @1 %%;

5m P 6m

—A—

(5)

GBS 09 2l S ad ) Griese s S Jilad 4By sl 4 (o iy Qe y ABC e

g1 =20kN/m

HH¢H e i e e e e
A 30 ;%B (21 C;%;

6m < 5m

- N
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(6)

GBS 05 2l UK a5 Ciiese oo S a4l Hha 4y (g ey Giege y ABC an

41 =50kN/m lefom

|:|H¢HHHH

A @3 ;%;B @30 C
10 m . 8m

lc
| T

—N

(7)

GBS s 2 el 08 Had o) Qiiese s S Jilai 4l Hha 4y (g Sl G ey ABCD e

P=120kN P1=50kN  P,=70kN w =30kN/m
m 2m 2m
| 2 R RER TR RS

|]A (3) 222 B () o C (5) y

e
7

|l T~
I‘ 8m | 6m 10 m

Ny,
>
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(8)

GBS 0 2 el UK Lad gl it ga s S Jalad 4By a4y (0 iy iy e se d ABCD v

41 =50kN/m lefOkN

|:|HH¢HHH

A @3) ;% B @3 C;% D |:|
10 m ,' 8m '

T 1

- K

9)
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S Jua s a8 s S dilad ddy Hl 4y (s iy Ciiese 3 ABCDEF a8

SOV Ju a5 S s 48y Hla 4y (G g ) Gile g 0

P,=100 kN

7 m B

12 m

A
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S 0 2l Rl o) Chiage oo )S Jilad Afy Hha 4y (g ey Giiege 3 ABCD aw

|

P=120kN
w =100 kN/m l
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SN b s S dilad 4l Hla 4y (G g ) Galese 3 anjd ) Al Al (o0
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SOV N a5 S st 4l Hla 4y (G g ) Grlese 3 aajd ) ) A (50

w =100kN/m
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S Jua A a8 s S Jalad 4l k4 G gy iy Galese 2 a b A0 Y o
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SV dan A e s S dalad Ay sk 4y G g ey Quiege 0 e jh ) eadl Y s

P,=100 kN
C
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)N
gL 6m
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= I A
N
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12m
| 7l
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GBS 0 2 pl UK Lad gl G ga s S lad 4By jla 4y (0 g iy Gl ge 3 ABCD an

P,=70 kN P,=20 kN
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'EEEEERETER
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S Jua s a8 (5 S et dy jla 4y (g i) Giiese 3 a8 sad) aiY 60

50 kN
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2 Ay Lo
D
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8
Juat o
okl Jadad 3 o gy o 3 S i
(Matrix)

i 8.0

(i) al\S ) a8 o (S Ol sa o4y sighsaan b o) salac) ¢ sald )l 5 (MatriX) oS e
oald 4 (S ddad 4y gisi s 0 ed by sl dslee Al o g (> 2 J S BB 4 A Gl
e N G A AR Aaglaa U gl 430350 ) aslaa U jod (o b 2 siglu e a3
s AR o ) sisleald gl g el SOl 4 (S0 Jhe 3 Ak e 62 S gl aia Jleatl
958 s O (2 las Jiudl 438

Sdans gy delad o (o ed0is ) (23 Jiundl s IS (S a4y 65500 ) g 2 40 S e A 5 4S
force-) saS 4lin 5l 8y gl 350 « (compatibility) &8 55552 ) «(equilibrium) o)) s
SR 8o e 3 (28 Jaghs (Sl 4y 8o e 3 OYae ) So )l (displacement
o s i Clalee alialus gy (S0 jiae 2 A gy Jalad s joa 3 (2 Jais (S 1 49 0 )OS ) Cillee
3 g S 3 Al bd alia 45 21y geal A el ) 0 S e v Akl ol s o S

(o s gy Dlaslas JHuindd 5 ol eaide (So b4y sillas (S i

Jas Sasie 2 8.1

_Lﬁ}ﬂdﬁgd&ég’;\sﬁeﬁgeﬁjm}gﬂd@ 6 e g S e 3 g Ia

s (columns) 4 sallS (50 5l (rows) ais el (5 30 eSa e 1

g

o =
0~ U
o w N

Al
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3Aal 4y 13 ) oS JaiBy el 4y (saiie L) sisall sl gigoUad o ad 3 s 3l Sy e
.24 (order of the matrix) o))l (sSa i

Jsasd (89 sise 2 8.2

ZX%Z St A 89 e 3Y 13 S Jara g Al o) jUad 4y 1S Sl
T L el S Sy e
el gl 0 (S e

157
A2x3 =

(Matrix Elements and Notation) 4&s gg & 3 oSt 28.2.1

(g olanind o )l 5 palic (A3 (G e 2 g8 e ) o) ol Al 2 S0 e 3 s e

1 5 7
Axs = 6 -4 3
4l 82 U'_L)L.Lc )m\.}.c
a;q = dyq =
allz = 5 a2,2 = '4
a3 = drz =
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i5allS (550 gl o el opa (g 03 (2 X B) Gr Ao o S iy A AT S e 435
B3RP hesndgosnaSsia dlies ¢ Gy slue s sl 5l 5 lad 3 alasd (5 e 4S5 )]
S b UsSa ik (Square) e 2 4l 4 (S i 4xs

Aiglgd S e 2 8.3

(Vector) usiSas b e sim a6 8.3.1

O ie alS L )05 3 Akl 4y 4k (55 b i (S Al o 4y jualic S0 e 2 (5 4S
162 s 1Y Gy 2 dhe sl

A4x1 =

00 NO R

(Row Matrix) g« iz Jlké 8.3.2

b A 4 GlA (S jUal o g4y (S0 Jie 3 pealie J B (S e g
Al g= [1 6789 1o]

(Square Matrix) g« s 222 8.3.3

(SquUAre) g« 2 4l 4 4xd (55 5 gbue oy i g pped 55 5allS 5l gig Ul 3 (1S jiae 2 4S
Gl S e
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(Y
o
[
[N

(symmetric Matrix) o«Sasin J5lis 8.3.4

3 g diau S (diagonal ) ki b JiSah o & o s 4y palic (18 ke g 30 2 (o> 4K
(oS b S sie okl (S e 10 (55 LS 52 0 e (S JI0

03 S e bl g 2V 1

1.5 7 8
A 5 410 9
4x4 = 7 10 15._ 20

~

8 9 20/‘-&

i s i
(Diagonal Matrix) oS s kd b Ji%1a 8.3.5

13¢5y Ja (o Syl Al yy HlaB Ly Sl 4y (s ealic 4xa J 5 S e 2 (o2 4AS
(Gop 2L O e skl b JIK0hy 2 Al 4y S0 e
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(Upper Diagonal Matrix) owSeis JiSala &) Ao 2 8.3.6
S5 a2 S (diagonal ) shd L diShy a7 ) S 4y jualie Jgi S e g ey 4lS

SaS Al (s e &) () s ISl (8 e

2 S &) (s G g g2

C4x4=

coow
s
/
ook u
7’
7’
@
N
=)

(Operation of Matrix) <l (w2 8.4

(Addition of Two matrices) :JsS gad s site 592 2 8.4-1

5 4 3 + 10 12 15 - 15 16 18

(S5 S sbun 2 PeallS o) gig el o jued Al (6 S aan o b g (o> 435S e 0 53 4k

R L sl sallS 0 (5 pm aS 5 i sallS (5 )0 ) Ul o 50 (1S e ab 53 ) S ise J sl 4l
(IS ren o ey g (S Al G (o548 g lue el

DB s A GSaie 2 5aS e 3 S e Al sinald aga 050
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A+B=B+A < (commutative) s seS J S aan 089 e 2

(A+B)+C =A+ (B +C) > (associative) siuiu sul JsS gen 0 fia 3

A e 3 dgles ila 8.4-2

(S Jagi Jg9 1Y (63 4y (o pein ADle ke 4y (8 e 50 (5 4S

157 _ | 1 -5-7
“| 543 — | -5 -4 -3

o et S i 3 A Sy e g3 3 Ades (31,800 8.4-3

2 6 8 157 1 1
10 12 15| | 54 3 5 8 12
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scalar ) @) clihae Gl o3 qpd wo i 523 8.4-4
o (Multiplication

5x2 =10
2Y 6 8 10 30 40

GIx | 1012 15| T | 50 60 75

53 g9 1Y (s 4m g py @ pa 2
5x2=10 5x6=30 5x8 =40

5 x 10 =50 5x12 =60 5x15=75

Multiplying a ) sow ooz &i 3 (uSq iz g1 3 4alas a3 8.4-5
(Matrix by Another Matrix

15085 4058 e 50 Y 1 ol plee a3 (S e 2

53 J59 Y (52 dmg py 0 puia
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1Tx2+5x10+7x7 =101

5x2 +4 x10 +3 x7 =71
1x6+5x12+7x11 =143
5x6+4x12+3x11 =111

@ wdala s S(kxp)oSimd macua (XK ) oSine 0o SaSsidle 4
IX3 A S 5854 Sk 3V haSgia Jhed (55 Soie (] X P)
oS 1X1 e dala el 3X1 2B usSeind g pa e

5
[1 5 7] X 4 = {1x5+5x4+7x3] = [45]
3
A B ixp
ixk lkxp 1x1
1X3 3X1
5 5x1 5x5  5x7 5 25 35
4 X [1 57] = | 4x1 4x5 4x7 =|4 20 28
3 3x1 3x5  3x7 3 15 21
A
B
) C
k x ixk
P s k x k
X
3x1 3x3
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(Unity Matrix) s a18.4-6

Jsi o5t . A 0SS oS ik o (diagonal) ki b Jisala 4y (1) s Syl e sie Jse 1o

(38 dash a¥ Jha S it J59 622 ¢ S palic

|3x3 =

O O
o = O
= O O

(square) goe 12 Gole di 4y ¢ s sl Aaad QIS ) jUad 2 (1SG yiw (Identity) 2~ ) s
(1) 42 O size 13 53 (0) s o2 malic Ui s 3b (1) 3 JiSls 43 Gt (523 03 S s

(SRS Jasa

1S5 O kg (o diala L0 080 e i s 2 el S e 2al 5 e S

X | Q
xQ =Q
(Dividing Matrix) 4slas amdl 3 (uSq i 2 8.4-7

1Y Joe Y Aales anali 3 S Jie D

A/B=Ax(1/B) =AxB1
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u)aa)uua&‘)ﬁyw}iudgbmwwﬁd _aABu&g‘):\:\AJw}S\AAJGSMAﬁ B-1 aila

(Transposing Matrix) Jg i A gaSasiae 2 8.4-8

S0 iy s A5 QNS ) Ul (S5 sine 3 (S A s T 4y

Q-= d1,1 Q12 QT_ i1 Y921 Q31
02,1 92,2 di, doo  Qs»
g3,1 Q3.2

157 16
6 -4 3 = | 5-4
7 3

(Determinate of a Matrix) b & guSa i 2 8.5
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IT| = ®x@E)-@x®

(69 (Sl (53 sac 5 90 4l L 4aDle Cilia i 2

T3S am o S i (o sl s A OSaie 4SS g4y Jhad

A2x2 = ; _54

|Al = (@x-4)-(5)x(6)
= -4-30
= -34

DS I (o e i (AS 50 5l B 5 0) 3X3 o> B oSasie s

B3X3 =

< 7o
g ~2

r
u
y

‘ B‘ = p(ty—uw)—q(sy-uv)+r(sw-tv)

1305 (o Grine i (o sl s K 0o paSsia e dio
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K3x3 =

O O =
[y
=
= 0N

=
I

1x (4x11-8x10)— 5 x (6x11-8x9) +7x(6x10- 4x9 )

= 1x (4x11-8x10)- 5 x (6x11-8x9) +7x(6x10- 4x9 )

= 1x (-36)—5x (-6) +7x(24)
= 162

AR ) S gy Cisa i 265 o Al (o JledallS Gl UL giliact 3 o S e
(608 J e ai¥ o (gl g Ao

2 (cofactor )L siSa S Ja Ha 5 (8o jie 52 2 sl o 3l (K K) o A GSosize e 2
15 Gole o) gga sl (Cr,s)

Cs = [(.1§r+s|)Ar,S |] (8-1)

(2 4ali g gk 5 (damy (xS e 3 (S) AllS ) (1) JUd o 41S 00 (S0 e 4za (Ars) 4dld
OSSN S AlA S ke 3 62 L e 8 @ s G s b 3L aa (A) 2 (minor)oile
. A (cofactor)

1S5 4 10 (S K S sie Jle Y a4y
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D9sS A Jgo Y sy S ie ) 938 S

—

‘4 8 |6 8 ‘6 4 T
10 11 9 11 9 10
C=|-|° 7‘ 1 7‘ _‘1 5

10 11 9 1 9 10

5 7‘ _1 7 ‘1 5‘

C oS d Grina i A& 5 laly IS 45 Sy Ul 0 (S5 jise )5S 5S 0 o 58 Y S
58

1SS oy e 2V (24 g5l ja) )58 S 2 4S5 dale 4y

Cij =[(1) "m, |]
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3(j) A8 o (i) S8 o 4K 52 (Sub-matrix or minor) (S ie e 3 i sy (M) 4
B (S e

Cum (1 [ ] =
Cam a3 8] =8
Com (P 4] = o
Cp= (-1)21]S 7| =13
Com a2y ) =
C= (13| 5| = %
Cyy= (-1)3+ |j g| = 12
Com (P21 7] = 3
Cyy= (-1)3*3 |é i| = 26

S A FissS A 4 la (S A 4 S s ) 60 S HES D sl a) B 1o
ad e Cjlie S siae HSES (5d p e 2D g a5 oSaie CsSE

-36 6 24
Cofactor matrix C = 15 -52 35
12 34 -26

163 U9 Y e )5S Al S oy i i

Syo s Ciine i 50 e 3 (2 4AR LIS ) JUE a Al cpdio yoa o e HIKES 0 o alS
P KYg E B (g
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J=1ton

_ 1 -36 4
K - 6 4 8 C = 15 -52/\35
i=lton
ool Jlasiad o ldad ja o

(S My (e alS o sl U8 Jsl 4y Jsogsa G LsiSdSS
oo Jlaaind 2 j A8 a0

n
IK | = Z by;Cy;
=1

= (1) X (-36) +(5) x(6) + 7(24) = 162

n
IK | = Z b;;Cy,
=1

= (5)X (6) +(4) x(-52) + 10(34) = 162

lee ol g ghaa (S i 3 8.6

dala o S d o e o aS s AT 3G le (nSae A OS2
e Saa 3 6y S a5 b o dala G Ad i 2 A AT GG G0S 8 2
SR smaS A g 3 10 (55 A8 (5p o ks 42 s o s S 2 Ll ) lam as Jl A
oo bl o4y da 3 a) S5

ATA=1  (8.2)
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Gidla 3 )¢ s9asis (C) 4 S d S ol 63 [A]| S A 2 Sl i
(oS o oy aza o) ssesis adj(A) 4 e A Sasix 2 (adjoint)

T »
adj(A) =[C}] = [(1)"jm, ﬂT (8.3)

G 4al 4 A i 5 aamy o g e 3 () QS ) (i) DU o A1S e (S0 e 4aa (M) 43l
G Cobe AdesSae (63 s s 55l dbaa (A) 2 (MiInor)oile

1

Al = [aradi®) (8.4)

45140‘&&5}354&2&6}&)34;16‘)3173}\d}b}i%b}d@w&kﬁdm‘j#wﬁd
o Jlunal s IS WL AAR 6l )50 (5 i smaS 3 g) (5 S andra oo 24 0

Jhia o g sSan (S 5ine 2 8.6.1

35S 13y il i oS s 1
|A|= (2)X(3)-(4)x(6)=-18
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Guila a) & 5 5 < o (transpose) s ¥ s Ll (cofactor) s S sa i s 2
' 1 (adjoint)
3

35S 1y (e 58833 ol sl o) a1 S 43R (8.3 ) sassh L 5SEsS

Cyy= (-1)™ 13| 3

Cio=(-1)*216l = -6
C=(-1)>1 14l = -4

C22= ('1)2+2 |2| = 2

03 e (K sie 5SS (5 58 Juala

otV e 3R S gl S iae

T

Adj(A)= CT= [j '26] - [1; ‘2‘}

Al = adj(A)=

Al

1 3 4 -3/18 4/18
(—-18) | 6 2| T | 6/18 -218
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A8y jha 4y glgh da 3 oS A (ugSan Sy i 3 8.6.2

) L Adlal g S he g S0 e (g0 S s A el s16S by (S0 e e S 2
O e e OSaUke b JSs s e o aalg o S o i by 4lee
(S84 slsm Sae 2 (S e 1Y 2 AS g Ay Jle (28 G ik S 4y S e

bl

eAjJJ}‘(s)dJJJu}AJ&SdJ‘L&} MQ\SL})\ j\d}‘)&g‘dﬁ)ﬁ}ﬁ)&e}&d}\
(R2 = R2-(3)R1) (o5 (sa i 4a& i

D98 (e Saa (S i (633 gyl &

(RL=R1/2) . ¢S (2) 5504 ardi jUad
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(R2 = R2/(-9)) .s S (-9) 43 pausii sl s 52
|:1 2 s 0
0 1 1/3 -1/9

{(R1 =R1-(2)R2) ekad Jsl 4 (o 558 G 5 590 2 a ot 50

Do St (e sSra sl (o ¢ sl S e dal 5 S0 e 0 o)
|:- 16 209
13 -1/9

S LS e Ay (S e 3 Ada g glalaa el 0 87

S BB 4 A (S QlS e 4 GSoie d lae b g )l (alea a5y aS
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5x -2y =-14
7x+3y=37 (8

4 C oS dsw ol 6y (24l ) dsl ) 0o ie 2 QS g 4y dlae ] Ul slalae gl ) 59 0
Gla (S osSas b oS S a2V 4 hlaad g L asleaban o s S sl la (S8

NI SN
5 -2 X 14
X =
7 3 y -37

35S (o esSaa 0 S i allS 0 sl a4 a Soie 5alB ) 5 S

(@)
]

S b ad slgiia ae Ll low Sxa a0 s S e (s s ol 3 (S e 2 sale ] Gl
1)

SNosn OSie usSan ) g9 Sl s 0ot 3 )l aa ull 4y (&) jla sl giha
AS S o pm i e dslee 5l 5 S ALl 5 G ik a5 s Saike S J S5 Ay o
(3 S e U Sae 4 S i ) (L ph ey A5 sl o S e a5
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( R1=R1/5) (5) 55y 4 et Jlad Jl Ly

1 -2/5 1/5 O
7 3 0 1

(R2 =R2-(7)(Ru1)) 555 18 2 ootk a s34l 5l (7) 55l 3 o puia e J )

1 -2/5
0 29/5

(R2=(5/29 )(R2)  alSansn ol JUalaa gady jaaldiyy 98 jiua jlhalar 5

/5 O
-715 1

1 -2/5 1/5 0
0 1 -7/29 5/29
(R1 =R1 +(2/5)(R2) (SIS e (oo el Jgl Al 51 (2/5) 2 jea Ul aa g
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1 0 3/29 2/29
0 1 |-7/29 5/29

23 S e (s S sl (o o sl S e 2ad 5 (S e 0 sl (o S Jad

3/29 2/29

-7/129  5/29
Jis 8.7.1
L sl 6 laa o158 0 (JBapgl 6.18) Jlie o0 iisdan ashs o alaa 3V 1o

S 1 s a0 e 2 A5 5L ) ) seslaa

t s el sind dodde saas 1) S B Qi

Joint B
1.06El qg +(0.40El) q. - 0.40 El y, =576 (a)
Joint C
0.40El gz +1.067Elq. - 0.40Ely, =616 (b)
0.40E| gg +0.133El q.. - 1.6Ely, =750 (c)
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53
50

ull N

ull N

53 2
N + =
50 5
1067
_X —
5 1000
133
—_ X —
1000

58S A 4 GlA (S GlS ga 4y 89 e 2alae ) Gl galaa ek 5 )60 0

1067
1000

133
1000

ul ]|

UI|NJ
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BY

I
@)

195S B agesSan d s ) o s o Ll (630 5 658 da alalaa o (G e 3 el

B1BY=B1lC

B1BY=B1CC
(B B =1)
Y=B1IC

35S ale s Coaddee i aly 5l 558 1w B 3 (usSaa

G JEL 6 (S Ak a4y SIS Rk i alans )L 1S oy (8 e (s sSae
G sl e Sasie a5 o2 S o pm S b ddlas 568 ddlial (S5 e a5 45 GG e
s S e (S 4 (S i ) o Lo s

53 2 2
= = - = 1 0 O©
50 5 5
1067
= — .= 0 1 ©
1000
133 8
= — - = 0 0 1
1000 5
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( R1=(50/53)R1 ) ( 50/53) 4 s ji Jsl L

20 20 50
1 2 2 2 9 0
53 53 53
2 1067 2
: X .2 9 1 o0
5 1000 5
2 133 8
= 2 0 0 1
5 1000 5

20 20 50
= = = 0 0
53 53 53
48551 66 20
0 e T
53000 265 53
2 133 8
S = —-= 0 o0 1
5 1000 5

(R3 =R3-(2/5)(R1)) 558 Gl (o kb sy a4l 5 (2/5) 2@ ki
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20 20 50 T
= =2 = 0 o0
53 53 53
48551 66 20

0 = 2 1 0
53000 265 53
951 384 20

0 — -— - 0 1
53000 265 53

L S a8 A gl B as o dy oa e m Ay sy diad a4y allS aa

( R2=(53000/48551)R1 ). (53000 /48551) 2 pa jUai ap s Ly

20 20 50

= = = 0 0
53 53 53

0 ) 13200 _ 20000 53000 0

48551 48551 48551

951 384 20

0o - -— -2 9 1
53000 265 53

(R1 =R1-(20/53 )(R1)) 558 (28 (2 Jad gl 4l 51 (20/53) 2 i a9
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1 13340 53350 20000
48551 48551 48551
0 ) 13200 _ 20000 53000
48551 48551 48551
951 384 20 0
53000 265 53

1 0
0 1
0 0

LGS A8 m ) B Ay oa Jaemal Ay g5 dad A agalS a0

13340
48551

13200
48551

70590
48551

53350 20000
48551 48551
20000 53000
48551 48551

_ 18680 951
48551 48551
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( R3=R3+(951/53000 ) 558 gan oy i sy 3 4l 51 (951/53000) 2y sl aa g

—

0
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.( R3 = (-48551/70590)Rs ) . (-48551 /70590) 2 cua i oy o Ly

1 0 13340 53350 20000 0—
48551 48551 48551
0 _ 13200 _ 20000 53000 0
48551 48551 48551
1868 317 48551
0 0 1 7059 23530 70590

35S pan oyl Jgl Lo 5l (13340 /48551) 2y il ay

(Ri= Ry + (13340/48551)R3)

1 13340 8270 978 1334
48551 7059 2353 7059
0 _ 13200 20000 53000 0
48551 48551 48551
1868 317 48551
0 0 1 7059 23530 70590

555 aan oyl s gy alln 4l (13200 /48551) 2 pia jad a4

610



03 S e S sl (o co gl (S e 2al 5 LA 4y S e L 10 sl G o S dad

53
50

UllN

1067
1000

133
1000

B-l

ulnN ul N

ul |

(R2= Ry + (13200/48551)R5)

—

8270 978 1334

7059 2353 7059
800 2560 440
2353 2353 2353
1868 317 48551
7059 23530 70590

e
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8270 978 1334 )
7059 2353 7059
800 2560 440
2353 2353 2353
1868 317 48551
| 7059 23530 70590 _|




48yl Ay S sise 3 JalaT i 3 8.8

N S S dabansli Ay o )8 e 5 (S diaiay s i o Jleaiul (85 e
3058 b e

2SIy o daS Al (BE) cils 3 sl ol oS dee 38l Soe e 4 S dBe sy
_qu(m) Aaxd gy & D i

SR axs gsegy (S (i) st 4 (F) AS A (P) o) (a)s 2 ld sl mpe 0 aa
S (g) S sl alga sl

0 Lal adigagl AlNa g @ ol S0

! poadaS 4
dp= Y, F i (Foi Li)/(AE) (8.6)

L> Alsal g9l JLd adigagl Ji)a g 0

D58 B Jgo Y sy Adlaa (T 5 1

gy gl Qo oS ie K 0 (o by ) (8 Hsae i Al S0 e S Ablae (T4
o (8.6) e s dials o L S F o

19058 a8 5 e sy sdbla ga )3 (e 3 2 JaSHB o Ll S o) oA g (o D (alaa (e 0
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A2 Kyq F,
1} q22 kzz |:2
A, 31 Qs ka3 s

A, Qi1 dy; Qs k11 Fy
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0 0 2/5 4/5 0 0

0 0 0 0 87 a4/7

0 0 0 0 a/7 8/7

P Q S s Syer a0
Q Q;
-

g;@;B)“

M,




kAT

-33.08

- | -26.67
(S e KAT
8/10 4/10 0 0 0 0 0 0
4/10 8/10 0 0 0 0 1 0
0 0 4/5 2/5 0 0 1 0
0 0 2/5 4/5 0 0
0 0 0 0 8/7 417 0 1
0 0 0 0 417 8/7 1 0
0 0
2/5 0
4/5 0
4/5 2/5
kAT =
2/5 4/5
8/7 0
4/7 0
M, | M, | My | M, | Ms | Mg
Q| ol 1| 1] 0] 10| KoSieAidsass
Q,|ololol1]o0o]o0
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K = AKAT= E|

2/5 | 0
a/5 | o
ol 1| 1|01 1]o0
a/5 | 2/5
ololol|1]o0] o0
2/5 | a5
8/7| o
47| o
K = AKA" = E| 96/35 2/5
2/5 45
K S e (g San (Ad sl o
B 35/89 -35/178
K =1 _.35/178  120/89
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4 [ 35789 -35/178
X = [K Q] - [—35/178 120/89}

-27643/3560
= (VEI)
-5243/178

2/5

4/5

M= [ ][] 5

4/5

2/5

2/5

4/5

8/7

4/7

M] =[] [
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-27643/8900
-27643/4450
-80073/4450
-2667/100
-3949/445

-3949/890

-33.08
-26.67

-27643/3560

-5243/178



pc M; = -27643/8900 - 62.5=-3.11-62.5=-65.61

¢ M, =-6.21 +62.5=56.29
cB M; = -17.99-41.67 =-59.66
BC M, = -26.67+41.67 =15

CF Ms

-8.87+12.25 =3.375

FC M,

-4.43-30.61=-35.05

(S A o i s 2 O i Qe e ) 435k (63 4d gl s

Jlia awd 2 8.25

s je dza (5 )]s a8k 4 (S e 0 A5 s (S daal 4y g Yl Ciiese 3 (o a8 Y b

S At ol g8 Hda b i o AL JaS 4glan s
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q=5.0kN/m

12m

i O

N
25

30m 7m

Jha ad a 8,375

(S gl (S JSS paY oy Aisfage g2 3 (S A gy

15m

&_’ &/ M5
Ml

Agilage pf 3 mBa 837,55
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6 dse 3V Gy s S Paila 4 s Adlage JA sl S oe

Q,
)

M,

o,
T e FE

Q, Qs

6

Aigilage g2 & Ja b 838 J%4

Slomadla oilga o gy SAlaapilgaabouls s

XMatb Q;=M,+M;
XMatc Q,=M,+ M +M,
XMatd Q3=Mg

o & jlie 438 o) g0y pSoie A 243X e S0 sigla o

0 1 100000
A=10 0010110
10 0 00O0O0O0 1

(i g (S IS Y (52 4y A3 sTa s il S ) 50 ) e
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15m

30m 7m

s 25m J,
X 7

Aigilase a8 2By 8,395

D Ce BS ) (S m a8 sl (H e Ase ge 2l 2SCH

2 2
FEMp = - - = — % = -260.42 kN-m

M,,= 5 (5)(5/2) = 62.5 kN-m
2 2
rem, = 42 = B o6 4oknNem

12 12
2 2
FEM = - 45 = — BB - 375 in.m

2 2
FEM = - = (5)§—320) = 375kN-m

Mg.= 5 (7)(7/2) = -122.5 kN-m
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Q Qs Qs
- |

| -
62.5{1—) z(éczl_)?ﬁs 3}%) 1225

260.42
@S S 4 ady 8,405
adod jlie 438 gl esse e i Q 2 Adsiiage il S Al

Q, = -260.42 +62.5 =-197.92
Q, = -375+260.4  =-114.6
Q= 122.5-375 =-2525

WK S Al mp o mAd e Ao B e s R SR
(oo Joe Y Gy o) sl (B X B) aisallS il ) o jad il
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bc cd fb gc
4/15 | 2/15 |0 0 0 0 0 0
2/15 | 4/15 |0 0 0 0 0 0
0 0 4/25 | 2125 |0 0 0 0
[k} —El
- 0 0 2/25 | 4/25 |0 0 0 0
0 0 0 0 4112 | 2112 |0 0
0 0 0 0 2/12 | 4/12 |0 0
0 0 0 0 0 0 4/30 | 2/30
0 0 0 0 0 0 2/30 | 4/30
Al ga be (AT) D 15 oS ik A2
00 0
. 1 0 O
[AF 100
8x3 O 1 O
O 0 O
O 1 O
O 1 O
0O 0 1

(ssapaoym i s (AT) Dl 5 A GOSie Sl 5l (K) 0sSaise 5208 3w 8 2 ol
Al @jlbe o dials
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2/15 0 0

4/15 0 0
4/25 2/25 | O
{K AT} = El

3x8 2/25 4/25 | O
0 1/6 0
0 1/3 0
0 2/15 | 1/15
0 1/15 | 2/15

(Global Stiffness Matrix) K sSaixe o35 2 JislS a8 5

Sl Al ) 8G ie spbio g AT 5l 080 e Silin Al g 3 S e JslS Ak a a i
Do de aY u A S e
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2/15 0 0

4/15 0 0
0O 1 100000 4/25 | 2/25 | 0
[k}:AkAT: O 0O 01 0110 =

TSXS O 0 00O OOO0I1 2/25 4/25 | 0
Jisl€ Adaa i 0 1/6 0
0 1/3 0

0 2/15 | 1/15

0 1/15 | 2/15

tosS e sl oV saal g @ jle Ll sl pn 0 (G e S5 0

32/75 | 2/25 0

T_
{ k}AkA = El |l 225 | 4775 | 115

3x3

0 1/15 2/15

4l 63 O le (iNverse) us sSae oS sine JaslS o
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6675/2776 | -225/694 225/1388
-225/694 600/347 -300/347
225/1388 -300/347 5505/694

3 ssila S m b o a deala 5 S @ o S0 38 Goe A Sl dilS (o 4IS
Asila G w8 3 s AsallS gy gl iy sUad (50 S he L 8 (X) oS S Alay
S g A5 e Al Sl 36l S s 4 o> (0

J—

6675/2776 | -225/694 225/1388 197.92
-225/694 600/347 -300/347 114.6
225/1388 -300/347 5505/694 -252.5

((X) oS S (displacement) suS 4lan & sigiila o

1104351/2776

122244/347

-2873013/1388
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25330 (P o st se AT s e 3 a Lo sl ly (S0 e S Al dQils 3 2 4
i oplaals Jgo 3 u s S

M= |k AT] [X]

8x3

S i Gila 3 ) el S siae Sl 0 ¢ OsSoie SR 5 2 0 (S alilas oy
ool e A0S 1l I (alae 1 sl se dns ) 6 S 1 oal (lae S e 30 i s 435080 e
8N S s A m B Dgiese Lo i Y S
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M (kN-m)

8x1

709

2/15 0 0
4/15 0 0
4/25 225 [ O — —
1104351/2776
2/25 4/25 | 0
122244/347
0 1/6 0
-2873013/1388
0 1/3 0 ] - —|
0 2/15 | 1/15
0 1/15 | 2/15
S @A
368117/6940 53.04 fb
368117/3470 106.09 bf
1593327/17350 91.83 bc
612051/6940  ||=| 88.19 b
20374/347 58.72 gc
40748/347 117.43 cg
-631687/6940 -91.02 cd
-505/2 -252.5 dc



REOEII EFEI MK ATX Uigtase Gl s pd 0
A e 5a
M fo 53.04 53.04 kN -m
M; bf 106.09 [ 106.09 kN-m
Ms be 91.83 91.83 - 260.42 = -168.59 KN-m
Mq cb 88.19 260.42 + 88.19 = 349 KN-m
Ms gc 58.72 58.72 kN-m
Me cg 11743 [ 11743 kN-m
M cd 91.02 | -91.02-375 = 466 kN-m
Mg dc 252.5 | -252.6+375= 1225 kN-m

Ciiaga 3 (5 pa 4S (62 (g0 A gl g A e (gl 3 (pdsam Jluns Cilase 3 ) i sl Al
P R R L P PER VO S UL DI T NP IR AT T
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45 gl) g IS 1 8.26

S oal (olee ol Jis e o ) signS e o8 dagi ¥ 2 ]

3 2 1 2 0 1
A= 0 1 4 B=|1 4 -1
2 0 3 3 0 1
2 5 0 -2 > 7
C= 14 D=1 3 E=1-15
o 1 2 1
A +B (A) x (B)
A-B AC
D+E BD
AE
AD
A-l B_l
AT
DT
ET
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3 1 -1
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-1 50
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GBS a4yl 4 580 jine 3 alaa a1

1. x=y =6
X-y =2
2. X+y+z =6
X+2y +z =8
y+z = 1
S 1w (Determinate) Guiwe s (250 ke 2
5 8 40 50 -
5 7 30 35
2 3 4 5
1 0 0 1
— 10 3 -7 5 ]
0O 4 0 0
1 0 5 -2
2 0 3 0 -
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12m
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'%AI 9m ' 9m |
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SR 1w ai k4 S e 3 sl A A s e 3 il gaa (10)
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6m
B

A

A
6m

C ( RD &A \
8m

i
A
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S8 Ak 4GS e d sl B A m e 3 Y sy (11)

(12)
S Iy aiy sl 4y GG e 3 sl B A g e i (600
(13)
W = 2 kN/m
TR
C A
: . B
20 m 30 m \
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1.0 kN/m % 20kN AR
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10m L \ll 5m _ 10 m .
’I‘ 7
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< rl‘ Vgl

kN 6 KN/m
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| R s
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!
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(Dynamic Analysis of Structures)

el Saaline 9.0

s REAesb ) Ssh A S sln ) b SEhL S B n e (S sishad 504
5G5S Gl AU L Sopatie 2 858 il g d aadasila o s Jen Saly 4
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205 o= ) (buildings) somess s)50s) s w28 4 s ) (QUSE) b 2 ) 55k 4y 4350 4]

Osiegn (elastic) Sl Js spdhem dh 232 @2 g5 ppe b pal il ) A
DIk s ey clla dalad 5 )12 o 4d ) Qe o 4S 5« s ) deas
4 o (rigid mass) 4liS 43dis g9 4y ol y x> $8 Y S pigadiging o alS a4l A
pt Sibe g odbs g aS g8 Ay Jle a5 )S G bl (o5 (I L dim g 58 b Sy e Syl
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tod VS bl Jso Y oy e (g gh Ja gl S el 5 G
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<
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1 5l g s see 4 L Jad 52 0 (IS0 iy sund (S a4y G 1YL () Opdle ) an 0
potra U el s Sire s b (One degree of freedom) sl ) 4s )3 s g0 (53 auli 4y
03 Ll o )l 3 51 ga glaa CuaB g g) 43S A Al 3 (X ) )y

4 >) i (flexible) Jwasdi 4y 51 sV )5 (Stiff) 3w xig 0 (2 a8 o Jhadih
Al i a0 x9S Gl yge ¢ (9.2 LsA) 5H8 60 (A (b susl o (Sl

o S Jas 0d (A f (SPring) S 4y (o> 4S5y iy 3¥0a a8 503 ¢ 5B (Mass)
Cs ) aslea U s gl oa (Fme 62 63 dllas 31 )l 4a ) s o (S Glla o3y (9.2 L)
98 s Sy dae b5 o6l N9 o e Ay g Cual ge i85 3 (a0 S 4 (X)

FAmAL
R SRS AR e

X :
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}"I' %) .
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RN TR
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Gl (a) o O NG o) B 9.2 sl

Qe A F s (Ost) 2 o)l 4 ale Al (W) 05 3 S (S (9.3) Ll ¥ sy
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AAA
-

2 K
g k T Lm_r
.r] — m Th:
w o= |
, y m
Fi(t) !
%F - F(t)

F(t)

Al Sl 3L 4B ) (3 29,398

2 W ) (spring constant) <uiuilS S jaw by jaed Gl 53800 (K) S (9.1) adalae (555 4
(A S S 4 Jui A g g o @ ars A jle el H8 Y 0 )y onile
Ja e agal S S aaaly K 26 s gHle das a5l el S S aaly (52 o S
(S5

o)) 4 a8 s P )5 o) S5 dee G 4y ol (Sl Lo B (e AL g (5 e 4S
Gist o .l (free or natural vibration) o)) (x5l 3131 3 awbiag o) )1 Jsa 1o (Al
o> 08 ARd 403 (5 sbuse Jpaad 3 e (M= W) Ose L AlS (oo 00 ST (sl 4 (538 aa 50
a0 (derivative) sisn b Gile aa gl o Cjle daad iy (o580 by sl 4y il 0
el )W sl b g S dae plupu dy (S Alla 4y )10 a o ara 03 (X)
W =kx 4 6 b (S S

Addlas &S ja 3 i 3 0.

phsd isat S aakale p 4o ju gl AaS4lan (9.3 L) M S a5 )
P IS Js0 Y sy Alalae (5538 ab 50 Gisai 3 L5 S T o e (Jalee (538

F =ma (9.2)
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Y dead ssdilana }\5§d4;@m A4y aodofdaxa F (S (9_2)413@4_“34353
fed S IS ar o pu A Al diai s 922 alilas

SF, = ma,
*F, = ma, (9.3)
2F, = ma,

)ﬁé&.\jddm&my \Je)uduaiu\‘\;\émdé\j 9-2 d.ﬁ\.:m}\ 0-3 in_,\c\j

Y% = W- (W+kx) = -kx (9.4)

g

L Gidia pa 50 X 5 0 52 13 o2 (e 53 6538 S e 3 X3 K02 (S (94 ) llas 4y

2> ahles (Differential ) dinin ad o s by g3 43 &g Lk (derivative) s s s a5
138 R ol da (o adly gl e A ey

X = A cost (ot) (9-5)
X =B sin (ot) (9-6)

> Al e A Shy e al m K 2 a rass )l ald AB (S£9-6 ) 9-5 Al 4y

G 4S Gl s 3 Cuald (S3 @ S sl gy oS s @ CSsaag sl
(5 ol a ilaad 5 S 14 4 518 S (9-4) 4Alslaa 43 (9-5) Alslas

(9.7)

(-mw? + k) A cos(mt) =0

o a4 6 shas (-ME2 + K) o> 4S 00 Cinaa Gd g 4ih alilas
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(-mw? + K) =0
w2="% (9-8)

m

m:J% (9-9)

23 (frequency ) o558 su)dadiwwy @ S 9.9 dilaqy

s B 6B A Qo o da (alae Ji ja0 B 0 248 g adle 4
X = A cost (ot) + B sin (ot) (9-10)

1SS (Ce ) Wiy 3ide 9.10 (a2

X =-A o sin(ot) + B o cos (o) (9.11)

1555 M (120) S S alin g g b4 Alls a3 B 5l A i)l <l 9,11 (Jalawe 0

0
X = X, (9.12)
X =V

B ald (£9.11 5910 ey aigisylly aals
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(9.13)

16 S Alalae o2V 13 o Jeala 5 58 GA 4 A S 9-10 4 9-13 Mlae

X =y, cost (ot) + = sin (0t)  (9.14)

G dg 5B a3l PR B U 4SS hy X Cumdge sS4l 1€20-14  4lilas
SIS oy CumBga o (S tadaal o a4 (aduse 9.3 oAl )2 b i 4 (e g0 s o

L (sine) gl 2 5l s (Harmonic) Sile s 244y a5y 050 &S a ol adalaa 1a

2 (period) 2sm s . @S dass oy (i S 8 (s (> 4daul 5 (COSINE) (b sS
L Ske ES A

ol =2x
(9.15)
T=Z
' (T) e

A5 aldew 93 3 9.4 )93
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03 (i 5 8 Jad 350w 3 e sSae

(9.16)

=

(9.15) dabes 4y 50 S (CpS) 4l o 4 JSolu b (hertz) 3 2 sl (f) isSad dos
natural ) isSo 8 dosiaaabiay fL V34 (2n) 2ol 4 dh pdd @ 508 o f
sl ol S db i sSo 8 o a4l b Gl 24l 4 o s (frequency
() 558 S 2 5 62 (CPS) S 4l ISolu aaly uwisSo i doaia (s 1 B8 a0
2 S (rad/sec) 4l 4 cpyy asl

Jba Jgl 9.2

35S M (o 50 58 J a0 Al a ) salIS oY (g0

ASHBG W iy san04 sl

) S dses8 sl sisis ) suY sl

® =/ ko/m
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ln Jsens8 a0 Gy (248 4l 65 b Gl (e 4 (2 28l Goe o e osliES 0
(S

dphie s |5l pdale Sl s s E ol (sl pu 2 Lo dsd Goe P S dsustsr 4y
(5 Ciia e Ll i)

E steel = 20e6 N/cm2

ol sale Sl gl 63V 58 3
g= 981 cm/sec” ©2 Qg daaad Sl o

s Jas S s Y 62 4 s Jsi 0 Ll

JsS oy isSa  duais 9.0 dsa

1 2 3 4 5 6 7 8
cdsaleculaila | (dsagslan | glii)) alean | aieans | (Gisd) 0)s]| (D)4l | Chieges Lyl |2 culi o

E (N/cm?) L (cm) h (cm) b (cm) w m=W/g 1=(1/12) (bh’) ks

2.00E+07 50 2 0.5 200 0.204 0.333 20

9 10 11 12 13
)l Sy j an o Sk ) Gl pl Sy s apue Col s Siopan ] (i S8 (s | i S8 J b
k, =P/A =(3E/(L3) Ko =1/(kg) +(1/ky) K gystem =1/ ke o (rps) =(k/m)*? |f (cps) =(w/2r)
1.60E+02 5.63E-02 1.78E+01 9.34E+00 1.49E+00
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Jlia a2 52 9.3

Sl B8 5 5l 59 a8 (Sams) 2 (rigid) S s 10558y (i S0 8 d s e b Y s
Gl a5 IS 5l o ) e a8 G LRI G5 sl 5 S5l S0 (5 S dee il 508
S pa(odi ) S) (S (o (6 St 0 ) (G 6 pu (3 sl A gl JAy (S8 aa o) 5 S5 o

FAP SRR QUILIPERE

x5 10 kN/m F(t)
X a
Ks
%_/\/Wv\_ W F(0)
5m
(OO K _ A2EI
column (_h3_ ) v
DSNRN\N
sisallS 5l a8 2 03V (9.5 @) I|< 15m >‘

S8 des sallyg F(t) o8t o5 (> A 95 sl

3 I (sl (9.58) Lsidl (bl 4y 058 ot 53 (a5 o) (15

F(t) =k x = mi
(9.16)

F(t) =k x - mx =0

1 dag (S s oY o 4y Sliulae I3 5168 oy (ond 550 8 J a2 o) Lailiad

JsS S8 Jaia 9.1 Jss
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\ 2 3 4 5

Ol sale Cla o) o | Uil AU 3 [(Cs) Gos| (Lele) ABS | Ciiage o5 L

E (N/cm?) h (cm) W(N) { m=W/g {I(cm" <1>
2 00E+07 500 |150,000| 152.91 2,330
6 7 8 9

e cul Ky 2 . . . 3 & 3y e ; 3 G

Ks nemy =(12E
@niL®) <2>
8.95E+03 8.95E+03 7.65E+00 1.22E+00

K system =K's o (rps) =(k/m)Yf (cps) =(w/2r)

Lg}fijjqqa__\).hmy\TpZ}\oﬁ&dddga@hdjd>

_(12|5|/h3)4jaaa)14:_bﬁwg\mgs@u*hbﬁ;&jw‘ﬁ\,sﬁﬁehsﬁ“,;s’susig <2>
35 potra sl 3 Alla g g 80 o) F(E) 08! (S o> AIS con alilaa Jliy 30 9,16 4dilas
ot saS lay (S Gagaadaals p g aas iy o

A3y ol (pd S IS a3 2 9.3.1

135S ol s i S IS e 5 2 433 By eail 4dla

>SS lap da Alalee Jiy 580 0 (S gl Qa0 (o 00 dplas 5 g Gl S S0 e s
35 oty WiSGa gl aliald (Sandio a4y b nd Jolal gy 0agy alialald
35S Al s Ak iy ol lee (50 (el S JSG e s 3 L sopla Aalae Jiy a0
(s Jiud) 43S gl oy i s dinad gl Dl g aliald o gig p o) Slalal e A SG A

By nad dSla daliag oS Qg gnd b o8 a4y (1) Qi 5l o2 Cd g0 i abiald
1SS s ol X Abald aS i ay JUie 2 (5 58 SKida 5y By b i
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S (P-1) 4wl g od o FSAadgalali X(pg) 5l P daedy el b S50 (Xp) Alald (5 4S
(9.16) (shbas 4 (Lsli 3 (S () oo 4l 4y 22353 (¥) dined (oS s 53y .55 5.5 oy
55 Y S lay

fet 1S o J g9 1Y sy aliald S apdaly Sl il g4y e

OV () At ©.17)

av

(p+1) 5! (p) 4xd 2 o 4 (average velocity ) LiSia Ll (% av) S (9.17) lalas 4
fe S lay o Wi sl gl g )l el o a0 (AE)

_xP)_x (p—1)

P b A Y (9.18)

3 Al by dan aa 53 03 (S (P-1) ) (P) 2 O 4 WSS Ja ) (9.18) Adalas 44 4vas J
G S s 903 Gmag et da gl sl s s A oAl (sak g8 g ) on (g0 4y LSO

e S s S A 4 6l (£(9.17) 4 (9.18) 4alas o 4K

N PN BN I (p)(At)Z (9.19)
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£ (D) > (9.16) (hban 4l 5 5V lay Aloolh o s s (S5 3 (9.19) Alban 4
o3 daslaa ot F(t) o8 o) 59 aslaa sy XP) ASA 55 (¥ S oy i) )

alilre (523Y 13 o) 168 lap alials (5,0 sid cus )l X PD a5 t=0 o 4l ol i gl 0
(EBBES

x M= 1/6(2% 0+ x D) (A p)2 (9.20)

S B il )18 09.2] alae ailV Al (5540 jia (S 120 And 4 el o 4S
e il 120 4 G 4S5 L d S i) 48 il a3 (524l ab o )l gudi 4l )
Gyl Jgl Ay b o) Gl a2 S el JA gl 3 it |G Jleatind 0L 9,20 s
_oJJLSAgAJJLLALgﬁY \Jo)\:ﬂ)ﬁjé.lm}‘)jdj\ u_md,\sj

x D= 1/2(x @) (A )2 (9.21)

d)ﬁ&}ﬂuﬂ@sﬁdu\dﬂw&ﬁjéd}\ﬂm\J

S90S e sy

Jéa 3,2 9.3.2

dee 2 Dby 4y b dags (S sA GaY ey (o dilds g o F(T) o Saaliy JUha ab a0
528 (gl Sedliy S as o i dai A b aS alan a B0 o> 508 S
S
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(F(t)=1600t +200)

400 |-k (F(t)= -4000t+900)
= A\
— 250
o

0

0.1250 0.175 t, sec

Time t (sec)

S8 R mA Ay A Mgy il Fgr Sl 10,6 LAl

N 1 kN/m F(t)
X > A
ke«
%_/\/Wv\_ W F() 5m
Q Q
S S
15m R

sS e sy F(t) osfos > mA95 sl

160 A Y By (o Dladide 558 Jagd (S (9.5a) LAl 43 (2 Ol YL o Qe a8

K =8,950 n/cm

m =w/g = 15.3
f=3.85 cps

T=2n/W /kg

T= 1/f=1/3.85) = 0.259
1/10(T )= 0.0259

0.025 sec = el G Sl 2l @50
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JsS lay i S 8 Joaia 91 Jsa

1 2 3 4 5
oo culai o [ gl IS o | (i) 03 (crle) Al Ciiage o3 Li
E (N/cm?) h (cm) W (N) m = Wi/g l(cm®)  <1>
2.00E+07 500 15,000 15.29 2,330.00
6 7 8 9
se Cull ad ) cull s S | i sSah ilys | S d ol
Ks nvemy =(12E
k =k o (rps f (cps
(2|)/(L3) <> system —R's (rps) (cps)
8.95E+03 8.95E+03 2.42E+01 3.85E+00

. (0.025) 43 52 b 4an 5 5 S edd (period) 2sm 2 and gy s 4o Cud )l ol s 08 2

Do IS Y o el 4y () 68 aa g0 (g D

F(t) —kx - m¥ =0

F(t) —=8950x - 15.3% =0

(9.22 A)

=
]
g
~~
—_—
0
@
-
=
I
o))
(00)
@)
X

_______________________________

13 45 203 950 Sy (e 4) 3 4k 3 51 438 (1/15.3)F() oS 9.22A Ablas oy
s Jagn (S Jeaa A sy axa gl S
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i gis )l 95l Sy (e 9.4 dsa

LS st O 4 iy a3 i3l ad s | 2D
cm/sec
t (sec) (1600t+200) ( -4000t +900)
0.000 200 13.000
0.025 240 15.600
0.050 280 18.200
0.075 320 20.800
0.100 360 23.400
0.125 400 400 26.000
0.150 300 19.500
0.175 200 13.000
0.200 200 13.000
0.225 200 13.000
0.250 200 13.000
0.275 200 13.000
0.300 200 13.000
0.325 200 13.000
0.350 200 13.000
0.375 200 13.000
0.400 200 13.000
0.425 200 13.000
0.450 200 13.000
0.475 200 13.000
0.500 200 13.000
0.525 200 13.000
0.550 200 13.000
0.575 200 13.000
0.600 200 13.000

« 26.0 cm/sec? 4 2 s (/15.3)F() S (At) = 0.125 4wd 448554 Jls s

Sda ol cn . 13.00 cm/sec? 4 s sl (1/15.3)F(t) S (0.20s€eC ) 4w 4y
Ao duda sy a1.0sec s S dbe a5 aS lap aisis ) )l 4l i and L s
2S95 Jendy meaVay 2hdasny Sl Sopay oa b sl e S lan (S gud

SRS A 4 A 68 KU 1.0seC o> as Al gig s daags)) s 9.22A il
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((t=0) il 5S¢ g

4 d S dsaaa Al Ah a4y )bl (AL) i p ) )l 585X 2 (S 9.22A 4l 4y
S sl

Joi 2w 3 and 4 5 (T/10) o)) 2l 58 3 02 Jia (X =0) 4lald S (At=0) 4 4
(S

(. x0025
--------------- e ()
And P-1 4d P 4pd P +1

ét =0.025 ng

6ol s aY u 9.22A b ad syl § Jasati 2
X =(1/15.3) F(t) -585x =(1/15.3) F(t)-0 =13.0 cm/sec?
SSeBuela SASaslaas))lk@anz
% 9(A )2 =13.0(0.025)2=0.00813

(63 e (St=0 and )l b gl S S e R g )l o ald

11=0.025 4uwd

S A8 g ) ) i Ol 4y i (g e i 2

t=0 t=0.025sec t=0.05 sec
L ®------------ @-----------3 > X(1)
and P-1 and P Aand P +1
%t :0-025se§ I(At :0.0255e>c|F
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adiy 5l ol sis Gadie t= 0.0 sec p-1 4d; o Giint=0.025seC 2 p 4wd
S t=0.05 sec pivie ptl

S A mnay a Sl (8.4 ) 3l Saeling e 2 ) (1/15.3) F(t) 2
15.60 cm/sec? 4 s> s sbuw 558 IS

s <yl B8Bx

A 89,27 il Al iy )l x

x ®=1/2( @) (A )2
x ® = 1/2( @) (A )% = 14(13)(0.025)2= 0.0041

585x = 585 (0.0041) = 2.377

U I

Sal IS 9 22A 4lea 4l
% =(1/15.3) F(t) -585x = 15.60-2.377 =13.223
sl X (A)? 2
x (At)? =13.223(0.025)2=0.00826

: t=0.025+0.025= 0.05 4
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958 A8 ik ) ) Jsi Gld Ay ol s 58 i 2

t=0.025sec t=0.05sec t=0.075 sec

® - Q- @3 > X(1)
A P-1 Ay P And P +1

At =0.025sec|At =0.025sec

|\ r|\ rl

ptl 4nd o 2 e t=0.025 sec p-1 4wd .2 et = 0.05sec 2 p 4nd
S t=0.075 sec (Huin

Gl 5 IS (S S a4y (2 Bl SO Al gl Sl (e 2 syl (1/15.3) F(E) 2
. 18.20 cm/sec? 4 2

Gyl 585Bx 2

b g sd 2 (XP) (S Aldlaa ) Al IS 9.19 (Malbee Al L 1S g Casy )l X
(2 a3, (t=0.025)

X P*D= 2x® -x D + % P (A £)2 = 2(0.0041) — 0 + (13.223)( 0.025)2 = 0.0164
585(x) = 585(0.0164) =9.59

S K 9.22A (hlee alojld cui )l ¥ 2

% =(1/15.3) F(t) -585x =18.2 -9.588 =8.612

cul & (AL 2

¥ (AH2 =(8.612)(0.025)" = 0.00538
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: t=0.05+0.025=0.075 4

95S an AS i ) ) JgF Gli Ay omdi s s 2

P+l 48y 5l 2 (afu t=0.058eC p-1 485 .2 padiut=0.075sec 2 p 4nd
2S5 t=0.10 sec e

Gt 5 d IS (S Al o slR 4y oa ol Sl al o6l Sy e 2 syl (1/13.5) F(t) 2
20.80 cm/sec? 4 2

Gyl 585x 2

t=0.05) sl s )i 2 (XP) S aalae ) 1ola) S 9,19 (alae 4l o)Ll o1 oy oyl X
(opS Gln iy )

x P*D= 2x® -x D + % P (A £)2 = 2(0.0164) — 0.0041 + (0.00538)= 0.0341
585(x) = 585(0.0341) =19.948

Sa) JISQ.22A e cai)) Ko
% =(1/15.3) F(t) -585x = 20.8 — 19.948 = 0.852

sl X (A)? 2

% (A £)2 =0.852(0.025)° = 0.00053

t=0.075 +0.025=0.10 4ns
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95S an AS i ) ) JgF Gli Ay omdi s s 2

p+l 485 5 g3 pinin t=0.075sec p-1 4dy .o pddint =0.10 Sec 2 p 48,
S t=0.125 sec (piiv

Gl b IS (S S aa a4y (a al Sy Al 3 ) Sl (S e 2 ) (1/15.3) F(1) 2
23.40 cm/sec? 4 2

3 (XP) S Aalea s2) 1 lA) IS9.19 Jalae Al o jld oSlay syl x 2 iyl 585X 2
2 Gyl (120.075) ol s 9 L

X (p+1)_ 2X(p) X (P-1) + Q) (A t)z
= 2(0.0341) — 0.0164 + (0.00053)= 0.0523

585(0.0523) = 30.62

3B A A Gl (S U Y 4 a5 IS Ol Gy
S sy G g ald Al 3o Sy (S g il gl aliald ¢ Jus A a3

i da g Jad a8 95 Jen
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1 2 3 4 5 6 7
0.0654F(t) ) ¥ i (AD)?

t (sec) F(t) cm/sec? X (cm) 585x cm/sec cm/sec? cm/sec?
0.000 200 13.000 0.0000 0.000 13.000 0.00813
0.025 240 15.600 0.0041 2.377 13.223 0.00826
0.050 280 18.200 0.0164 9.588 8.612 0.00538
0.075 320 20.800 0.0341 19.948 0.852 0.00053
0.100 360 23.400 0.0523 30.620 -7.220 -0.00451
0.125 400 26.000 0.0661 38.652 -12.652 -0.00791
0.150 300 19.500 0.0719 42.058 -22.558 -0.01410
0.175 200 13.000 0.0636 37.216 -24.216 -0.01514
0.200 200 13.000 0.0402 23.521 -10.521 -0.00658
0.225 200 13.000 0.0102 5.978 7.022 0.00439
0.250 200 13.000 -0.0154 -8.997 21.997 0.01375
0.275 200 13.000 -0.0272 -15.929 28.929 0.01808
0.300 200 13.000 -0.0210 -12.284 25.284 0.01580
0.325 200 13.000 0.0010 0.605 12.395 0.00775
0.350 200 13.000 0.0308 18.026 -5.026 -0.00314
0.375 200 13.000 0.0575 33.610 -20.610 -0.01288
0.400 200 13.000 0.0712 41.658 -28.658 -0.01791
0.425 200 13.000 0.0671 39.228 -26.228 -0.01639
0.450 200 13.000 0.0465 27.208 -14.208 -0.00888
0.475 200 13.000 0.0171 9.994 3.006 0.00188
0.500 200 13.000 -0.0105 -6.121 19.121 0.01195
0.525 200 13.000 -0.0261 -15.245 28.245 0.01765
0.550 200 13.000 -0.0240 -14.042 27.042 0.01690
0.575 200 13.000 -0.0050 -2.952 15.952 0.00997
0.600 200 13.000 0.0239 13.971 -0.971 -0.00061
0.625 200 13.000 0.0522 30.539 -17.539 -0.01096
0.650 200 13.000 0.0696 40.694 -27.694 -0.01731
0.675 200 13.000 0.0696 40.724 -27.724 -0.01733
0.700 200 13.000 0.0523 30.617 -17.617 -0.01101
0.725 200 13.000 0.0240 14.069 -1.069 -0.00067
0.750 200 13.000 -0.0049 -2.870 15.870 0.00992
0.775 200 13.000 -0.0239 -14.006 27.006 0.01688
0.800 200 13.000 -0.0261 -15.268 28.268 0.01767
0.825 200 13.000 -0.0106 -6.195 19.195 0.01200
0.850 200 13.000 0.0169 9.897 3.103 0.00194
0.875 200 13.000 0.0464 27.123 -14.123 -0.00883
0.900 200 13.000 0.0670 39.186 -26.186 -0.01637
0.925 200 13.000 0.0712 41.674 -28.674 -0.01792
0.950 200 13.000 0.0576 33.678 -20.678 -0.01292
0.975 200 13.000 0.0310 18.122 -5.122 -0.00320
1.000 200 13.000 0.0012 0.693 12.307 0.00769
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Sl Gagadada e B
8950 nfcm X = (S 4udgyod

-0.0200

kel
-
1 00800 0.0719cm =643N
:’3‘
i 0.0600
3
A, 0.0400
= 0.0200
(&)
=
5
c 0.0000
3 0.000 . : . 1.200
K]
o
A7)
=

-0.0400 435 (time in sec) iy

(S g 3 Al o g8 Ay Al Ad 9 gl g Souallnd 3 AR A s B0 9.7 Al

o8 Saalind 643N 4 62 ssbue 503 (S 506 0.15 4pd LAy ay oy jh 3 AaS 4lay alac)
653 b 53 pimie 3 Sy oml s 03 (00N 350 Seiline s 1.61 058 13 .55 b o b 4 on
(st g8 (S ki (S Qw4 s (Damping) Sipes 453

A gl Syl 4a 2 dad g 9.4

An o33 Ay (50 Ol 4y el Sl a0 g0 Jilad Sl 58 g Sialy) (a3 et 520
L dsgaeosasng S )il o S 4 das A L4 (parameters) el o050 (S alus
S polra Al R g0 JNA A Sl 3 (a6 S Xo ) X1 SRR (g0

‘: kl k2
ML M, W] g, Ly

“ >, L, XZFz(t)
— RO R0

O L) sl 9IS 99 939.8a  Usad)
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KiXq

0 Kao(X2 —X1)
w5 v R0
M3, 2(X2 =) M5,

A€o jp agaigngd 9.8p sl

plstes 42 ) ab 93 9.8 LA

Jags s X2 5l X143 (Masses) sBS 5933 Jud sa g el 1 990 sy (S )RS T a4
(53 45 el g Jsaslea sigsl (e sl dae Sl 68 K0 san 0 o )l SES 0 (S A s 5 5

(gl g Sl a8 a2 90 2941

Sdsh e Osis sl B A s 0 Al e p 4y 65 (S O Sl o) Sl 43 Al AlS 5 8
3 S 0 Callia adaea 1B (Ll i) o B (5 a5 o8 (sladi il 2 aa g0 e B (AN Sy
S5 D s A

S(Kx, + M, %, )+ F,(t) + K,(x,—X,) =0

M, S 2 o))s

-((Ky(x,—x,) - M%, ) + F(t) =0 M, o5 5 0315
Fi(t) = (KX, +M, #,) - K,(x,—X,) =0 M, S 2 o))
F,(t) = (Ky(x,—x,) + M,%,) M, IS 2 o)) 58

o> A L6 UL 4 s (a3 G 2 ARk 4 Gy S UKo e s sl (a0 553 s dsla
od s salae (NS (58 3 G G50 a8 A 0 (0 s e 50 S5 1o
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S S 58 S @ des 62 a5 a5l 8 Sl 050 a8 Y o 4y 1Jle
jJS Jau e.i_)&‘\_\ aJAQ\

1500 N/m
X2
L A
| 5m
3000 N/m X
1
- —>
5m
| =2000cm*
15m
Gl 035092 9.9 LA
—»X;
—» X5
D —» Fy(t)
_/\/\Q/\/\_ M, _/\/\k M, I—» Fa(t)
= TQ ?

O VL) Gl 0353092 9.9a LA
162 U9 sy 4 saae Sl (SPriNgS) sis8 i 2 .ol Gyl (S didadag 5 Jaigihs S o

W, = 3000N/m x 15m = 45,000 N

W, = 1500N/m x 15m = 22,500 N
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2000 cm’= e (slusi i SIS 8 o
K. = 12E1
1= 713

K, = 76,800 n/cm

K, = 44,444 n/cm
M,=W./g =46
M,=W.,/g =23

F.(t)=kx, +m, %1 —ka(x2 —x1)
Fo(t) = ka(x2 —x1) + m, %2

X1 = (1/m)[F, (1) -kx; +k2(x2 —x1)]

X2 = (1m,) [F,(t) - k2(x2 — x1)]
¥1 = +969(xp —x1) +1.09 -1674x,

¥ =4.36- 1938(xy — x1) (9.23)

A Gl 6 S dee om sy a3 S

F,(t) =50 N
F,(t)=100 N
M k g T
46 76,800 981 0.15
23 44,444 981 0.14

At=1/10T=0.01
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S S el da o (kA 08 S UKo pass Al adls ) g (Dalae G ST 5 (9.23) Alalas

((t=0) il 5S¢ g

3y Al a R Ay e Ul (AL) el g2 2 i ) 969(Xo-X1) Y (S 9.23 Al 4y
S8 A 4 A (S Jsan 2 AlS agi 4 (1939(X2-X1))

03 sia (X =0) dhali (S (AL=0) 4l 4

el %=0.010
S S @ > XY
i Pl AwdP 4 P +1

ft =0.010 sec

6ol Jso aY u 923 b Al syl Jaaadi 2
Xy =4.36- 1938(xp —x1) = 4.36

ol ¥ (ADD)4

4.36(0.01)> =0.000436

LSJ‘“—’,)L.‘QMJJ\XZ L_A..a\ﬁ d
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X ,= 1/2(x;) (A t)?
x ® = 1/2(% ,V) (A )% = %(4.36)(0.010)2 = 0.000218

¥, = +969(x, — x1) +1.09 -1674x, |
¥, =1.30

X 1= 1/6(2 x + %,) (A 1)2

X ,= 1/6(0 + 1.284)(0.01)2 = 0.00002
t=0.02 sec

x= 2(xr —x® D +¥p (A 2 = 2(0.00002) -0 +1.3(0.010)2 = 0.00017
%= 22 —x® D +¥r(A D2

%, = 4969(x, — x,) +1.09 -1674x, ]

S8 s ¥ ol gigiu )l 5 802
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1 2 3 4 5 6 7 8 9 10 11
t(sec) | x, 1674x, |00 ¥4 H(807 X2 XX, 11938(x,x)| X %(A0°
cm/sec?
0.000 | 0.000 0.000 0 0.0000 0.000 0 0.0000 0 436 | 0.000436
0.010 | 0.00002 0.000 0.211 13012 0.0001 | 0.000218 0.0002 0.380 3.98 0.0004
0.020 | 0.0002 0.290 0.640 0.3495 0.00003 0.0008 0.0007 1.280 3.08 0.0003
0.030 | 0.0004 0.603 1.354 0.7512 0.00008 0.0018 0.0014 2.709 1.65 0.0002
0.040 | 0.0006 1.041 2.156 1.1144 0.00011 0.0028 0.0022 4.312 0.05 0.0000
0.050 | 0.0010 1.666 2.854 11877 0.00012 0.0039 0.0029 5.708 -1.35 -0.0001
0.060 | 0.0015 2.490 3.307 0.8164 0.00008 0.0049 0.0034 6.613 -2.25 -0.0002
0.070 | 0.0021 3.451 3.462 0.0111 0.00000 0.0056 0.0036 6.923 -2.56 -0.0003
0.080 | 0.0026 4.413 3.367 -1.0457 -0.00010 | 0.0061 0.0035 6.735 -2.37 -0.0002
0.090 | 0.0031 5.200 3.144 -2.0561 -0.00021 | 0.0064 0.0032 6.288 -1.93 -0.0002
0.100 | 0.0034 5.643 2.933 -2.7099 -0.00027 | 0.0064 0.0030 5.867 -1.51 -0.0002
0.110 | 0.0034 5.633 2.839 -2.7936 -0.00028 | 0.0063 0.0029 5.678 -1.32 -0.0001
0.120 | 0.0031 5.154 2.888 -2.2666 -0.00023 | 0.0061 0.0030 5.776 -1.42 -0.0001
0.130 | 0.0026 4,297 3.019 -1.2777 -0.00013 | 0.0057 0.0031 6.038 -1.68 -0.0002
0.140 | 0.0019 3.225 3.111 -0.1138 -0.00001 | 0.0051 0.0032 6.223 -1.86 -0.0002
0.150 | 0.0013 2.135 3.034 0.8997 0.00009 0.0044 0.0031 6.069 171 -0.0002
0.160 | 0.0007 1.195 2.705 1.5098 0.00015 0.0035 0.0028 5.409 -1.05 -0.0001
0.170 | 0.0003 0.507 2.127 1.6192 0.00016 0.0025 0.0022 4.253 0.11 0.0000
0.180 | 0.0001 0.091 1.402 1.3110 0.00013 0.0015 0.0014 2.805 1.56 0.0002
0.190 | -0.0001 -0.105 0.702 0.8070 0.00008 0.0007 0.0007 1.403 2.96 0.0003
0.200 | -0.0001 -0.167 0.209 0.3762 0.00004 0.0001 0.0002 0.418 3.94 0.0004
0.210 | -0.0001 -0.166 0.062 0.2279 0.00002 0.0000 0.0001 0.125 424 0.0004
0.220 | -0.0001 -0.126 0.304 0.4298 0.00004 0.0002 0.0003 0.607 3.75 0.0004
0.230 | 0.0000 -0.015 0.867 0.8817 0.00009 0.0009 0.0009 1.734 2.63 0.0003
0.240 | 0.0001 0.244 1.599 1.3551 0.00014 0.0018 0.0017 3.199 1.16 0.0001
0.250 | 0.0004 0.730 2.313 1.5827 0.00016 0.0028 0.0024 4.626 -0.27 0.0000
0.260 | 0.0009 1.481 2.847 1.3663 0.00014 0.0038 0.0029 5.695 -1.33 -0.0001
0.270 | 0.0015 2.461 3.120 0.6594 0.00007 0.0047 0.0032 6.240 -1.88 -0.0002
0.280 | 0.0021 3.551 3.147 -0.4040 -0.00004 | 0.0054 0.0032 6.294 -1.93 -0.0002
0.290 | 0.0027 4573 3.025 -1.5480 -0.00015 | 0.0059 0.0031 6.050 -1.69 -0.0002
0.300 | 0.0032 5.336 2.890 -2.4466 -0.00024 | 0.0062 0.0030 5.779 -1.42 -0.0001
0.310 | 0.0034 5.690 2.854 -2.8361 -0.00028 | 0.0063 0.0029 5.708 -1.35 -0.0001
0.320 | 0.0033 5.569 2.962 -2.6067 -0.00026 | 0.0064 0.0031 5.924 -1.56 -0.0002
0.330 | 0.0030 5.011 3.172 -1.8398 -0.00018 | 0.0063 0.0033 6.343 -1.98 -0.0002
0.340 | 0.0025 4,146 3.367 -0.7789 -0.00008 | 0.0060 0.0035 6.734 -2.37 -0.0002
0.350 | 0.0019 3.150 3.408 0.2579 0.00003 0.0054 0.0035 6.816 -2.46 -0.0002
0.360 | 0.0013 2.197 3.186 0.9885 0.00010 0.0046 0.0033 6.372 -2.01 -0.0002
0.370 | 0.0008 1.410 2.673 1.2629 0.00013 0.0036 0.0028 5.346 -0.99 -0.0001
0.380 | 0.0005 0.834 1.942 1.1080 0.00011 0.0025 0.0020 3.885 0.48 0.0000
0.390 | 0.0003 0.444 1.150 0.7063 0.00007 0.0015 0.0012 2.301 2.06 0.0002
0.400 | 0.0001 0.172 0.489 0.3175 0.00003 0.0006 0.0005 0.979 3.38 0.0003
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0.007

0.006
0.005

0.004
.1333_..\3..:;4\
(Amplitude)

0.003
0.002

0.001

0.000
O.TOO 0.050 0.100 0.150 0.200 0.250 0300 0.350 O.4OT 0.450
-0.001 ‘

\ (T) 2o ‘ (T) o

‘

Gl cdgy Judd Gl oo 1910 LAl

5 Salins TOON 43 (53 5 shsa o) 03 oS 5215 0,07 sl L iy 4y o 3 45 A 4l jalic
63 O g Saie 3 Sy (oo g 03 (100ON) ) Sl s 1,60 o8 b s S Lmdag
s dsd o (S ohia Scugaa (Damping) S 454

(Damping) <<uss 9.5

ol ad 35l (Saalinn 20 6501 b OS pa (S5m0 a0 03 0y (ol 53500 ) a0 Sy
o el ebiel leiidiin e o) 9 Ny oS Lo asl (Syer s AS oS o) a9 )5
_Lﬁulja@bu@)ﬁu&#ﬁqédum%dj

LG sl callia 4y 5l lite 438 Cue 63 (VISCOUS) s 5 3 SKiad o jld Julad 6 65 j s 0
160 Jss 3 Y 2 U8 s (velocity)

-CX = o S (9.24)

4 S ()2 e Wiy S 3 () ) o )l Sl s (C) S (9.24) Adlas
Jui) (s Cudi e 3 (o (6 Cui )l 4as Sinad IS S (63 (Cor) S IS8 S
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CARPARGI I T S I PN NS N P TR Y L E ST

Cer = 2VKM 0 8 Siney JSuihy S (9.25)

o Al s 3 (M) ) a3 (StiffRess) guidiu (K) S (9.25) Jsesé 4

(68 s o Vbl (S A0 Y s o )l dli (o As e g 2

ke —
MW B
L
/ ORI,
ke
—
kie—— m |—Fp)
cX

GA Q5 0 b Sinrad A O VLY G160 3 Al 5 809 523911 A

L oh Sl bl 03155 Saalin 20l 9,11 sad
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y (1) = ye(t) +yp(t) (9.28)

Y:(t) =A cos (ot) +B sin (ot) (9.29)

o=+ k/m (9.30)

Yo(t) = Y sin (ot) (9.31)
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(1=2) (@ o5 i

F, Fo/k

1—1?

y() =] ;smwan—[ rsin ot] (9.34)
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s2) N3G 3 IS jmn 4 (YY) pun Soated (Mgl msaasn) J o uliiggor i jle 4a
. (Yo) Ssad zse

1+(278)2
(1-13)2+(21§)?

7= (o) = |

2 200rpm &S s Sl (i e s ed J 5 a
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35 e 3 s 3 s (0.10T) 4 el 2 () 5x 45 ¢S 4l (9.39) &
NESISTYCE A

S (1) a4 LiGrdudes s ol b6 el 5 dr 405 (S (9.16) LA 4
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¥st = (P)/k = (P)/(w?m) (9.41)

Y (63 49 b O 5 Sipan (o Al (4 ) 5 SO Gha g sk ASgidale 4
:LﬁJGSdJL’.A

y = Yo cos (ot) + %sin(wt} +y,w fotf (Dsinw(t— 1)dr (9.42)

(Dynamic Load Factor- DLF) gi%d 35! Saalize 9.8

) slnA A 56l Sl & st 4y (S dndio a4 Jad A Sy 2 (0 G jle 6388 5 ¢l Sl

DIF=Y = Y -k (9.43)
ySt Pl/k Pl

DLF = 1 — cos(wt) (9.43 a)
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Dynamic Load Factor (DLF)
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y = % (1-cos (mty) (cos (w(t—td))+% sin(wtd) sinw(t — td)

y = % [(cos (w(t-td)) —cos (wt)] (9.44)
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(Triangular Load Pulse) usli 48 (A Alia s 9.8.2
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X = (=1 [sin(ot) - sin o(t-t,)] - (1) cos(wt)
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15 Wh?

L ASWI 0 W
X = (162 EI) = 0.093( El )
_ AYWR, wh?
o = (162 EI) = 0.030( El )
_ 92Wh, Wh®
3 = (162 EI) = 0.057( EI )

gXi wixi

| 981 (0.09340.03+0.57) EI
(0.0932+0.032+0.572) wh3

_ | 981(0.093+0.0340.57) EI
(0.0932+40.032+0.572) wh3

(o=45.12\/% rad/sec
= (¥ = /ﬂ
f= (2n) = 7.18( Wh3) cps
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SRS S A e (S sl )l sl sla A ) o (Saa

Sl S S50 0 e A (Sl d o al)l) (a0 g Al Axa ) 558 aa 5

Al 31.5 el 4y (a5)) 7 o) JiSw S0y 248584 Jhea (s ) LA (logarithmic)
S Gebual (S salis (55l o 4 QI J315 0 5) g5 (0pd) 6 diSaw Sy Al 55l e s
Jusda gl opsadny opsigomaS . aCue s sombgoslay (Sdaaludy H5S8 a0
AL A g By Al e s esla sl

A3 shas (Sae be 3 JaS Al o) daaad (LiSGa 3 J S 03 ES jad (Sead 0 b g el
ceob S ea b s aaliay g (s saslae adaul g

S silag Ay (A0 o) A 1sa Al o g ¢ A oLl 5l e Ja L) Jau ) ) (e o
W eSS dudnasia ool ssld il o o (oS Akl ) (sl 8 Al 4
(A) s 3 wa (M) ke = 038 5.8 e 03 3 313 3 S Al

005 Ao g3 sl Gl i) AR s s (Los s 2) e esr A
s F0 ) s DS G e (S G A JO1) 2 Ysena (Ll (S
Sy ziedl sle daS s o silie 3o pu s ¢ S Akl 55 B (il )
NETISTISLSY

2.6 GBU e AL syl 9 99 OSan (o g S ARl ) (R ol J N
Jsiea usSe p (o (0808 ol e e Jlgaysl dgyn plny Sailiage ) o3
G350 o> S sS4l s i b (o) b ¢ Jsedi4g sy 3 ¢ i ) e

@E@h\)_(T:27;\/%)95;0_1)@;dyjﬁgﬁﬁq_gﬁas}m\}gdma

Joad s A 2 (K) pwitsin of Dby (2 005 o> S5 4xa sy Jse s sl 0

IERCE FEE TR PIgT
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Isom did 4 S e g Pl o A8 5 sl asom d P sl s s d s
¢ s el A (Sdale Sagl a4 Sl o as s oranb oS Cul A
Jph (g a4 ginald ) aill | ea 45 Hlely (S e sl e L) Cpl e o () e 0
59399 m S gl 3gaym anda S5 3 (6 pa AS (6 SO S Al pe ab ) g Curaal
3 A 4 Fae Slls (resonant) Ciis ) S Glla 4k 4y 28 5 sbae o pu i 2

-952:',):’9@)3:&3.230&“}\ gﬁ};mﬁdegbj

SA S Fem dsoma Fhyadly

480 ) D) (515 U 55 SINA g2 30 il b gy alal Al gl s 315 Lilag o A
. 6258 Qs (Ductility) lisy (Flaga a8 o (43

(S Craglia s ol g ) 48 S ()R g i A (ks el g (Sl n
350 iy 3 Al g alal A) i S0 58 xnde 3 )00 (6 el Jan A L (s sl Al (o

hal 3 Al 4 Alls Jud & oy S0 B anda S S 6 65 06 (Fundamental Mode)
i S B oanha Lal o i 89 5 ) (Fundamental Natural Period) 25 s 2ub
b S (Fundamental Natural Frequency)

(Stiffness) puidin b (Al Shags a0 @ jle ) 80 ab 2 s Hm Joai 4y (o &l il 4za
ol 5l )5 (N3 eses (b el pdalle 3 g (S Jlg (S SS 5 4y (5 4S
al e ydaled al gl gl Ao a3 S Hlai il gy AS Wl gy sl () 90
(o ) (b 3 Gl A3 40 25 pm oS B e sl (g 2 Al (5 4S50S 2 dad (Ss
3 1 gl (Jgly M gaS (S it o gae 4 Sl g o Ll (668 adlial aliS aa g 6l Slaga

S 3sm dopi o s
G5 o 2 son J U3 SsA A ) GBluuSl s a S oS Judd ildra 4y oy
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4 shus (S b a dasS alan o Jaaad Wi 0 J S o il &S aa (Sl a gl gy (il
(62 S ga 3 L dran 13 ) (5 sa e adaud
s Gollanivd Lo gas 4oy pad (saY o)L 1sS ol by o) oS padide s el 3 (I3 0 (S aSad 4y
02 g 1.00 b gre 4l 430 sia (il 980 (o2 0% (9) 4 o2 ¢ 22435 G 3 Ce ju 3 Jiad
(S o)l
3SLE 1 5 S quye 44y o ie ,3la 1 L (0.001 x 980 =0.98)0.001g ¢ 4855 43 Jlia 3
REIST IS WEREN IR FEN RPN N

S el s o) (Sl el meaadl S )a (0.06 X 980 =59) 0.069
6% o5 il pabel oy (rigid) G s Jasd (Sed 3 Fma ey e b L8 G R
(Sophand (521l 55 (52 (A8 A e (2 35w ) b o marr) (s dB S
A el O Sy a0 (g3, 50 a5 43a 5 (duration) sase (A1) 2
62 10-1 3 (2 S ¢ (5S ol ) al Slaw S, a ¢ (magnitude) ©ad » sz‘)s‘) 3 6 i
S sl e 31 55 2 (2 anls 8 ey S0) 0 (o S IS S B SOV 0
(o et ) 55 ab il L o daaad 4S s )1 (duration) s2se A o s o
4 5 i s8I Al 40 s 50l g canlia ol sl s sailag
(S o el gl pycuaal dl )i ad e dy s s d Sl N oo sl s
san 8 S SIS 5540 2 Ab 65 A d e di 3 (o Asd ol Al S SES
S35 638 Ol W sistiased (a disa B eV B s ) QLIS Al ) el 55l
4S (Precast Concrete) cu SalS o5l o543 2 g4 2 50 4 o) JUlgioe e
(82 s S sl b)) sleda 55 2 s S o
AT Gy 28 s 5l Gl S8 (A 0 Gl 4 g aly (S oA STl 4

) il A ) (e g o (235 (S s b alel A 515 o Ll g 48

S diad ol Gl s e Sl A 2 Al g S s S 1 Al A an i g e 48 U
3o sl (A e pu gasas o) B84y (A5 50 Aslagd sigis e d s )5 Caasliasaig )
1)sa o e ) Cie g3 gac 24l 43 Ce yu ((horizontal) 88 e S s sam a3 Gl sa
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°)—’~“(OlOg ) @y@;dwﬁy@wd\ﬁ a‘)\m\&"_ar—‘).\.n@ﬂ\d Gﬁuk_i\.u;
s JSG ) Anulas

S $aba 9259 4 A3 Ay Gnlue o) Jelad 5adla529.8.8

Sl g2 aai g o Al S 85k 04l (S sale sSas l a3l 54 Cnl e s dalad sila g
ady yh Sy 24l 43 48k a2 0 ) (Static lateral Load Method) 4& sk 351 s )
.ss5 b (Dynamic Load Method)

4 6P 88 Silins g aed Alaily J315a _g)ﬁﬂoyasjj\gauo&.;gj)q
1SS Iy des XY 4y pd iy 10 b ad pd Gy s Adliag ) (0 eSS R ) A

V = 1zcw (9.48)
R

D583 Loy (gl Ay aila g 3 (ad Tl ) () 558 Cnaal 3 g (1) S Jse 58 (9.48) 4
(38 dSG el srilag st 900 1,25 (S 35S o sdi g Ay saila g 2 1S el o

(S Py oS 8 Ay i)l C o

_1.25S
C —_ ?/3— (9.49)

Ao shal (S5 (T) S dsesd s . Fhyd i Jdycwu))yl Ca
SoxS I e e Jgea 8 sy 5l 62 (fundamental period)

T=C[h 234 ©50

CT)Q;.-!C—‘*:SJ.J\d}gﬁﬁﬁdwjdﬁbjg@b}wﬁj\ ‘Lﬁag;\JJ}SL_.;-.’b)JhN
Cr)oobd silyg sisles 559 ol (Cr=0.03) s ool Slay m® S SIS 2 (=0.035
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Ayl (C) 2 o8 Jwrinl (£(9.49) semst > AlS )l (C) 2 .2 (=0.020
s <)) (9.50) Jsesd 2 80% 41 (9.51) J e s

C=(1.25)(S)/(T#3) <2.75

(T sec) 2sm s

&l agmd Sy i 938 Al

= iyl edie) ) (Sl Ay i) ) Sl Y 2 Gy 3 (S) (S (9.49) Adabas 4y
ARd 3 (550 )slA da i 5 A4S 5l 55 Do slA 4y (o Gy (2 0 ) silas 58 01,50 0
o 2.0 Gyl
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T= Cy(hy**)

1.2

y= 0.03)(0.75

C=0.035mA s y=0.035x07

.08

0-6 1 20,030 i s

0.4

qg):\ggs\aja

Cix0.020 pb g8 s
0.2 ;

0 20 40 60 80 100 120
&Y s o) (h=feet) Moust g2 9.39 L
c S Jgeay 8 gaV A ag o o Sh S

T = 21 ( ) (9.51)

3L S bl g4y Jse )58 (9.52) 2 (Sl ad 8 (f)) S (9.51) It o
8 A5 e Ly o () 95! o) on Jk 8 Sl s 3 50 e (5) i

2SI e J P e Gl 562 (12) 5 (8) A s i) ol LS8 Sy (Rw)
BERTIR (ductility) L“_;\:\SSS.; L;_‘a\qj daily ol s Jsa ) ad A gaS 45X (55 ) > @U\jj L;_‘ah}
-8

420 255 (25%) ) (dead weight)(sis w9) 250 <l o Jald s 005 Sl 2 (W)
S Osih S Sy 4 aSs a4 s ghdiaxa Ji a5, (warehouse) b ) & o il
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e
o

J__;gﬁgl;;a!
(Amplitude)

g dgilaal 9) dgaum ANg S 9.40 LA

Gug sl 82129.8.9

2 4za o b g adaud g4y Jalas (9.52) 2 o 8 (Lpd) (A (S dndan 4y Guudy 3 Jlaga 2 alS
feaS Ag Jo u ((Ssd 8 )y ma Sl

_ (V-F)(Wxh)

F
<= SNwp,

(9.52)

F,=0.07TV< 0.25V for T > 0.7 sec
F, =0 for T<0.7sec

V=F+YN.F (9.53)
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N= sl i) (S(9.52) ddaayy
FX:X ‘23..34_10)5&45\
Fi:i J}"“:‘D}Lﬁs‘

Fy=N on4ed 8

FN‘),-}O})‘-“—tﬁbgﬂﬁg\ﬁjﬂﬁmﬁﬁﬁbﬁ: F:

n < < F.=0.07TV

—
V

g 9958 B8 8 Jhga 940 s
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Xsh iy Sy = h,h,

Xﬁ‘ I DL o = Wi1Wx

Al o Gole (X) s ose 4y (Vx) o8 el

V. =F+ Zi\lzx Fj
Glaga SH9098 9.8.10

s oS I Jd Y ol S g5 R Ay Claa S S

M, = Fy (h-hy + ZiLeFi (hi—hy) (9.53)
Jis 9.8.11

o Jiad (Sae il a5l (58 Jagl (S A AN u (a Sy LSS o h e AL o

355

16 Jo9 Y sy Glbaddia oy a
S35 das (S ) 4y ) giia o

mjl\ﬁauja\qj\uyﬁm‘y}\‘é_ﬂ)ﬁau”@@?ﬁq‘ﬁu cui)SJdALi‘se 45 90 ¢l s
S Saabua J5a Jhgly eas i Sl Cualy 65 53 (680 kg/m?)
Lﬁ)ﬂtmﬁu\bJUJS}SJJ}jAL;J\J}

s 35 IS (600 kg/m?) a8 sxish sale
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B | 30 x 50
(1)—am - -
(2)—m - -
(3—m - -
[ — [ | [ | (70 m)
(5, m - -
(6) m - -
(7)—m - -
(8) m - -
5 (20 m) g
™~ gl
(0oad) &) By Alaga 941 sl
9] 8 (S sl
K N (== -
Fs > 15, >
Fs—> FISERST
20m) | Fo—> 11325 e
SN GPTTY
Fr—> (11 amdy
Y . ..
— W NN SRR AR Gy
—
\

45 A 4 Ulng $igal Saadila 3 9,42 Al
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S 08 A0S

Al o dbe Oy S s 4. e osis (150 kg/m?) esls S b4

680 +600 = 1280 kg/m?

W1 =W,=Ws = W4 = (1280 kg/m?) x ( 20 mx60 m) = 1,536,000 kg= 15063
kN

Ws = (340kg/m?2)(1200 m?) +(150kg/m? )x(20m x60m) = 588,000kg
=5,762kN

P Soke oo ds Sl

W = 4(1,536,000 kg )+588,000
= 6,732,000 kg = 65,974kN

:(Fundamental Period) 25 u Ll Sl 2

T=C,[hy*"]
C, =0.030 @ kSIS iy
hy =20m=66ft ‘'s a5l

T = (0.03)(66) * = 0.69 sec
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T=C(h*/)

1.2

C=0.035 4¢3t | y=0.0357 y= 0037

0.8

(T)

06 1 020,030 mp Llasis

RIPEPPRIAPIN

0.4

Ci70.020 m# J &

0.2
!
i
i

0 20 40 60 80 100 120

(h=feet) o1 9 25w 092 9.43 Ll

:(Base shear Force) s (s 2 gl 4 Guay 2

_lzcw

"R
Z =0.30 3 (S AN 3055 mr e
| =1.00 (s sbo e ol alagS o Sl
Ry =12 160 A A (S5 ) e glie Ciiaga (Sl
S =1 8 00 A Y Gy 3 Sl

C = (1.25S/(T28)
C = (1.25)(1.0)/(0.6923) =1.60
C/R, = (1.60/12)=0.133
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C=(1.25)(S)/(T?3) <2.75

(T sec) asmom Sy

C o888 ) dm Ay 2 0.44 adl

F.=

_ (V=F) (W(h,)

Dol (88

F.=0

V,=F +)

z¥ (Wi(hy)

N F

i=x*x

T=0.69<0.70

X 9s b ye a2
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oM e A JL.?J\J)J
200,000

180,000

160,000
140,000
120,000
100,000
80,000
60,000
40,000

20,000 -
0

o il s b b

Wosds) Monesss Bonesn BonesE Boss

s s A3 Haga 945 sl

490,000 kg N (--,

(5
980,(100 kg | r

1131 25
980,000 kg D1 g
980.000 kg T dy

OJs s ARGy 946 s
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Fs =35,280 >

F, =56448 —»

Fy =42,336 —»

F, =28,224—»

F, =14,112—»

FISTESTE

FEISERSS

FHSTESS

(11 s ds

TR A

S de A Ul sl (Saadbe d (dlagd 947 sl

\ Y 3 4 5 6 7 8 9
292 3hgd (SAoger) dwtin 3lag > R4 ol g el [T okS 9l plS okS 4y) 039 Jsi yse 2
Level Building Geometry (m) Dead Load per Live Load Total W, W,
floor area Floor Load
Width | Length Height (H,) (kg/m?) (kg/m?) (kg/m?) (kg) (kN)
5 20 70 20 200 150 350 490,000 4,802
4 20 70 16 400 300 700.00 980,000 9,604
3 20 70 12 400 300 700.00 980,000 9,604
2 20 70 8 400 300 700.00 980,000 9,604
1 20 70 4 400 300 700.00 980,000 9,604
1,800 1,350 3,150 4,410,000 | 43,218
10 11 12 13
e e |Gl (PO 5D e 4g 098 Ak
, Cuinge (95,3 :
292 Qg d ghw 4 099 (x)
Wh Base F v
Level i Shear (V) X X
(kg-m) (kg) (kg) (kg)
5 9,800,000 35,280 35,280
4 15,680,000 56,448 91,728
3 11,760,000 176,400 42,336 134,064
2 7,840,000 28,224 162,288
1 3,920,000 14,112 176,400
5.E+07 176,400 599,760
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1 2 3 4 5 6 7 8
BITREIATE o 9) (S Aega) 4.«»..\1@5.35&53
Level Column Size (cm) and Number l oWexrle golge o | cange ol Jlgye) you ol (b @IS S
LineA&C
b h total # columns E (kg/cm?’) I (em?) H(em)  k=(12€1)/(H
5 35 50 16 3.00E+06 364,583 400 205,078
4 35 50 16 3.00E+06 364,583 400 205,078
3 35 55 16 3.00E+06 485,260 400 272,959
2 35 60 16 3.00E+06 630,000 400 354,375
1 35 60 16 3.00E+06 630,000 400 354,375
1 9 10 11 12 13 14
23 Ay e 9l (S Aeguzr) duudids 939080
Level Column Size (cm) and Number ;-’klnjob}gw)i‘l b o5 S dlgd
Line B
total #
b h columns | 1lem®) Tk =(12€1)/(H’) Total <“1<f/ o)
5 35 50 7 364,583 205,078 4,716,797
4 35 55 7 485,260 272,959 5,191,963
3 35 55 7 485,260 272,959 6,278,057
2 35 65 7 800,990 450,557 8,823,896
1 35 65 7 800,990 450,557 8,823,896

<1>(205078)x 16 +(205,078)x7 = 4,716,797 (kg/cm)
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Drf|t = 82‘61

29 Alog o A )3 (S gy 43.).‘55-35\2_93.3 0)9 )9 D 4).)5‘543[594‘_,93\
story story Lateral
Lovel shearV, i stiffness | Story Drift W, Displacement
eve
(kg) i (kg/cm) 9, (cm)
Ki  1Ax=V,/ki(cm) (kg)
5 35,280 4,716,797 0.007 490,000 0.085
4 91,728 5,191,963 0.018 980,000 0.077
3 134,064 | 6,278,057 0.021 980,000 0.060
2 162,288 | 8,823,896 0.018 980,000 0.038
1 176,400 | 8,823,896 0.020 980,000 0.020
4,410,000
Story Drift- The difference in the displacement of two adjacent story.
Drift level 1= 61-60, 0.02 =61-0=61=0.02
Drift level 2 = 62-61 , 62=0.018 +0.020 = 0.038
Drift level 3 =83-62, 63 =0.038 +0.021 =0.060
Drift level 4 = 564-63, 64 =0.06 +0.021 =0.08
>N W§2
T 21-[ _l;lN_ll (K)O.S
g Zi f;5,
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(Overturning Moment) e’ s,429.8.12

My = F (yhy) + 2 Fi (hi— )

OJs  {aaas 4y o f A s G Y zAe dlaey | ode QG 5
iy . . ) ) 2 < 0.5
Weight iDisplacemiLateral Force W5, F.d; K™ T
Level Wi (kg) i &;(cm) Fi (kg)
5 490,000 0.085 35,280 3,530.63 2,994.72
4 980,000 : 0.077 56,448 5,871.66 4,369.34
3 980,000 0.060 42,336 3,497.19 2,529.04
2 980,000 : 0.038 28,224 1,443.79 1,083.32 0.819
1 980,000 i 0.020 14,112 391.65 282.12
11,204.30 8,263.82 0.191
T<0.7 ok
b".é@é\ J}:I.J 5‘9'5|: N }‘b}g%é J‘b}g)ﬁd L_._T.'b}a LA;_.IJJJ“}\:\ 5}'5)_\“; ‘;&_.IJA#‘)‘;
AR ST o sy Gl | Jsn Ciiase . Caia e
Level Lateral f D Overturni Shear Torsional
F, =0.07TV for T verturning
Force Story ht >0.7 sec Ft(hN -hx) Fi(hi_hX) Moment Force Moment T
(m) (kg-m)
) =0 f .
Fy(kips) | H,(m) | 77T <> M, (kg-m) | Vi (ko) | T,=0.05"D*V,
5 35,280 20 0 0 0 0 35,280 123,480
4 56,448 16 0 0 141,120 141,120 91,728 321,048
3 42,336 12 0 0 508,032 70 508,032 | 134,064 469,224
2 28,224 8 0 0 1,044,288 1,044,288 | 162,288 568,008
1 14,112 4 1,693,440 1,693,440 | 176,400 617,400
60
<1>:

M, = 0(20-16) +F,(h,-h,) +F5(hs-h,)

M; = 0(20-12) + F3(hs-h3) +F,(hs-hs) +F5(hs-h;)
M, = 0(20-8) +F,(h;-h,) +F3(h3-h;) +F4(h,-h;) +Fs(hs-h,)
M = 0(20-4) +F;(hy-hy) +F;(hy-hy) +F3(h3-hy) +F4(hy-h;) +F5(hs-h,)
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gl g S 9.9

W 0)somide SabaaiSany s Slhpagm ol wisSoddss AB ana (1)

(38 gl (S Fae 4y (5o, 2 e

RSN

L/2 L/2

\ 4

v _—

Giage slad yil o adate 3 AlS Ha 0 o S Tam gy o) (o S0 8 J ot w8 s 6 Jag 3 (2)
A (5 (sl

ol R 2

W=20kN —

/u—‘“\ Sm

L 5m

—
v

| =70,759x103 mm#*

S35 sl (M) A 5 (o (S 45 no 4 g Cuad SO R El o @i s 22 (3)

(S8 Ay Al 3 o 65 Jopd NEEISY JS3 2 0 (s
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daliSany g Shy oS dd G dfeomand S g A Wods (4)
(o Gl a5 A sl 5 IS

A
Y

& N,
1< >

Waw - % B
k B

JSae 5 3 (598 Jasd (2 Ol VLA (S 5300 Y 6 (o Al (2 4a 0 23 (D)
k=100n/cm s W=100 kKN .S dulad 4y yla 4y o 830

(o2 Ay (S )il A D0 Al Jas R s 3 (50l Jo e o Bl 5 2l Sl (e 2

150

%_/\/Wv\_ W — F()
Q (@)

Pl gl a8 2 o YL (9.5 a)

50 |-A

0.15 0.22 t,sec

0.08

Qg ad S
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lw S t=0.15sec 4 dadsd ol Qi adl JHe ol At Sy a2V 52 (6)

REBN

2000 N

K= 1000 N/cm

w= 100 kN
0
F(1)

0.70 t, sec
B PRTRP\PRETER

el 4 Jalat Saalig (Dynamic) (z_»)os8 @V e ald) Sl R U gpo (7)

95

e Y u dilig 08l Saaliny o

—
P(t) —)Q W= 50kn

=z
k=100 kN/cm . .
0 0.020

0.04
Time t (sec)

0.06 t, sec

S A5 i o o gl B Saalld 093 s pd Ja gl (S )R 1Y Qul e gmesd g (8)

SR m A ) sind S s Sen @des
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1000 N/m
MONC ¢ TN RSN W

) | =1500cm? :
i i
. — OO Y
= - 10m B
< >
(9.8)
E = 2.0E08

SS  aT Sae b (58 Jast SR A Gy o (S SIS sy m e (9)

€
(=]
S
I< |
U—IIIIII.IJ
€
o B R R B § B B ® ®E ¥
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(40 m)

BRI R\ RSN A4S Sy

162 J o9 Y sy Gladiia Jlaga

:(Cm)e)lail s o

i 591 30 X 60

S (B) 4 S 4 S N340 x 60
25 es) Fas A5 30x50

Sos ez A s asl 30 x40
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(Appendix)

G (0S5 A a0 il o3 (i (> lsand s (S oSl sy
REES AT
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A ) Clage dbyl sl A Al s
FEMpg = - 5 I a b
_ 4Pa’h A L B
FEMg, = +2 I
_ P ]
FEMug = = L2 L2
B
FEMg, = +=- a2 L
FEM,, = Y& IR ERER)
12 5
_ ., wlL? 1A L
FEM,, = S EEEEN
192
_ . lwe’ A L2 B
FEMBA =+ 192 - )\(
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A5 g )y Cula'pe Al LS8 o A Al s

FEMpg = 'M;zz | /m
FEMgy = +22- A L J
FEMg, = + Sf;: n L =
FEMpg = +22 (52 = 1) < 2 . b
FEMBA:+%(%_1) |:A ) L °

FEMpg = - 250
FEMg, = + 6’;"_"‘
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A0 gh ) Calaga byl Awsd 2 3 USAPRVIK
A
FEMg, = +22 ? TS A \
L L
“1
Ray B
|
3PL |
FEMpg = - — { B
AB 16 A L2 | L2 ‘?‘»%
SN AR
P a’b v
P P
. b
A
o U3 | 3 L/3
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A5gi 5 Cilasa Al dusd 3 IS a3

P P P
FEMAB:-@ |: l' l' ll | 8
% AL/4\ L/4 ‘ L/4 \L/4%
o IR EREEN
FEMpg = Y A B
2 | B
FEMpg = - —o

B
A
128 = V2 . L2 %

SwL?
FEMAB: ‘:4 |: TV u \m
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Al gl ) Culasa -\3,)\ \ ;". | :. - J
A
3EIA
FEM,g = e |] A
=
P =
S e
_ . 2PL - :
T SARCEENDEVE L/3
15PL
FEMyg = re
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Aagia ) Juasd o) cDlaga pud (S 3

as) sl @l am odlu

Ra=Rg=wL/2
V. =w(L/2 -x)
wlL?
I\/Imax = 8
wx
Mx = 7 (L - X)
A= o (13 = 2Lx? + x7)
_ 5wL*
max— 384 E]

ot 2| S
f

V| |4
\ —
Shear Diagram X | v
.
M

max

Moment Diagram

A gil ) Jud A o) cClaga ¢ g (S

A1 530 (Al g (Autingl s 9dddu g tam ol

V, =R, = w/3

V,=R,=V__ =2w/3

w wXx
Vi=3 T
M. = 0.13WL

wXx
I\/Ix = 312 (LZ - xZ)

wXx
— m (3X4 — 10L2X2 + 7L4)
wlL?
Amaxz 0.013E

|
B
L TP\
Ra Rg
. - 'Vz
Shear Diagram 71
Mmax

Moment Diagram
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A giayl Jud e gl Calga il (S 3

99990 a3 951 IS el gy 1m0l

R=V oo _P
2
P
M., (at pointofload) . . . . . =T*'3
M, wu'-'i'u.-n:t:-::E :Ei
2 2
3
A, latpointofload) . . . . . . = 4]:;E]'
A, | when x -:f- e e .. = Px (362 — 4x1)
2 48E1

+V

Mmax

P S

Moment Diagram

Agia ) Jadgd gl (Cuapa ¢ (WS 2

A3 53 054 A9 o 3 39l (g gl g tam ol

wa
Vl:RA:E (2L—a)
wa?
V,=Rg= ”
V, (whenx<a)= RA — wx)

R 2
V, (when x> a) =ﬁ

RA R}

Munge (8EX=27) =20
2
M, (when x <a) = Rpx —%

M, (when x >a) = Rz (L —x)

wx
24 EIL

A, (whenx<a)= (@?(2L — a)? — 2ax?*(2L — a) +Lx3)

A, (whenx>a) = % (4xL — 2x%* — a?)

+V;

l€

Moment Diagram
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AP JRa A gl (Cualga ¢ (S ) 3

ad A 63 093 Ay gl (g gl g A odlu

V. =R, = w,a (2L-a)+w,c’
1 A 2L
_w,c (2L—c)+w,a’

V,=Rg= .

V, (whenx<a)= RA —w;x)

V, (when x >aand < (a+b)) = R,-w;a
V, (when x >aand > (a+b)) = Rg- w, (L-x)

M

RA R}
max (At X= — when R, <w,a) = .

1
2

M

RA R
max (@t X= L- o when Ry <w,c) =2

1 2w,
2
W, X
2

M, (when x<a) = Ryx —

Wzla (2x —a)

M, (when x > a and < (a+b)) = R, x-

w,(L—x)?

M, (when x> (a +b)) = Ry (LX) - .

+V;

[ R EEE

Moment Diagram

A gl JBagd o) (Caga ¢ pd (S 3

28 A and by (Mg a9l s piddn g tam ool

V, =R, = w/2
V, =Ry =w/2

w
Vx = E (LZ — 4-.X2)

1 2x?
Mx= WX(— _E)

2

_ wx
A=

2 _ Ay2)2
480 EIL? (SL 4x )

wlL?

max~  g0E][

A

T T

| il

A B

L/2 | L/2
I"Ry L | Re
+Vq 4
- v,
Shear Diagram
- 2
Mmax
L2

Moment Diagram
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A sy Judd gl (Cdaga ¢ i (S 2

9999 a3 39l (IS Al g 1m0l
S SS AL

R

R

M. (at point of load)

M, (when x <a)

A

A

=V, (max whena < b)

; =V, (max whena > b}

lala + 2b)
| BEX = [
\

o lat point of load)

A, (whenx < a)

A, (whenx > a)

whena > b

_ Paba + 2b1/3a(a + 2b)

27EIE
- Palk?
JENE

=P )

T 6EKE

= Palt—X) e 52 —at)
6EIE

iz

Mome

t Diagram

g JasA ) cilasa ¢ ppd Sy 3

&JMJ.}}S ‘gJSJAS 0499 A ol
G5 Jagiw) J99 Ol sha A (Al sy

R=V ... ... .......

M, (between loads) . . . .

M, (whenx<a) . . ... .. .

A (atcenrer). . . . . . .

max

A (whenx < a)

A, [whenx:aaand-::ﬁf—a}} L.

=P
= Pa

= Px
Pa
24E]
.= E{.!»Ifr:l —3a* — x%)
6EI
P

6kl

(367 = 4a%)

(3€x = 3x = a?)

< : t . >
+V Y I i
i Shear Diagram - I-V
\i Minay
N
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A giay) Jaad o) (Cuaga ¢ (S

&JMJ.}}S SIS0 093 a ol
G5 Jagia) Jgo Q)1 sa LAy Al gy

R, = V,(maxwhena <b) . . . . . =%{E-a+b}
R, = V, (max whena > B) . . . . . =%(f—b+a}
V, (whenx > aand < (€-b) . . . =%wq}

M, (max whena > b) . . . . . .. = R,a

M, (maxwhena <b) . . . . ... =Rp

M, (whenx <a) .. ... ... = Rx

M, whr:nx)&::rul-:;(f-b)) ... =Rx-Plx-a)

+V, "'/l
|

Moment Diagram

A e JRa s o) el ¢ pud (S

QAd gl (s S Al (s glua L0 g3 1o ol
Jasas) Jge Olsa U Ay (A1 gay9) an

_B(t-a)+Pp

R, =V, = ;
Ry=Vy oo - P'—"‘T?L'b}
V, (whenx >aand <(€-b). .. =R -B

M, (maxwhen R, < B). . . . . . . =Ra

M, (maxwhenR, < P,) . ... .. =Rpb

M, (whenzx <a) ... ... ... = Ryx

M, {whcnx::u;am]ﬁ(f—b}]. .. =Rx-Rlx-a

P, l le

+V;

|
Shear|Diagram // Va
|

R

Moment Diagram
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A e JBa s o) (Cualpa ¢ pud (S

A an 33l s edldn g tam galilis

S35 Jasaa) (A g )

BE=V ... ... . ... ... =
V. = wx
e
M, lathxedend). . . . . . = “T
M -9
M, - ... ;
wé?
A latfreeendy ... ... 0 0L = ~
A .y vy P PR, T
! 24E1

i
B

i L

<

. X

«—>

_—

|
I
|
I
I
I
|
I
I
:
¥
|
I
I
I
|
A
I
|
!
]

Shear Diaﬁg}'\\

Moment Diagram

L

]
I
I
I
I
|
I
I
I
|
|
T
I 1.
|

I

I

A gia ) Jua s o) Cuapa ¢ pud (S

CEd

b AT 4y a2 39) (53840 1an Ul
6 9 JA gl oia

R = v .............. = P
M, (atfxedend). . . 0oL = P¢
M, .. ... ... L. 0 =D
1
A latfreeend) 000 0L = E
’ 3EI
T -P—{Zt"-}l?’"r+x1)
6EI

|

K
v @
4

IX
—b
=~

Shear Diagram

g/
o

3

[¢°])

=4

=]

Q

[+1°]

Py

3
PN
=
"3
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5100 Sl gh o) cilaga « i oSy | V9098 d e 2 0] ST Tan sl
G5 gl (SS9 05 4y

P
R=V .. ... .. ... =P
Al
M, (athxedend). . . . ... =Pb ~ ] B
M, (whenx>a) . ... .. ... = P(x —a) },;X—)i : b R
—3 5 B
Pb? H ) |
A, (atfreeend) . . . ... ... = —@3¢-h ! : |
. lat free en oF] E | |
3 I I :
A, (ar point ofload) . . . . . . .. = ﬂ H 1 |
3EI : : :: 1v
A, (when x < a) LAtV W 5 : L
FAWRERX S @ e e e = SEI * | Shear Diagram |
Y ! ! H
A (whenx>a). . . .. ... .. =M[%—f+ x) ! i i
6EI | | !

re A s ALy g) Asd o b g A

A gia )l JUA A o) cCilaa ¢ i ((dSg )a . _
G Jagiw) 99l s e Jlng

Ro=Vi oo = i-s‘i‘i
Swé
Ry=V, « oo =2 A B
8 R, {e L
V. oo =R, —wx < X > }Rz
1 1
My o o e = % !

3 9
Mlatx==€|. .. ........ =—ul!
'[ 8 ] 128 !\\

b3 : v
Moo = Rx- B i I \I I
2 ! ShearDiagram  t--Y---
— 4 ! H
Ap [ﬂt x= T%“ +33) = 4215 E] e | i

=
[}
@
v
=
—
)
I
£
+
]
B
=

.

oo

5
<
[]
3
o
2
9
Q
o
b
3

/]

s

2

wx
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A giagy) Jud i o) (Cuaga ¢ i ((SG )

:éﬂﬁm\@jwoﬁbxﬁg
Ja gl (,s"UJ:).J‘ 4_&“34_':,_“3 @JSJAS

Ry =V,

M, (atixed end) . . .

M, (at point of load) . . .

M, | when x <
2

M, | when x > ¢ L
2
i

A |atx =€ = = 4472
W5

A, (atpoint of load) . . .

A, whenx{E
2

A, whenx:-E S
2

Ry=Vy oo

_ue
16
3Pe

_swe

_plf_1kx
2 16
3 3
=P oot
48EI5 El
~7pe

" 768EI

= X o2 sx)
96EI

P
96EI

(x —€)*(11x — 2€)

v

R,

v

Moment Diagram

1t

A gy Jud e o) Calpa i (S 2

SIS 53 1 ST ALy g S 2238 0 53
G54 Jasin) (gl 3 (SS e A

M, (atpoincofload) . . . . . ..
M; (atfxedend) . . . . . . ..

M, (whenx<a) . . ... ...
M, (whenx>a) . .. ... ..

ﬂm,(whenu < 414 atx =€

&M[whena > 4146 arx =€

A, (atpointofload) . . . . . . .

A, (when x < a)

A, (when x > a)

. =R1x—ﬁx—d)

= Ryx

_ Pa (£*-4%)

7 3E1 (32 - a?)?
=Pﬁ.bz \I a
6E1 \|2€+ a
_ Pa‘b’
12E1¢*
_ Phx
12E1¢}
_ Pa
12E1¢}

(3¢ +a)

(3a€? - 26x* - ax?)

(€— x)2(Mix— alx - 1a’f)

Sf\ear DiagrarﬁI

Moment Diagram
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A gl ) Juded gl (e ¢ i (S )

i g 151530 093 g 5aliiiS o3k 0 gy A
$ 55 Jagiu) A 5 ) saliliS Ay gl (g

Rio=V, .. o =¥
€
Ry=Vi+Vy. oo =Y 00+ a)
Ve oooo oo = wa
V‘I (foroverhang) . . . . . . .. =wa-x)
Moo (R« oo =
2
z
M, (between supports) . . . . . . = R
£
M, (for overhang). . . . . . . . = %(a -x )
£ wal€? wa’é
A, | between supportsatx = —= | = —=— = —_—
v 18+/3EI
i
A, (foroverhangatx, =a) . . . = M;_(MH 3a)
24E1
A, (between supports) . . . . . . = ;ZIZ (€2 = x%)
2 !
A, (foroverhang) . . . . . . .. = Zi:;]' (4al€+ 6a’x, — 4ax, +x, )

L

Shear Diagram

'”HHHHHU“

Moment Diagram

Agia )y Jaa A o) Caga ¢ pudi (S5

T B :9&\0343\J3“Mb430£&
G54 Jagiul odil | galiiC 4y 34l

P
Ro=V, ..o =2
4
P
R, =V, +V, . . ... ... .. =?(€+a}
Voo =P
Mo (aER)) - o o000 = Pa
P
M, (between supports) . . . . . . = %
MI' (for overhang) . . . . . . . . = Pla-x,)
Paf? Pa¢?
A, | between supports at x =i,_ = ?’ = 06415 4
' W3 9~ 3EI

A, (for overhangatx; = a) . . .

A, (berween supports) . . . . .

A, (foroverhang) . . . . . . ..

Pa” eva)
3EI

I

E(gz —x?)
GEIE

= DX g6 4 3ax, - 1)
6EI

vl
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Agic ) JaA A o) (Cudaga ¢ pud (S )2

SIS0 1) 0 93 g)  galiliS o4 093 A
G Jasan) (Al gaygl 3 ST os 4y 3!

R, = V| (max whena <b) . . . . .. =%
Pa
R, =V, (maxwhena >b). . . . .. = ?
M, (atpointofload) . . . . . . . . = —%‘é
M, (whenx<a) . . . ... .. .. - %

—
A [ mehm,,,]_ _ Pabla +20)3ala +20)

27EI€
Palb?
A, (atpointofload) . . . . . . . .. = —
» {atpo ) 3EIE
A, (when x < a) . =P—bx(f‘—b‘ - xt)
6EIE
A, (whenx>a) . . . ... ... . = Pa(t— x}(zfx— xt —at)
6EIE
Ay oo = Pabxy 41 o)
! 6EI¢

Ag x Bg X,
R, a | b

i R

[~ T 7I

! 1

!

!

.

.

!

Moment Diagram

A giay Jud i gl (Clalga ¢ pud (S

16 A 69 s 09 g JsaliiS AR 40 93 A
G54 Jasn) (Modysl Al s 9d Jday

Ri=V, oo = 2 (- a?)
1 ] 2% a
Ry=V,+Vyo o oo =;”—€(.*3+u)l
Voo = wa
Vi =2 (et +a2)
€
V, (between supports) . . . . =R —wx
V., (foroverhang) . . . . . . =ula-x)
4 al w
M =—|1-— = —(£+a)?(€-a)
‘[m z[ rzD AN
2
M, (atRy) o o = wet
2
M, (between supports) . . . . = %(f1 —a? — xf)
M,, (for overhang) . . . . . . = %(a - x )
A, (between supports) . . . . = —— (€%~ 202x% + €x* — 2a2€1 + 2alx?)
24EI¢
A, (foroverhang) . . . . . . = &{‘hzf— £+ 6a’x, — 4(1.1:12 + x|1)
! 24EI1

A L B\ X1
R« > 2
1 R,

L -
;-7

A

Shear Diagram

g i7alll

a* N
L1 7?)

Moment Diagram
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A g ) e ¢ pudi (S 2

1o lSS) 5 ga ) galuii€ Lg;.'\'& 093 A
G5 Jagcu) (Mgayg) A agl g sdldag

€ (€-2
Ry oo o weE-20)
b
Ry oo Jweie-la)
b
V] ----------------- = ua
Voo o =R -V
Wy oo =R, -V,
Ve oo oo oo = wc
Vi, e =V, —wx
V (whenx <€) . . ... ... ... =R, —wila+x,)
V. (whena<e) .. ... ... .. =R, —wc
2
Moo = -
2
1
M. oo =W
2

<
:

1]
=
——

Ll

g |=
|
=

e —

w
A: 4 \ B

N b R, .
< L L N

| H >
o :
i i i
| ! I
L H

<l

[
£
=

e

1

PR P E

1

=i

1

1

.’

>
<
s

A gia) ) JaAa A o) (Cilalga i (S 2

by g 9gl (IS AT 1amSd (G338 o ) g o
$ 94 Jagiw) (AN gaggl 2

R=V .o _F
2
P
M., (atcenterandends) . . . . . . = ry
M, | whenx < E .......... = E(‘IX— 'yl
2 8
Pe?
A, latcenter) . . . .. oL L = -
) 192EI
4 2
A, | whenx < LA B = Px (3 — 4x)
2 48E]

Shear Diagram
1
1

T

Moment Diagram

g ——————
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Agia ) Jadsd gl (Cuaga ¢l (WS 2

g 9l (5 S a0 g 1S (a8 b )l 90
(éyi Ja ) gi\\gd:)pg\

R, =V, (maxwhena <b) . . .. .. = P{—If (3a + h)

R, =V, (maxwhena > b) . . . . . - Pf;'\‘l(a +3b)

M, (maxwhena<h) .. ... ... :Rgziz

M, (maxwhena>h) . .. ... .. = P:;b

M, (atpointoflead) . . . . . . . .. = 2?%

M, (whenx<a) . ......... = Ryx - PS?J

A wiienabbarx=jj‘fb} . =$gﬁ

A, (at point of load) .= i}i;-;i—:

A dwhenx<a) . .. .. ... = ::;:! {3af — 3ax — bx)

|
Al ! B
PER.SN |
! 1
) a o b A
R, i R,
1
] | |
VIU :
SEEUNUNIRSHELTHET ] SE————
i Shear Diagram i Vv
1
| R
1 1 M
e 1] ﬂh\ iy
M11 M,

A g ) Culalga ¢ g (WS 2

daridg 3yl g odling i s LSSI (59 A
S5 Jagiu) (Al gayg) 24X

R =V, =L
16
S
R, =V, +V; = —wf
" 8
1
R‘ ='L-‘ [ Y
16
Ve - e
16
M, -111=if —ﬁu.fz
16 512
M {atsupport R, . . 0 L 0 L L L =L wi?
16
M. (whenx <€). . . . ... .... ='-l°%(?€—8x}

Moment Diagram
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A gia ) JuA a9 (Caga pudi (S 3

A3y s el g raush 5358 o ) g3 am
G54 Jagiw) (A gayl

R=V ... ... ... = ﬂ
2
Voo = w{£ = x]
2
2
M. (atends) . . . ... ... L. = wl”
12
we?
M, (atcenter) . . . . . . ... .. = —
24
M, = 2 (66x— €2 —6x7)
12
wt
Ay latcenter) . . . . ... =
IB4EI
A, oo =2 (-2
! 24E1

L/2

Shear Diagram\*\

~

I
o ee——— e — -——

V Moment Diagram \W Mmax

A g ) Cilalga i (S

A sl s S0 gt A e O ot
G35 Jasin) (A 9an9l 3 A g by

H|=V| R — L}
52
. 11
E,=V,+V,............ ==P
N N ! 16
3

R1=V|‘ e e e e =_EP
Voo =
il

M__ (atpointofload) . . . . . . . . = 13 P
max 64

M, (at support R,) “ii’f
' R ¥

TTTTTTTR

A X | T A
R; L/2 \: L/2 \uRz L R;
> >l
|
|
|
|
I
I
|
|
|

] 1
'Shear DFagram
1

——————ta

;
|
|
|
i i
|
.
|
!
|
|
|
1
1
1
1
1
2
3

Moment Diagram

819




A g 3 )) Cilalga ¢ (S

Ay 99) IS0 g e A s Oy s A

¢

S Jasin) (Agays

R, =V,

R, =V, +V,.

Ry=Ve oo
v, .

M, (atpoincof load) . . . . . ..

M, (atsuppore Ry} . . o o L L L

= 47{4{-'* - alt+ a))
=2 (262 + be + a))

ul

Ph
p )
Pa

= —Pi{,f{'-ku]

= %[4.«?1 + HE+ a))

= %(‘w ~al€+a))

=P—a?f€+a}
4!

e
o

T B
1
Rl” a i b R, L VR3
O a
! 1 | 1
. Lo :
! 1 1
1 1
i)
L 1V:
_____________ L_4V2
Shear Diagram

|
1
1
! | 1
| 1
| |
| |
e $-r-
1 |
! ‘ ! Mmax

Moment Diagram

A g ) Clalga ¢ (S

Digasd S0 15 s O3 50

G5 Jagiu) (A gyl 4

Ry=2V,. oo
V,=P-R,

vlll.lx

M,

M,

M, (when x < a)

5P
16
_up

_up
T 16
ire
6
_re
Y

PR
b
L
b

A ! | B
R
Rl Lo R g Rs
DR TR P £ A
\ | | | i
! | ' S L.
verfT i
R ARUITEAE N s 1y
A T I R
! $hearDiggram | !
i | | | |
I | ! | |
1 ! ! 1 1
| ! : | 1
Xy A ----- e G i-
! 1
! = !

é
/

Ig:

Moment Diagram
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b ot pm

PE S
% o 1= i = I
M -4 T wAlJ
Y e p—
< 1 A
- ¥ o | I
a3 | —[4---- =l , m
v = \ I I m
] 1 1 -
.uf.\mv_ \ ! -
= Ve & SR —--Fomms - s
N o 2 ! ! -
A @ W I E
> © 3
D - - ; £
al 3 3 =
s £ —p = e e e ———l e - -
3 = T
m« W« 7] W w !
<;f N ! 1
N ! i
9 ° W m
< N b R
) < < J_Q" 7
=z ] | -
i i ) 2 !
3 3 =
=
- <
== £l e
1 |+
= i Ly
f-u
H.J - L . Py
e e 4 o = [
o [ o - -y
* e M_f o ar & e | -
. I 1l (I T TR} n noon

&

. s
Cilaga ¢ i ¢

s )

ag
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L)) JUA A 5l cCilaga o (S 2

Ay oyl sedldug s A eSSl O g0 p
G4 g (A gayl

R =V,=R,=V, - ut
B
0
Ry oo = 10wt
8
Vi = Vi =5i°£
8
1
M, . - v
B
3 2
M,ar.—w....._.,____,__:g"’_t
8 ) 128
A {at 0.4215¢€, approx. from R, and R,) = —E-tl
B YT IssE

(LT

i

—————————d ]

)

1
Moment Diagram
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A g ) Calaga ¢ g ((pS 5 3

Ay gl gedldug tg S s sSEl C u a
G54 Jasan) Mgy

Ry oo Mt
¢ 12
Ry o oo = wé, +w, — R, - R,
Ry=WV, o000 = M, + E-{—“
£, 2
vy =k
Vy =wé, - K
Ve o o =wi, - R,
vy =R,
AP
M, - 1
BlE, +¢€,)
S
M, I(mrh{'n:clzR—t e =R|xL—wx'
'[ w 2
2
M, [“’}“’“"e = R—‘J cee oo = Raxg - i
! w

o

R, R, R,

e ———————

=
xS \\&__VT
le—— 5! . X v

| ~ L ez

]

$hear Diagram

1

1

1

M3

Eé
1

1

1

1
R
E =)
1
———c
>3}
122

Moment Diagram

A5 Cilaga e (S 3

&Jﬁﬁbﬁ%éﬂgm\g:*uu

Ry =V, (max whena <) - %{k +b)
R, =V, {max whena>¢c} . . . = ‘f—i’[zam}
V. (whenxbannd{{a +b}] ..o =R ~wix-a)
)
M. [;—1[ x=a+ ﬁJ ..... = R,[a + i]
) w 2w
M, (whenx<a) . . ... ... = Ryx

M, [when x> agand < (z + b?:] .-

M, {whcn x> {a+ b}}

:

>

Q
Py
y
o

. B

1
i
h
1 7| RZ
P L i N
A i i i
i i
1 1
i i
1 1
1 1
1 :
+V; Y ;\ H
A 1
IR T
a+ 4 i

N TR
—]
=

Shear Dia'gram
E Mmax

Moment Diagram
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Thw e

Vol o=> i qwdid Jal>
(Surface Area) (Volume) ¢

(Cube ) c5e

2 3 s I
6s S k’
s~8

(Rectangular Prism) Jikive | siia

2(wh +wd +dh) wdh h*vu
W

(Right Circular Cone) bg %o Cowly joa

nr’h
nrvr? + h? 3 h ‘
m - (Pyramid) o_»
Colune (Suels 3 "‘
(Area of base)
) 4mr3
amr 3 (Sphere) o,
=+ (Cylinder) Ll
2nrh +2 7 r? 4rh ' "
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Plane) 4wia abw

erimeter) ks« | (Area) sl
(P ) ( ) == (Geometry
2
21Ur mr @ CJEIN)
a’+b? 2b
2T nab . (Ellipse) Gosam
2 2a
(Rectangle) Jalriws
2a+2b ab b
(parrellalogram) g3uayl ) sia
2(sum of adjacent sides) bh I-
 ——
B [Triangle) cdlis
atb+c 1/2 bh a ‘
c A
Z=a? +b? , ab/2 (Right Triangle) 49)) o2& Cdie
atbic sin@ =a/c . c
cos0 =b/c
tan0 =a/b b
. (1f) (Regular Polygon) (s> 93 edaie
2 s )
nxs " ‘/
plai adlma=r
(Trapezoid) 4a 5
—a
a+bcd (1/2(a+b)h d
L b |
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Mass 1 kg =2.205bm

( g=9.8m/s”=32.27 ft/s?):4 gi) | ol

G =6.67 x 10! m¥kg.s*

1slug=32.21bm 1ton =2000Ibm
n=3.1416
A2 909 Mass 1 kg = 2.205 Ibm alis
Temperature Change
1K =100 1slug =32.2 Ibm
=18°%F 1 ton = 2000 lbm
=1.8°R Area 1 acre = 4047 m? = 43,560 ft? = 0.00156 mi
9 Length DJ.‘.J.B‘
Time
1m = 3.28 ft
td =24h 1km =0.621mi
1h o F 60 min 1in. =254cm
Tmin =60s 1mi =5280ft
1yr =365d 1yd =3ft
g}"b‘j—‘ Volume =
Power
1L = 0.264 gal
1W  =3.412 Biu/h - 0.0353 f
= 0.00134 hp _
= 14.34 callmin =361 a2
= 0.7376 ftlbys fmL  =1cm”=1cc
A94>19|  pressure e
14 =1N-m 1atm =1.01325 bar
1N =1kgm/s’ =33.9ft H,0
1Pa =1N/m? =29.92in. Hg
"W =1W/A = 760 mm Hg
1W =1J/s =101,325 Pa
1w =1V/A = 14.7 psi
1THz =1 s_" _ ipsi  =2.31ftof H,0
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Numbers Greater Than One Numbers LBS? Than One —
: — Power of 10 Prefix Abbreviation
Power of 10 Prefix Abbreviation 107 doci
eci- d
10' deca- da 102 centi- c
10° hecto- h 10° mill- m
10° kilo- k 10° p—— "
10° Mega- M 107 nano- n
10° Giga- G 10" pico- p
10" Tera- T 10™ femto- f
107 Peta- P 107" atto- a
107 Exa- E 107" zepto- z
107 Zotta- Z 104 yocto- y
107 Yotta- Y
(HPY] =3 1 yE
Power Ei s Energy: Work S
P E _ E W=Fd
t t
Trpm W = work
= ) F = force
d = distance
P = power
E = energy
W = work
t = time
T = torque

rpm = revolutions per minute

S SdldeS Syl Sl
Energy: Kinefic Energy: Potential
K= ;_nwz U =mgh

U = potential ene
K = kinetic energy m =r€1355 o
m = mass g = acceleration due to gravity
v = velocity h = height
G Qo>

Energy: Thermal
Q =mcAT

Q = thermal energy

m = mass

¢ = specific heat

AT = change in temperature
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Moment of Inertia -

l,x = moment of inertia of a rectangular section

about x-x axis

Complex Shapes Centroid

= LA = Eyia

X= S and y A

X = x-distance to the centroid

¥ = y-distance to the centroid

¥, = x distance to centroid of shape i
y, = y distance to centroid of shape i

A, = Area of shape i

Rectangle Centroid —
h .T_‘___T_
_b _h |
I—E and ?—5 I_I_-Ir-lh ‘J
Right Triangle Centroid -
b h h
=2 and y=2 :i':_*

Semi-circle Centroid

. N

_ ar Fs—fL#' \
X=rand y=— - '
3n L=

%= x-distance to the centroid
¥ = y-distance to the centroid
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Beam Formulas
l Reaction Ry=Rg =2
e . _;'-_ Moment My = % (at point of load)
l: : T | Deflection = %; (at point of load)
- Reaction Ra=Rg= =
- - Moment Mmax = “TLE (at center)
B B Deflection Ay = ;ﬁ“Tﬁ (at center)
l 1 Reaction Ry= Rg=P
Y. o Moment Mz =Pa (between loads)
|: — L — ﬂ Deflection Doy = %{394::%] (at center)
- Reaction Ry = % and Rg= %
l Moment Moz = % (at Point of Load)
. h L. | Deflection Bppgy = Dobiot2bhneiat)
: - . (at x=\/@ whena>=h)

(Stress Matrix) |S s HLd8 2

| v
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¥

\
i

T

Equations of Equilibrium ) :Jse Jas

a,jx 5'Tyx

—+ +&, =10
Ox Gy g

) &
Ox By

B | Popx | Doy
+ + +b, =0
Gx By gz "

ZF
i A '
Ox Gy Bz J

=0

Gl aﬁyz Oy,
b, =10
Ox + By + Oz +oz

(Plane State of Stress) <l jLié s

VX

—

Oy

Tyx Yy

(Coordinate Transformations) Jsu: sigssa
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gy +a Op— 0
Oyt = Y i ‘Pc052|5'+rxysin25'
2
Ox Ty Oy —0p _
| 7' = Y cos 20 —Typ sin 20
‘I:" —
TI:Pr:_%SiHEH‘i‘TIy cog 2 g

: ! Txty' Oy X
N
\ X
er
//TX:V' T‘(

(Principal Stress and Pr

2T

tan 26), = ¥

GI—CT},

l"

GJ,

TJ.-‘X
———
TXJ_,

f_l L |__
TX_}‘ Gx

Tyx l
G

'y
Stresses in given
coordinate system

incipal Directions ) 4y 0 a) o) 4ig Lid Lal

2
O —
:I:\/[ x2 y] +Txy2

CT); +{T};
2

I

2 ¥

N
X

1

(Tj/
i
X
\(T'a

Principal stresses

X
= ==
(Tj
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2
Ty T — O
Tﬂla.x_ [xzy +Tx_}’2:122
1"
oy,
TJ_-X
T
XV
S_I L l_,_
Ox

Stresses in given
coordinate system

Maximum shear stress

(Mohr’s Circle) ol ,a5a 2
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Ty ‘I"i"'y Ty — &
TAvg T o R= [—2 J

(':Tx‘ —Thvg )2 ‘I'T:cry‘2 =K

(Stress and Strain ) 4isisast o sw o) JLaé 3

Stress (o) =load / area cr:%
. . . ol _x
Strain = change in length / original length g=— or £=—4
E= Stress/ Strain E:%
. M _ o _£
Bending of Beams 7= y R
bd* )
2nd Moment of Area (rectangle) ! :F-i—;‘l h
. . ' *_Go
Torsion Equation P
2% Moment of Area (cylinder) J= mD' mad
32 32
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10°  (1000) kilo 2" (1024) kilobyte

10° Mega 2% (1024)  megabyte
but

10° Giga 2" (1024%)  gigabyte

10" Tera 2% (1024')  terabyte

10" Peta 2° (1024°)  petabyte

(Laws of Mathematics) ¢! # )} s (o=l

Associative laws - for addition and multiplication

Commutative laws - for addition and multiplication

a+b=b+a but a—b#b—a

alb+c)=ab+ac bte_b, ¢
a a [
Arithmetical |dentities
x+0=x xX1=x (xx0=0)
(a+b)=(a+b)la+b)=a’+2ab+b’ a’-b’=(a+b)(a-b)

(a+bV=(a+b)(a*+2ab+b)=a’+3a b+3ab’+b ¢
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(The Triangle ) &b

H, 0
/]
A
. 0 A )
siInf=— cosf=— tanf =—
H H A
A
Sine Rule 5
. b c c
Sine Rule ———=—"—=—
! . sind sinB sinC
sind_ sinB_ sinC B P c
or = =
a b c
Cosine Rule
cos 4 :M
’ 2bc
or a’=b*+c*-2bccos A
Area formula
Area = besind Szm 4

Trigonometric Identities
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tan 4= cot4A= y
cos A and_ sind’ (the cotangent of 4 )
sec A= , (the secant of 4 ), cosec 4=—— (the cosecant of 4)
A sin A4
sin’ A+cos’ A=1 entered as (sin A) +(cos A)
sin(—@)=—sin@ (an ODD function)

cos(—0)=+cos(0) (an EVEN function)

Multiple / double angles

sin(A+ B)=sin A cos B+cos Asin B sin(2A4)=2sin Acos B
sin(A —B)=sin Acos B —cos Asin B

cos( A+ B)=cos Acos B—sin Asin B cos(2 A)=cos> A—sin> A

=2cos’ A—1
0053A=%{cos{2A J+1)

cos(24)=1-2sin’4

sinz,‘l:%(l—cos(ZA}}

cos(A— B)=cos Acos B+sin Asin B

tan 4 +tan B 2tan A
tan(A+B)=—""""— tan(24)=——5—
an( ) l—tan Atan B (24) 1—tan* A4
tan(A— B)= tan A—tan B

l1+tan Atan B
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Products to Sums

sin A4 cosB=%(sin(A +B)+sin(4—B))
cos Asin B:%(Sinl{A +B)—sin(A—B))

cos Acos B:%(CDS(.4+B]+CDS(A —B))

Sums to Products

sin A +sin B=2sin('4+8)cos( A; B)

sin A4 —sin B=2005('4;B)sin('4_3

cos A+cos B=2cos( A ;_B)CDS(A;B)

cos A—cos :!1?:—2sin('4ﬂ'—&)sin(“1 _B)

Rules of Indices:

amxafr =a'ﬁm+frl'
m
{m—mn)

n =d
(anr]n :amar

'm} I [I?

= M m -

n =1/ n nr
a' a =Va
.If —n :i

a n

a
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If N=a" then n=log,N

log(AxB) =logA+logB

A
log| — = .
05(3) log A-log B
log 4" =nlog 4
|
log, N =L‘JN
log,a

L .
[ 2 05 and va=va

Vyx=x"=x

n—
Va=b=hb"=a

(Definition of Logarithms) < 2 as As¥
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Brief Introduction to the book

This book is covering some of the fundamentals of structural analysis. This book can be
covered in one or two semesters of an academic curriculum of Civil Engineering at the
University level or post-secondary education institution. The book could also be used as a
reference guide by Civil Engineers in practice.

The book is written in Pashto, a native language of Afghanistan, which can be used in all
universities across Afghanistan and practicing engineers in the country. English words are used
when equivalent word of Pashto was not found by the authors.

The book is divided into two volumes and has nine chapters and an appendix at the end of each
volume. The first volume covers Forces, Reactions, Shear and Bending Moment Diagrams,
Truss Structures, Deflections, and Influence Line. The first volume is basically covering analysis
of statically determinate structure.

The second Volume which includes chapters six through nine covers Slope Deflection method,
Moment Distribution method, Matrix method of Analysis and Fundamentals of Structural
Dynamic Analysis. The topic of Earthquake analysis of buildings is also briefly discussed in
chapter nine.

The book is written by two former professors of Kabul University, currently living in the USA,
with about 40 years of working and teaching experiences of each, at the United States of
America.

Numerous examples have been solved in each chapter and exercise problems are included at
the end of each chapter or topics discussed.

Any comments about the book is welcomed by the authors and will help in the possible future
editions of the book or related topics published by the authors later.

All rights of the manuscript are reserved with the authors.
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Publishing Textbooks

Honorable lecturers and dear students!

The lack of quality textbooks in the universities of Afghanistan is a serious issue,
which is repeatedly challenging students and teachers alike. To tackle this issue, we
have initiated the process of providing textbooks to the students of medicine. For
this reason, we have published 311 different textbooks of Medicine, Engineering,
Science, Economics, Journalism and Agriculture (96 medical textbooks funded by
German Academic Exchange Service, 190 medical and non-medical textbooks
funded by Kinderhilfe-Afghanistan, 6 textbooks funded by German-Afghan
University Society, 2 textbooks funded by Consulate General of the Federal Republic
of Germany, Mazar-e Sharif, 3 textbooks funded by Afghanistan-Schulen, 2
textbooks funded by SlovakAid, 1 textbook funded by SAFI Foundation, 8 textbooks
funded by Konrad Adenauer Stiftung and 1 textbook funded by inasys) from
Nangarhar, Khost, Kandahar, Herat, Balkh, Al-Beroni, Kabul, Kabul Polytechnic and
Kabul Medical universities. The book you are holding in your hands is a sample of
a printed textbook. It should be mentioned that all these books have been
distributed among all Afghan universities and many other institutions and
organizations for free. All the published textbooks can be downloaded from
www.ecampus-afghanistan.org.

The Afghan National Higher Education Strategy (2010-2014) states:

“Funds will be made available to encourage the writing and publication of textbooks in Dari
and Pashto. Especially in priority areas, to improve the quality of teaching and learning and
give students access to state—of-the-art information. In the meantime, translation of English
language textbooks and journals into Dari and Pashto is a major challenge for curriculum
reform. Without this facility it would not be possible for university students and faculty to
access modern developments as knowledge in all disciplines accumulates at a rapid and
exponential pace, in particular this is a huge obstacle for establishing a research culture.
The Ministry of Higher Education together with the universities will examine strategies to
overcome this deficit.”

We would like to continue this project and to end the method of manual notes
and papers. Based on the request of higher education institutions, there is the
need to publish about 100 different textbooks each year.



I would like to ask all the lecturers to write new textbooks, translate or revise
their lecture notes or written books and share them with us to be published. We
will ensure quality composition, printing and distribution to Afghan universities
free of charge. | would like the students to encourage and assist their lecturers in
this regard. We welcome any recommendations and suggestions for
improvement.

It is worth mentioning that the authors and publishers tried to prepare the books
according to the international standards, but if there is any problem in the book,
we kindly request the readers to send their comments to us or the authors in
order to be corrected for future revised editions.

We are very thankful to Kinderhilfe-Afghanistan (German Aid for Afghan
Children) and its director Dr. Eroes, who has provided fund for this book. We
would also like to mention that he has provided funds for 190 medical and non-
medical textbooks so far.

| am especially grateful to GIZ (German Society for International Cooperation)
and CIM (Centre for International Migration & Development) for providing
working opportunities for me from 2010 to 2016 in Afghanistan.

In our ministry, | would like to cordially thank Acting Minister of Higher Education
Prof Abdul Tawab Balakarzai, Administrative & Financial Deputy Minister Prof Dr.
Ahmad Seyer Mahjoor (PhD), Financial Director Ahmad Tariq Sediqi, Advisor at
Ministry of Higher Education Dr. Gul Rahim Safi, Chancellor of Universities, Deans of
faculties, and lecturers for their continuous cooperation and support for this project.

| am also thankful to all those lecturers who encouraged us and gave us all these
books to be published and distributed all over Afghanistan. Finally | would like to
express my appreciation for the efforts of my colleagues Hekmatullah Aziz and
Fahim Habibi in the office for publishing and distributing the textbooks.

Dr. Yahya Wardak

Advisor at the Ministry of Higher Education
Kabul, Afghanistan, February, 2020

Mobile: 0706320844

Email: textbooks@afghanic.de



Message from the Ministry of Higher Education

In history, books have played a very important role in
gaining, keeping and spreading knowledge and science,
and they are the fundamental units of educational
curriculum which can also play an effective role in
improving the quality of higher education. Therefore,
keeping in mind the needs of the society and today's requirements and
based on educational standards, new learning materials and textbooks
should be provided and published for the students.

| appreciate the efforts of the lecturers and authors, and | am very thankful
to those who have worked for many years and have written or translated
textbooks in their fields. They have offered their national duty, and they
have motivated the motor of improvement.

| also warmly welcome more lecturers to prepare and publish textbooks in
their respective fields so that, after publication, they should be distributed
among the students to take full advantage of them. This will be a good
step in the improvement of the quality of higher education and
educational process.

The Ministry of Higher Education has the responsibility to make available
new and standard learning materials in different fields in order to better
educate our students.

Finally, I am very grateful to Kinderhilfe-Afghanistan (German Aid for
Afghan Children) and our colleague Dr. Yahya Wardak that have provided
opportunities for publishing textbooks of our lecturers and authors.

| am hopeful that this project should be continued and increased in order
to have at least one standard textbook for each subject, in the near future.

Sincerely,
Prof Abdul Tawab Balakarzai
Acting Minister of Higher Education
Kabul, 2020
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